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Seat
No.
B.Com. | (Semester — ) Examination, 2014
COMPULSORY ENGLISH (Old)
Realms of Gold
Day and Date: Thursday, 27-3-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. Reuwrite the following sentences by choosing correct alternative : 10
1) Kalam feels that we are all born with a in us.
a) man b) God
c) divine d) human

2) The meaning of the word ‘Chaos’ is
a) confusion b) order
c) disorder d) happy
3) Datta then thought of finding a suitable

a) option b) substitute
c) photograph d) copy

4) That one small could carry all he knew.
a) man b) brain
c) head d) heart

5) Kalam’s parents were regarded as an couple.
a) quarrelsome b) religious
c) best d) ideal

P.T.O.
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6) Within the next twenty years

a) half of the world population will be living in cities

b) all the world’s population will be living in cities

c) none of the world’s population will be living in cities
d) none of the above

7) The part of speech of the word ‘beauty’ is
a) adjective b) noun
c) verb d) adverb

8) Ramesh is a clever boy in the class. The word clever is

a) noun b) verb
c) adjective d) adverb

9) Thisis great service to humanity.
a) an b) a
c) the d) zero article

10) | would like to speak employee here.
a) an b) a
c) the d) zero article

2. Answer the following questions infew words (any 5). 10

1) Describe the house in which Kalam lived during his childhood.
2) What did the writer learn from his father about the power of prayer ?
3) What does the writer say about the administration of big cities ?

)
)
)
4) Describe the character and habits of the frame maker in a few words.
5) How did Datta go about his plan of action ?

)

6) Describe the schoolmaster as he appeared to his students.
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3. A) Write short notes on any two of the following : 4
1) Kalam’s early life at Rameshwaram.
2) Colin Legum’s views on urban population.

3) The village schoolmaster.

B) Answerany two of the following : 6

1) Mohan meets his friend Ramu on his way to market. He is very busy
but both exchange few words hastily. Write out a dialogue by choosing
appropriate expressions.

2) Describe your routine life in a few words.

3) Write instructions on how to iron your cloths.

4. Answerany one of the following. 10
1) Describe your visit to a historical place.
2) Suppose you approach to someone on the road to request for an address of

popular hotel. How will you frame your request ?

5. Write an application letter for the post of Sales Manager to “The Director Brook
Bond Tea’ MIDC, Chincholi, Solapur. 10
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Seat
No.
B.Com. (Part - 1) (Semester - Il) (Old) Examination, 2014
MARATHI (Compulsory)
TS Yieh ¢ AT

Day and Date : Wednesday, 2-4-2014 Max.Marks : 50
Time:11.00 a.m. t0 1.00 p.m.
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Seat
No.
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B.Com. | (Old) (Semester — I) Examination, 2014
PRINCIPLES OF BUSINESS MANAGEMENT

Day and Date : Friday, 28-3-2014
Time : 3.00 p.m. t0 5.00 p.m.

N.B.: 1) Allquestions are compulsory.

Max. Marks : 50

2) Figures to the right indicate full marks.

1. Select the correct alternative from the given alternatives. 10
1) Planning is the continuous process.
a) Social b) Intellectual c) Economical  d) Psychological
2) The oldest types of organisation is organisation.
a) Line b) Line and staff c) Functional d) Committee

3) The first stage of the process of decision making is

a) To know the importance b) To find out remedies
c) Toidentify the problems d) None
4) Contingency approach is also known as approach.
a) Situational b) Traditional c) Scientific d) Behavioural

5) Delegation of authority can be
a) upward b) downward c) horizontal

6) Division of work promotes
a) Generalisation b) Specialisation c) Confusion

7) Management consists functional areas like
a) Production b) Marketing c) Finance

8) Managementis

a) Anart b) Science c) Profession

d) all of the above

d) Unity

d) All of the above

d) All of the above

P.T.O.
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9) When planning is not in writing is called as
a) Formal planning b) Informal planning

c) Corporate planning d) Strategic planning

10) The authorities of the organisation are vested with top level management is

called
a) Departmentation b) Combination
c) Centralization d) Decentralization

2. Write short note :
A) Nature of management

B) Types of planning

3. Write short answers :
A) Explain the process of decision making.

B) Explain the merits and demerits of centralisation.

4. Answerany one of the following :
A) What is management ? Explain the significance of management.

B) Define Decision Making. Explain the techniques of Decision Making.

5. Answerany one of the following :
A) Whatis planning ? Explain the process of planning.

B) Define the term organising. Explain the significance of the organisation.

10

10

10

10
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Seat
No.

B.Com. (Part — I) (Semester — Il) Examination, 2014
PRINCIPLES OF MARKETING (Oid)

Date and Date : Wednesday, 2-4-2014

Time: 11.00 a.m. t0 1.00 p.m. Total Marks : 50

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives :
1) Movement of goods from the point of manufacture to the point of consumption

is known as

a) production b) distribution

c) consumption d) innovation
2) A is an end-user of a product or service.

a) customer b) buyer

C) consumer d) mediator

3) All disputes of compensation amounting to more than Rs. 20 lacs but less
than Rs. 1 crore are settled at

a) District Forum b) State Commission
c) National Commission d) International Commission
4) is a person who provides information about the product and
services to prospective customers and motivate them to buy it.
a) Leader b) Social worker
c) Partner d) Salesman
5) is observed as ‘World’'s Consumer Day’.
a) 15" March b) 16! March
c) 16t April d) 15" April
6) aims at winning the customer’s confidence.
a) selling b) salesmanship
c) earning profit d) none

10

P.T.O.
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7) Felicitation of salesman for his good work is a means of motivation.
a) financial b) compulsory  ¢) non-financial d) indirect
8) is a systematic, objective and exhaustive search for the study of
facts relevant to any problem in the field of marketing.
a) Social Research b) Marketing Research
c) Price Research d) Customer Research
9) is an oral face-to-face communication between salesman and
prospective customer to effect sales.
a) Impersonal selling b) Personal selling
c) Indirect selling d) Mail order selling
10) In distribution channel the cost of distribution is low, therefore
manufacturer can keep the prices of the product low.
a) direct b) indirect c) multi-way d) none
2. A) Write a note on ‘ABC Analysis’ method of inventory control. 5
B) State the essential qualities of successful salesman. 5
3. A) Give the definition of ‘Consumer’ as per Consumer Protection Act. 5
B) State non-financial methods of stimulating the salesman. 5
4. Answer any one of the following question : 10
A) What is ‘Distribution’ ? State the types of distribution channels.
B) What is ‘Consumer Behaviour’ ? State the various factors affecting consumer
behaviour.
5. Answer any one of the following question : 10
A) Define the term ‘Marketing Research’. Explain in brief steps involved in the
process of marketing research.
B) Explain the grievance redressal machinery under Consumer Protection Act.
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Seat
No.
B.Com. (Part — 1) (Semester — II) Examination, 2014
INSURANCE (Old)
Day and Date : Thursday, 3-4-2014 Total Marks : 50
Time:11.00 a.m. to 1.00 p.m.

Instructions: 1) All questions are compulsory.

2) Figures to the right indicate full marks.

1. Choose correct alternative and rewrite the sentences : 10
1) The Fire Insurance introduced in year.
a) 1935 b) 1938
c) 1939 d) 1942
2) policy is useful to cover fluctuating stocks in different localities.
a) Floating b) Average
c) Declaration d) Adjustable
3) The policy will give a better protection in such a cases
where the stock fluctuates from time to time.
a) Reinstatement b) Floating
c) Declaration d) Adjustable
4) policy is issued to cover risk of goods from one port to
another.
a) Time b) Voyage
c) Floating d) Open
5) policy is useful for hull for particular period.
a) Time b) Valued
c) Mixed d) Floating

P.T.O.
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6) Under policy the value of loss to be compensated is fixed
and remains constant throughout the risk.
a) Mixed b) Average
c) Floating d) Valued
7) The Central Government by an ordinance the General Insurance Sector in
year.
a) 1971 b) 1981 c) 1991 d) 2001
8) Life Insurance Sector was nationalised in year.
a) 1946 b) 1956 c) 1966 d) 1976
9) The General Insurance Corporation of India covered business
in rural area.
a) Limited b) Unlimited
c) Satisfactory d) None of above
10) Insurance Regulatory and Development Authority Act was implemented in
year.
a) 1996 b) 1997 c) 1998 d) 1999

2. Write short notes :
A) Nature of Fire Insurance

B) Procedure of taking Marine Insurance Policy

3. Write short notes :
A) Principle of contribution

B) Functions of General Insurance Corporation of India.

4. Answerany one:
i) Differentiate types of Fire Insurance Policy.
ii) Explain reasons of Nationalisation of General Insurance Sector.

5. Answerany one:
i) Explain different types of Marine Insurance

ii) Describe the functions of Insurance Regulatory and Development Authority
Act.

10

10

10

10
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Seat
No.

B.Com. - Il (Semester — lll) Examination, 2014
BUSINESS ECONOMICS

Day and Date : Wednesday, 16-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions: i) Allquestions are Compulsory.
ii) Figures to the right indicate full marks.

1. Objective type question : 10

Answer the following questions by choosing the correct alternative given below.

1) firstly introduced the concept of Macro Economics.
a) Marshall b) J. S. Mill
c) Rangner Frish d) Ricardo
2) refers to the difference in value of imports and exports of
visible commaodities only.
a) Balance of payments b) Balance of trade
c) Rate of exchange d) None of above
3) _ Total Unemployment £ 100.
Total Labour Force
a) Employment Ratio b) Full Employment Ratio
¢) Unemployment Ratio d) Seasonal Unemployment Ratio
4) Gross National Product — Depreciation =
a) GDP b) GNI
c) NNP d) NNI
5) Average propensity to consume =
AC C
a) 2 b) v
Y AY
C) E d) E

P.T.O.
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6) Disposable income = Personal Income —

a) Indirect taxes b) Direct taxes
c) Depreciation d) Savings
7) When the rises the value of money decreases.
a) Income level b) Expenditure level
c) Price level d) Exportlevel
8) presented the law of market.
a) Robinson b) J. S. Mill
c) Keynes d) J. B. Say
9) Multiplier =
AC AY
3 Ay o) AT
Al AY
°) av I ac
10) In Keynesian view the real inflation comes after
a) Temporary employment b) Under employment
c) Fullemployment d) Seasonal employment

2. Answer the following questions briefly :
A) Explain the methods of measurement of National Income.
B) Explain the nature and scope of Macro Economics.

3. Write short notes :
A) Types of inflation.
B) Importance of index number.

4. Answerany one question :
i) Explain the concept of consumption function.

i) Whatis Index Number ? Explain the construction of Simple Index Number.

5. Answerany one question :
i) Explain Say's law of market.
i) What is inflation ? State the causes of inflation.

10

10
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Seat

No.
B.Com. Il (Semester - Ill) Examination, 2014
FUNDAMENTALS OF ENTREPRENEURSHIP

Day and Date : Monday, 21-4-2014 Total Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N.B.: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives : 10
1) The approach and trends of Entrepreneur is
a) Positive b) Negative
c) Traditional d) Modemn
2) is a process.
a) Entrepreneur b) Entrepreneurship
c) Manager d) Administrator
3) is a psychological process.
a) Checklist b) Location
c) ldea generation d) Industry
4) is that thinking which results in the production of ideas that are
both novel and worthwhile.
a) Creativity b) Person
c) Budget d) Market
5) Trends, industry, markets and similar firms are the main factors of
a) Project b) Idea Screening
c) Entrepreneurship d) Brain storming
6) provides all details necessary for establishing a new business
unit.
a) Business exploration b) Development programmes
c) New Products d) Project Report

P.T.O.
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7) is a scheme of Investment.
a) Marketing b) Project
c) Management d) Trends

8) Innovation is the key characteristics of successful
a) Manager b) Entrepreneur
c) Organiser d) Administrator

9) Generation of Idea is the first step in the process of starting of
a) Concept development b) Investment
c) New venture d) None of the above

10) The role of entrepreneur is important in
a) Business growth b) Economic growth
c) Social development d) None of the above

2. Write short notes on :
a) Entrepreneur as generator of employment opportunities.

b) Factors motivating entrepreneurship

3. Write answer in brief :
a) Explain the essential factors of creativity.

b) Explain the criteria for selecting a project.

4. Answerany one of the following :

a) Define ‘Project Report’. State the objects and importance of ‘Project Report’.

OR

b) Define ‘Entrepreneur’. Explain the characteristics of ‘Entrepreneur’.

5. a) Explain the obstacles inhibiting ‘Entrepreneurship’.
OR

b) Explain in detail the sources of origination of Idea.

10

10

10

10

10

10
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Seat
No.
B.Com. Il (Semester — Ill) Examination, 2014
STATISTICS
Business Statistics
Day and Date: Tuesday, 22-4-2014 Total Marks : 50

Time: 3.00 p.m. t0 5.00 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Use of soundless calculator is allowed.
4) Graph papers will be supplied on request.

1. Choose the most correct alternative : 10

1) Data collected by direct observations is of which type of data ?
a) primary b) secondary
c) both (a) and (b) d) none of these
2) Ogives for more than type and less than type of distribution intersect at
a) Mean b) Median c) Mode d) Origin
3) Measure of dispersion based on all the observations is
a) Range b) Quartile deviation
c) Standard deviation d) None of these

4) If both the variables X and Y increase or decrease in the same direction, then
the correlation is

a) Positive b) Negative c) Null d) None of these
5) The mean of 3, 4, X, 6, 8 is 5, then X is

a) 3 b) 4 c)5 d) none of these
6) Caption refersto

a) Heading of rows b) Heading of columns

c) Foot note d) Sourcenote

7) One of the regression coefficients of two perfectly correlated variables is 0.5,
the other regression coefficient is

a) 0.5 b) —0.5 c) 2 d) none of these

P.T.O.
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8) Class mark is
a) lower limit — upper limit b) lower limit + upper limit
c) (lower limit + upper limit)/2  d) (lower limit — upper limit)/2

9) Quartiles divide the data into

a) 10 equal parts b) 5equal parts
c) 7 equal parts d) 4 equal parts
10) The median of 3, 6, 5, 8, 4 is
a) 3 b) 7 c) 5 d) 4

2. A) Define the term tabulation. With a proper diagram state the various parts of a
statistical table. 5

B) State the empirical relation between mean, median and mode. Use it to estimate
mean of a distribution whose median and mode are 28 and 34 respectively. 5
3. A) Draw a histogram from the following data and determine mode from it : 5
Class : 10-20 20-30 30-40 40-50 50-60 60-70
Frequency : 7 18 47 63 32 12
B) What is dispersion ? State the requirements of a good measure of dispersion. 5

4. Define mean, standard deviation and coefficient of variation (C.V.). 10
Compute A.M., S.D. and C.V. for the following data.
Class : 0-10 10-20 20-30 30-40 40-50
Frequency : 7 12 24 10 7

OR

4. Define coefficient of correlation and give its properties. Also interpretr=0, r=—1
andr=+1.

Give the relation between correlation coefficient and regression coefficients. 10
5. Define regression. State regression lines and regression coefficients. 10
OR

5. Find the Karl Pearson’s coefficient of correlation between X and Y from the
following : 10
X : 50, 54, 56, 59, 65, 60, 70

Y @ 38 44, 33, 36, 33, 23, 13
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Seat
No.
B.Com. - Il (Semester — Ill) Examination, 2014
MONEY AND FINANCIAL SYSTEM
Day and Date : Wednesday, 23-4-2014 Total Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right shows full marks.

1. Objective type question : 10
Choose the correct alternative and rewrite the sentence.

1) ‘Money is what money does’ is defined by

a) Seligman b) Cole c) Walker d) Crowether
2) Store of value is a function of money.

a) Primary b) Secondary c) Contigent d) None of above
3) M. is referred as money.

a) Broad b) Good c) Narrow d) Bad
4) Period of longterm finance is above years.

a) 2 b) 3 c) 4 d 5
5) Money market is essentially a market for funds.

a) Shortterm b) Longterm c) Mediumterm d) None of above
6) is apex institution in Indian Money Market.

a) SBI b) RBI c) NABARD d) UTI
7) In call money market maximum period of loan is days.

a) 5 b) 7 c) 10 d) 15
8) Hawala marketis market.

a) Legal b) lllegal c) Good d) None of above
9) Monetary policy is implemented by

a) Commercial Bank b) Co-operative Bank

c) Central Bank d) None of above

10) Unit Trust of India was set up in
a) 1964 b) 1965 c) 1966 d) 1967

P.T.O.



SLR-B-30 2- EREVAG A

2. Give short answers :
a) State the kinds of Finance.
b) State the constituents of Money Supply.

3. Write short notes :
a) Globalisation and Money Market.
b) Objectives of Fiscal Policy. 5

4. Answerany one : 10
a) State the functions of Money.
b) State the features of Indian Money Market.

5. Answerany one: 10
a) Define Finance and explain the role of Finance in Economy.
b) Explain the role of Monetary Policy in recession and inflationary situation.
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Seat
No.
B.Com. (Part — II) (Semester — IV) Examination, 2014
BUSINESS ECONOMICS
Day and Date : Monday, 7-4-2014 Max. Marks : 50

Time:11.00 a.m. t0 1.00 p.m.

Instructions: 1) Allquestionsare compulsory.
2) Figures to the right indicate full marks.

1. Objective type questions:
Answer the following questions by choosing the correct alternative given below: 10
1) The “Innovation theory” of trade cycle is associated with

a) Hawtrey b) Schumpeter
c) Hayek d) Dr. Marshall

2) The exchange of currency of a country with a currency of another country is
measured by

a) Index number b) Rate of exchange
c) Terms of trade d) Value of currency
3) budget was one in which expenditure was less than current
revenue receipts.
a) Surplus b) Zero c) Balanced d) Deficit
4) is indirect tax.
a) Income tax b) Capital gain tax
c) Sale tax d) None of above
5) The public finance deals with the income and of public authority.
a) Debt b) Expenditure
c) Deficit financing d) None of above
6) refers to the difference in value of imports and exports of visible
commodities only.
a) Balance of trade b) Balance of payments
c) Favourable trade d) None of above

P.T.O.
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7) ‘The purchasing power parity theory’ is associated with
a) Gustav Casel b) Dr. Ricardo
c) J. B. Say d) None of above

8) “The principle of maximum social advantage” is associated with
a) Dr. Marshall b) Thomas Malthus c) Chemberlin d) Dr. Dalton

9) VAT means

a) Value Added Tax b) Volume Addition Term
c) Variable Added Tax d) None of above
10) _ Prllce .|nde>( of import goods <100
Price index of export goods
a) Terms of trade b) Balance of trade
c) Balance of payments d) None of above
2. Answer the following question briefly :
A) Explain the types of budget. 5
B) Explain the merits of direct taxes. 5
3. Write short notes :
A) Floating exchange rate 5
B) Importance of Value Added Tax (VAT) 5
4. Answerany one question : 10

A) What is trade cycle ? Explain various phases of trade cycle.

B) Whatis public expenditure ? Explain the causes of growth of public expenditure.

5. Answerany one question : 10

A) What is the disequilibrium in balance of payments ? What are the causes of
disequilibrium in it ?

B) What is the internal trade and international trade ? Explain the difference
between internal trade and international trade.
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Seat
No.
B.Com. - lll (Sem.— V) Examination, 2014
BUSINESS REGULATORY FRAMEWORK
Day and Date : Thursday, 27-3-2014 Total Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Select the appropriate alternative from given below : 10

1) When one person signifies to another his willingness to do or to abstain from
doing anything with a view to obtaining the assent of that other to such act,
he is said to make

A) Proposal B) Acceptance

C) Consideration D) All of the above
2) An enforceable at law.

A) Agreement B) Proposal C) Memorandum D) All of the above
3) A proposal when accepted becomes

A) Promise B) Contract C) Offer D) Acceptance
4) The Indian Contract Act passedin year.

A) 1872 B) 1972 C) 1986 D) 2005
5) Unpaid seller is having right against

A) Goods only B) The buyer

C) Both goods and buyer D) None of the above
6) All contract are agreement but all agreement are not

A) Contract B) Proposal

C) Acceptance D) None of the above

7) The central chief information commissioner has been appointed by

A) President B) Governor C) PrimeMinister D) Chief Minister
P.T.O.
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8) Sale of Goods Act applied to assets.
A) Current B) Fixed
C) Both fixed and current D) None of the above

9) The head office of the National Information Commission is situated at

A) Mumbai B) Delhi
C) Pune D) Solapur
10) is a rule of external Human Action enforced by sovereign
authority.
A) Law B) Principles
C) By-Laws D) None of the above
2. Write a short note on : 10

A) Legal rules to a proposal

B) Coercion

3. Write a short note on : 10
A) Functions of Central Information Commission

B) Condition and warranty

4. Answerany one of the following : 10
A) Who is an unpaid seller ? Discuss right of an unpaid seller.

B) Explain sources and need of knowledge of Business Law.

5. Answer any one of the following : 10

A) Define the term of contract. Discuss the essential elements of valid contract.

B) Explain the methods of discharge of contract.
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Seat
No.
B.Com. — lll (Sem. — V) Examination, 2014
ADVANCED COSTING
(Paper - 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions: 1) Allquestionsare compulsory.
2) Figures to the right indicate full marks.
3) Use ofcalculator is allowed.

1. Choose correct alternative. 10

1) Aggregate of indirect material, indirect labour and indirect expenses is called
a) Overheads b) Prime cost c) Factory cost d) Total cost

2) If cost of product is Rs. 20, profit is 20% on sales, then the selling price of
product is Rs.

a) 24 b) 25 c) 26 d) 27

3) If opening and closing stock of finished goods are 4000 and 5000 units
respectively, No. of units sold are 20000 units, then No. of units produced are

__ units.

a) 21000 b) 19000 c) 20000 d) 18000
4) Bill of material serves the purpose of

a) Invoice b) Material requisition

c) Abstract d) Store ledger
5) Last in first out method is suitable in times of prices.

a) Falling b) Rising ¢) Fluctuating d) Constant
6) Bin card is a record of only.

a) Prices b) Quantity c) Cost d) Quality
7) Store ledger is maintained by

a) Store keeper b) Accountant

¢) Watchman d) Purchase Manager
8) Prime cost plus works overheads =

a) Works on cost b) Works cost

c) Works overheads d) Works in cost

P.T.O.
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9) Maximum rate of consumption X maximum delivery period =

level.

a) Re-order b) Maximum ¢) Minimum d) Average
10) The quantity of material to be ordered at one time is known as

a) Re-order level b) Re-order quantity

c) Re-order period d) Re-order point

2. A) Write short notes on
1) Perpetual Inventory System
2) Material losses.

B) Find E.O.Q. from the following particulars
Annual usage Rs. 1,20,000
Cost of placing and receiving one order Rs. 60
Annual carrying cost : 10% of inventory value. (5+5)

3. A) Write short notes
1) Material Turnover Ratio
2) Classification of cost

B) Minimum consumption of material — 500 kg.
Re-order period 4 to 6 weeks
Re-order quantity — 4000 Kg.
Maximum level — 6200 Kg.
You are require to calculate Re-order level and minimum level. (5+5)

4. The following information is extracted from the store ledger

Material X
Opening stock Nil
Purchases Jan. 1 100 @ Re 1 per unit
Jan. 20 100 @ Rs 2 per unit
Issues Jan. 22 60 for job W - 16
Jan. 23 60 for job W —17

Complete the receipts and issues valuation by adopting FIFO and LIFO method.
OR



Date Quantity Received
Units
3-12-12 400
15-12-12 500
20-12-12 —
26-12-12 600
28-12-12 —

-3- SLR-B-43
The following transactions are recorded in receipts of materials used in a factory

Rate per unit Rs. Quantity
Issued Units
2.10 -
2.20 -
- 500
2.50 -
- 900

Prepare a priced ledger sheet pricing the issues at weighted average method.

5. A manufacturing concern requires a statement showing the result of its production
operation for Sept. 2012. Cost records give the following information

1 Sept. 2012 30 Sept. 2012
Raw material Rs. 1,00,000 1,23,500
Finished goods Rs. 71,500 42,000
Work in progress Rs. 31,000 34,500
Transactions during the month Sept. 2012
Rs.
Purchase of raw materials 88,000
Direct wages 70,000
Works expenses 39,500
Administration expenses 13,000
Sale of factory scrap 2,000
Selling and distribution expenses 15,000
Sales 2,84,000

OR

Mr. Gopal furnishes the following data for the month of April 2012

Raw material consumed
Works overheads

Direct labour charges
Administrative overheads
Selling overheads

Units produced

Units sold

Rs.

15,000

4,500

9,000

20% on works cost

Re. 0.50 per unit
17,100

16,000 at Rs. 4 per unit

You are required to prepare cost sheet.

10

10
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Seat
No.
B.Com. lll (Semester — V) Examination, 2014
INSURANCE (Paper - 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from the given alternatives : 10

1) Life Insurance Corporation of India has been established in the year

a) 1938 b) 1947 c) 1956 d) 1969
2) After payment of first insurance premium insured receives receipt is called
as
a) Renewal Receipt b) Debit Note
c) Credit Note d) Cover Note
3) In case of yearly payment of insurance premium days are allowed
as grace days to the policy holder.
a) 15 b) 30 c) 45 d) 60
4) The Financial Interest of the insured in the subject matter of insurance called
as
a) Indemnity b) Contribution
c) Co-operation d) Insurable Interest

5) The monetary consideration of insurance company, which is receives from
the insured is called as

a) Insurance premium b) Loan
c) Surrender value d) Commission
6) is an instrument of distributing the loss of few among many.
a) Insurance b) Insurance premium
c) Investment d) Capital

P.T.O.
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7) When the same property is insured with two or more insurance companies
against the same risk, then it is called as

a) Principle of indemnity b) Principle of contribution

c) Principle of co-operation d) Principle of probability
8) is a soul of insurance contract.

a) Insurance policy b) Surrender value

c) Principle of utmost good faith d) Principle of co-operation

9) Inthe event of suicide, Life Insurance amount received after
year insurance taking from LIC.

a) Half year b) One year

c) Twoyear d) Three year
10) Birth certificate is accepted as a by LIC.

a) Nomination b) Days of grace

c) Proposal d) Proof of age

2. Write short notes :
a) History of Insurance. 5

b) Cover note. 5

3. Write answer in brief :
a) Write a note on proof of age. 5

b) Explain the nature of Insurance.

4. a) Explain the concept of Insurance. What is the role of Insurance in economic

development ? 10
OR

b) Explain the progress of Life Insurance Corporation of India. 10

5. a) Explain the primary and secondary principles of Insurance in short. 10
OR

b) State the functions of Life Insurance Corporation of India. 10
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Seat
No.
B. Com. (Part - lll) (Semester — V) Examination, 2014
ADVANCED STATISTICS (Paper - 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Graph papers will be supplied on request.
4) Use of soundless calculator is allowed.
1. Choose the appropriate alternative from the following. 10
1) One dimensional diagrams are prepared on the basis of
a) height b) length c) bothaandb d) none of these
2) In multiple bar diagram, the width of different bars is kept
a) different b) identical c) bothaandb d) none of these

3) A group of some or all of a given number, number of things without considering
their order is called a

a) permutation b) combination c¢) bothaandb d) none of these

4) All possible outcomes of a random experiment forms the
a) events b) sample space
c) bothaandb d) none of these

5) When the events are mutually exclusive, than P(A UB) is equal to
a) P(A)+P(B) b) P(A)+P(B)-P(ANB)
c) Bothaandb d) None of these
6) If Ais an eventand A its complementary event, then
a) P(A)=P(A)-1 b) P(A)=1+P(A)
c) P(A)=1-P(A) d) None of these
P.T.O.
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7) The conditional probability of an event B on the assumption that another
event A has actually occurred is given by

a) P(B/A)=P(AB)/P(A) b) P(B/A)=P(AB)/P(B)
c) P(B/A)=P(AB) d) None of these

8) Two events A, B are said to be independent, if

a) P(A/B)=P(A) b) P(B/A)=P(B)
c) Bothaandb d) None of these
9) Probability mass function is always
a) 0 b) greaterthan O
c) greaterthanequalto O d) none of these

10) When X is a continuous variable, function f(x) is called

a) Probability mass function b) Probability density function
c) Bothaandb d) None of these
2. a) Explain the meaning and construction of Pie diagram. 5
b) Findn;if "C, = 55. 5

3. a) Whatis the relation between permutation and combination ? Find r; if "P =
24"C.. 5

b) The following data relate to the enrolment of students (in thousands) in
university in difficult faculties. Present this data as a multiple bar diagram.

Year Arts Science Commerce

2008 20 10 12

2009 25 12 14

2010 30 15 14 S
2011 40 20 25
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4. Attemptany one of the following : 10

a) Define the term:
i) Sample space
i) Probability of an event.
For any two events A and B, prove that P(A nB)=P(A)-P(B/A).

b) A random variable X has the following probability distribution.

Valuesof X:| -2 -1 0 1 2 3
P(x):| 0.1 k 0.2 2k 0.3 3k

i) Find the value of K
i) Obtain P(X<2) and P(X > 0).
iif) Construct the distribution function Fy(.) of X.
5. Attemptany one of the following. 10
a) Define:
i) Joint probability mass function of Xand Y.
i) Marginal distributions of Xand Y.
iii) Conditional probability distribution of X given'Y =Y.
b) For the following joint probability distribution of X and Y.

x+3y X=12

PX=xY=y)="57" y_12

Find:
i) Marginal probability distribution of Xand Y.
ii) The conditional probability distribution of X given'Y = 2.
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Seat
No.
B.Com. (Part — lll) (Semester — V) Examination, 2014
ADVANCED BANKING (Paper - 1l)
Banks and Financial Institutions
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

Objective type questions : 10

1. Answer the following questions by choosing correct alternative given below.

1) Indian money market is divided into parts.
a) 2 b) 3
c) 4 d) 6
2) committee recommended to establish the Regional Rural Banks
in India.
a) M. Narasimhan b) Dr. Rangarajan
c) Dr. Gadgil d) Dr. Natrajan

3) Capital adequacy is worked out based on
a) Total demand and liabilities  b) Net demand and time assets

c) Risk weighted assets d) Risk weighted liabilities
4) The Imperial Bank of India was established in
a) 1920 b) 1921
c) 1940 d) 1919
5) Presently, is the Governor of Reserve Bank of India.
a) Dr. Subbarao b) Dr. Bimal Jalan
c) Raghuram Rajan d) Dr. Rama Reddy

P.T.O.
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6) Monetary policy is framed and implemented by

a) Central Bank b) State Bank
c) Co-operative Bank d) Private Bank

7) money market is the most organised money market in the world.
a) London b) Mumbai
c) Newyork d) Tokiyo

8) is called as Government’s Bank and Banker’s Bank.
a) RBI b) SBI
c) RRB d) PNB

9) is converted into State Bank of India, in 1955.
a) RRB b) Imperial Bank of India
c) Bank of India d) Indian Bank of India

10) Indian Money Market is dominated more, by the sector.
a) Organised b) Unorganised
c) Government d) Private
2. Write short notes : 10

a) Productivity, profitability and efficiency of Private Sector Banks.

b) Banking Sector Reforms.

3. Write short notes : 10
a) Capital adequacy norms.

b) Co-operative Banks.

4. Answeranyone: 10
a) Explain the main features of London Money Market.

b) Explain the organization and functions of the State Bank of India.

5. Answerany one: 10
a) Explain the important objectives of Monetary Policy.

b) Explain the role of Indian Commercial Banks in the process of economic
development.
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Seat
No.

B.Com. | (Semester — I) (Old) Examination, 2014
COMP. MARATHI

ATTTY
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50
Time : 3.00 p.m. t0 5.00 p.m.
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Seat
No.
B.Com. - lll (Semester — V) Examination, 2014
INDUSTRIAL MANAGEMENT (Paper - II)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select the appropriate alternatives and rewrite the following sentences : 10
1) Human Resource Management is one of the important branch of
A) Administration B) Workers
C) Management D) Business

2) is an evaluation of applicants qualification, experience, skill, health,
intelligence and working capacity.
A) Selection B) Job analysis
C) Recruitment D) Training

3) Which one of the following does not include under the function of human
resource management ?
A) Profitability B) Training C) Organising D) Selection

4) management is concerned with the obtaining and maintaining of
satisfied work force.
A) Marketing B) Finance C) Business D) Human Resource
5) Work on the site training is training method.
A) Moraletest B) Onthejob C) Outdoor D) Evaluation

6) Human resource selection include
A) Performance evaluation
B) Formulating interview techniques
C) Development of skill
D) Motivation

P.T.O.
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7) Lectures, seminar and team discussion, case study, roll playing etc. are the

method of
A) Selection B) Morale
C) Performance appraisal D) Training

8) management is concerned with the obtaining and maintaining of
a satisfactory and satisfied work force.
A) Financial B) Human resource
C) Stress D) Professional

9) is the art of increasing the knowledge and skill of an employees
for doing a particular job.
A) Recruitment B) Training
C) Selection D) Ethics

10) is evaluation or appraisal of the relative worth to the company of

a man’s services on his jobs.
A) Training programme B) Human relation
C) Performance appraisal D) All of these

2. Write short notes on :
1) Types of training
2) Ethics in performance appraisal.

3. Answer the following :
1) Explain the functions of Human Resource Management.
2) Objectives of Human Resource Management.

4. Answerany one of the following :
1) Explain the scientific procedure for selection.
2) Explain the sources of Recruitment.

5. Answerany one of the following :

1) What is performance appraisal ? Explain in brief different methods for
performance appraisal.

2) What is Human Resource Management ? State the importance of Human
Resource Management.

10

10

10

10
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Seat
No.
B.Com. — lll (Sem. — VI) Examination, 2014
CO-OPERATIVE DEVELOPMENT
Day and Date : Saturday, 29-3-2014 Max. Marks : 50

Time:11.00 a.m. to 1.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose correct alternative from given alternatives. 10

1) The Maharashtra Co-operative Act was passed in a year

a) 1947 b) 1950
c) 1960 d) 1971
2) country is known as the origin of co-operative movement.
a) England b) India
c) China d) Japan
3) The First Co-operative Sugar Factory in Maharashtra was established at
a) Kolhapur b) Pravaranagar
c) Warnanagar d) Sangli
4) In the Arre Milk Society was formed at Mumbai.
a) 1904 b) 1935
c) 1947 d) 1951
5) Raiffesen Societies are related to the country.
a) Germany b) England
c) India d) Russia
6) is known as father of Co-operation.
a) F. W. Taylor b) Robert Owen
c) William King d) Dr. Gadgil

P.T.O.
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7) The First Urban Co-operative Bank was established at in India.
a) Mumbai b) Delhi
c) Culcutta (Kolkata) d) Madras (Chennai)

8) In 1997 Mahajan Committee was formed by government for the study of
a) Consumer Co-operatives b) Sugar Co-operatives
c) Housing Co-operatives d) Credit Co-operatives

9) Denmark is famous for Co-operative Societies.
a) Credit b) Consumer
c) Dairy d) Sugar

10) The minimum number of members required for the registration of Co-operative
Society is
a) 10 b) 20
c) 30 d) 40

2. Write short notes :
A) Problems of Sugar Co-operatives.
B) Co-operative Training.

3. Write short answers :

A) Globalisation and Co-operative Movement in India.
B) Features of Maharashtra Co-operative Societies Act. 5

4. Answerany one of the following : 10

A) Explain the problems of Urban Co-operative Banks in Maharashtra. Give the
measures for improvement.

B) Review the Consumer Co-operative Movement in England.

5. Answerany one of the following : 10

A) Explain the main provisions of Maharashtra Co-operative Societies Act.
B) Evaluate the Co-operative Movement in India.
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Seat
No.
B.Com. (Part — Ill) (Semester — VI) Examination 2014
ADVANCED BANKING (Paper - 1)
Law and Practice of Banking in India
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time: 11.00a.m. t0 1.00 p.m.

N.B.: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

Objective Type Questions.

1. Answer the following questions by choosing correct alternative given below. 10

1) The First Banking Regulation Act is passed in

a) 1943 b) 1947 c) 1949 d) 1950

2) A collecting banker is given the statutory protection only when he acts as
a) A holder b) A holder for value
c) A holderin due-course d) Anagent

3) The ability of an asset to convert into cash is called

a) Liquidity b) Profitability = c¢) Loan d) Pledge
4) The charge created on a security of National Savings Certificate is
a) Pledge b) Hypothecation c¢) Assignment d) Mortgage
5) When loans and advances may be made on the security of tangible asset, it
is called as
a) unsecured loans b) secured loans
c) overdraft d) longtermloan
6) is a salient feature of sound lending.
a) Liquidity b) Profitability
c) Documentation d) Safety

P.T.O.
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7) Banker’s Lienis a type of security.

a) Hypothecated b) Mortgaged c) Implied Pledge
8) RTGS stands for

a) Real Time Settlement System

b) Real Time Gross Settlement System

c) Real Gross Settlement System
)

d) None of above

9) Bailment of goods as security of payment of a debt or performance of a

promise is called as

a) Lien b) Pledge c) Assignment
10) bank is the first commercial bank in India.
a) SBI b) RBI ¢) Hindustan

2. Write short notes :
a) Assignment

b) Paymentin due course.

3. Write short notes.
a) Pledge

b) Principles of sound lending.

4. Answerany one.

a) Discuss the main differences between Pledge and Hypothecation.

d) Lien

d) Loan

d) Canara

b) Explain the duties and Liabilities of a collecting banker/bank.

5. Answerany one.

a) Define the term ‘Mortgage’. Explain the various kinds of Mortgage.

b) State the salient features of the Banking Regulation Act, 1949.

10

10

10

10
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Seat
No.
B.Com. (Part — lll) (Sem. — VI) Examination, 2014
ADVANCED COSTING (Paper - 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time:11.00 a.m. to 1.00 p.m.
Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

1. Select the most appropriate alternative from given alternatives : 10
1) is that labour which cannot be identified with the manufacture of
product.
a) Directlabour b) Indirect labour
c) Labour control d) None of the above

2) is a process of recording of time spent by a worker on every job or
cost centre.

a) Time-keeping b) Time-booking
c) Absent report d) Wages abstract
3) is that time for which an employer pays wages but the employer
does not get any production or service from the employee.
a) Overtime b) Idle time
c) Regulartime d) All of the above
4) Under which bonus plan a provision of payment of bonus equal to the 50% of
the time saved, in addition to the normal wages ?
a) Rowan Plan b) Halsey Plan
c) Halsey-Weir Plan d) None of the above

5) Differential Piece Rate System was introduced by
a) F.W. Taylor b) Rowan
c) Halsey d) All of the above

P.T.O.
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6) Expenses which vary almost in direct proportion to the volume of production
are known as

a) Variable overheads b) Fixed overheads
c) Semi-variable overheads d) None of the above

7) Charging overheads to individual products or jobs is known as

a) Allocation b) Apportionment
c) Absorption d) All of the above
8) When actual overheads are less than the estimated, they are known as
in cost.
a) Under absorption b) Over absorption
¢) Under valuation d) All of the above

9) Depreciation charged in costing is Rs. 12,500 and in Financial Books is
Rs. 10,000. What will be the costing profit when financial profit is Rs. 7,500 ?

a) Rs. 5,000 b) Rs. 3,700
c) Rs. 2,500 d) Rs. 6,300
10) Canteen Expenses are allocated on the basis of
a) Capital values b) Horse power
c) Sales d) Number of employees
2. Write short note on : 10

a) Overtime and Idle time.
b) Need for Reconciliation.

3. A) Work out a Machine Hour Rate : 5
i) Purchase price of machine Rs. 90,000.
ii) Installation charges Rs. 10,000.
i) Life of the machine 10 years at 20,000 working hours.
iv) Repair charges —50% of Depreciation.
v) Lubricants at Rs. 16 per day of 8 hours.
vi) Consumption of Electric Power — 10 units per hour at Rs. 7 per unit.

B) Following are the particulars as regards a worker : Time Allowed 30 hours. 5
Time taken 20 hours.

His normal basic wages at Rs.100 per day of 8 hours and D.A. at Rs. 80 per day.
Calculate the amount payable on time basis.



RV R A 3 SLR-B - 59

4. The following information is available in respect of four departments :

Departments o P Q R
i) Value of plant 24 18 12 6

(Rs. in lakhs)
i) No. of employees 40 30 20 10
iii) Area sq. feet 3000 2000 2000 1000

The actual costs for May, are as follows :

i) Repairs to plant Rs. 12,000

i) Depreciation of plant Rs. 9,000

iii) Light Rs. 2,000

iv) Rent Rs. 16,000

V) Supervision Rs. 30,000

vi) Power Rs. 8,000

Apportion the costs to the various departments by preparing overhead
distribution chart.

OR
4. From the following information prepare overhead distribution summary chart.
Departments
A B C
i) No. of employees 20 20 10
ii) Light points 5 8 2
iii) Electricity kWh 8 6 4
iv) Area sq. yard 5,000 3,000 2,000
v) Asset value Rs. 1,20,000 80,000 1,00,000
The expenses for the month were :
i) Motive power Rs. 10,800
i) Lighting Rs. 6,000
iii) Repairs Rs. 6,000
iv) Amenities to staff Rs. 30,000
v) Depreciation Rs. 30,000

vi) Rent Rs. 5,000

10

10
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5. The cost books of India Manufacturing Co. showed a net profit of Rs. 72,400 for
31t Dec. 2012. A scrutiny of the figures from both the sets of accounts revealed

the following facts : 10
4

i) Administration overheads recorded in excess 1,700
ii) Works overheads under recorded in cost 3,120
iii) Depreciation charged in financial accounts 11,200
iv) Depreciation recovered recorded in cost 12,500
v) Income Tax provided for in Financial A/c 40,300
vi) Bank interest in financial books 750
vii) Interest on investments in financial books 8,000
viii) Loss due to depreciation in stock values 6,750

(Changed in Financial A/c)

You are required to prepare a Reconciliation Statement.
OR

5. Calculate the total monthly remuneration of 4 workers A, B, C and D from the
following data : 10
a) Standard production per month per worker : 1000 units.
b) Actual production during the month :
A B C D
800 units 850 units 900 units 950 units
c) Piece rate at Rs. 10/- per unit of production.

d) Additional bonus at Rs. 10/- each percentage of actual production exceeding
80% of standard production.

e) D.A. at Rs. 100/- per month (fixed).
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Seat
No.
B.Com. lll (Semester — VI) Examination, 2014
INDUSTRIAL MANAGEMENT (Paper — 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time: 11.00a.m. to0 1.00 p.m.

N.B.: 1) Allquestions arecompulsory.
2) Figures to the right indicate full marks.
1. Choose correct alternatives : 10

1) The techniques of maintaining stock keeping items of desired level is called
A) Production planning B) Inventory control

C) Productivity D) Pollution

2) Output = Input is the formula for measuring organizational

A) Types B) Productivity C) Behaviour D) Size
3) control means control over material lying in store.
A) Production B) Inventory C) Sales D) Purchase
4) For going continuous production process stock is made.
A) Sales B) Raw material
C) Finished goods D) Intangible goods
5) Before starting production process planning is to be made.
A) Purchase B) Production C) Sales D) Work
6) is technique of inventory control.
A) ACB B) ABC C) BAC D) ABD

P.T.O.
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7) The level at which a new purchase order is made for maintaining the stock
level is known as

A) Danger stock level B) Re-order stock level

C) Maximum stock level D) Minimum stock level

8) Routing, scheduling, follow up etc. are the techniques of production
A) Planning B) Control
C) Productivity D) Inventory control

9) Which of the following technique is used for analyzing the inventory control ?

A) Production planning B) Ratio analysis
C) Production control D) Job analysis
10) National Productivity Council is established in the year by Central
Government.
A) 1985 B) 1958 C) 1960 D) 1955
2. Write short notes on: 10

1) Importance of productivity

2) Remedies for industrial pollution.

3. A) Explain the methods of improving productivity. 5

B) Explain the importance of production planning and control. 5

4. State the different techniques of production control. 10
OR

State the different causes of industrial pollution. 10

5. Explain the different techniques of inventory control. 10
OR

Explain the objectives of inventory management and control. 10
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Seat
No.
B.Com. - lll (Semester — VI) Examination, 2014
Paper — Il : ADVANCED ACCOUNTANCY
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time:11.00 a.m. to 1.00 p.m.
Instruction: All questions are compulsory.

1. Select the correct alternative : 10
1) ¢ ’means a person by whom any tax or any other sum of money
is payable under the provisions of the Income Tax Act.
a) Assessee b) Person c) Both d) None
2) Assessment Year means the period of twelve months commencing on
18tday of every year.
a) July b) January c) April d) September
3) Under Sec. 16 (iii) professional tax is allowed as deduction for
employees.
a) Non Government b) Government
c) Both d) None
4) Agricultural Income from land situated outside India is
a) Taxable b) Exempt
c) Partly Taxable d) Taxable upto Rs. 10,000/-
5) Deduction under Sec. 80C is allowable only to
a) Individual and a HUF b) Individual
c) Company d) All assessee

6) Maximum permissible deduction u/s 80DDB for a senior citizen is

a) 15,000/- b) 20,000/- c) 60,000/- d) 40,000/-
7) In case of self occupied property interest on loan borrowed for repairs is
allowed
a) Fully b) Partly
c) Upto Rs. 1,50,000 d) Upto Rs. 30,000/-

P.T.O.
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8) While computing income from let out house property % is
allowed as standard deduction.
a) 15 b) 30 c) 45 d) 60
9) Any dividend received from company is exempt.
a) Foreign b) Only public c¢) Domestic d) Only private
10) Income from lottery is taxable under
a) Income from other source b) Business Income
c) Exempt d) Exempt upto Rs. 10,000/-
2. Write short notes on (Any two) : 10
A) ‘Person’

B) Assessment
C) Resident and ordinarily resident

3. A) Explain any five examples of incomes exempt from tax. 5

B) Mrs. Madhuri owns a house property which is let out for Rs. 5,000 per month.
The fair rent of property is Rs. 72,000/-. Municipal value of the property is
Rs. 70,000/-. Municipal Taxes paid during the year is Rs. 7,200/-. Compute
the income from house property. 5

4. A) Mr. Vishnu, is an employee of ABC Ltd. He has provided the following details
of his income. Compute his total income for the Assessment Year 2013-14.

Basic pay Rs. 20,000/- p.m. (Actually received for 10 months only)

Dearness allowance 10,000/- p.m.
Entertainment allowance 2,000/- p.m.
Leave travel concession Rs. 24,000
Transport allowance Rs. 12,000/- p.a.

Uniform allowance Rs. 12,000/ p.a. (actual expenses Rs. 10,000/-)
Children Education Allowance for his two children @ Rs. 100/- p.m.

His employer’s contribution to Recognised Provident Fundis @ 10% of basic
salary. He also contributes an equal amount.

Interest on accumulated balance in RPF @ 10% amounts to Rs. 20,000/-.
His other income includes :

Share of income in HUF Rs. 50,000/-

Share of profit received from partnership firm as a partner Rs. 1,00,000/-
Interest on debentures Rs. 12,000/-
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5. A)

Dividend from Indian Co. Rs. 22,000/-

He has made following payments :

1) Tuition fees of college paid for his two children Rs. 88,000/-
2) Medical insurance premium for self Rs. 21,000/-

3) Interest on education loan of his spouse Rs. 10,000/- 10
OR
Mr. Raghuram is an employee in a college in a Solapur. Particulars of his

income for the year ending 31-3-2013 are as under. Compute his total income
forthe A.Y.2013-14:

Salary 1,80,000/-
D.A. 36,000/-
CCA 21,000/-
HRA 36,000/-

Transport allowance 1,000/- p.m.
Remuneration from examiners hip  14,500/-

He is a member of statutory P.F. in which he contributes 15% of basic salary.
Employer also contributes an equal amount.

He lives in a rented house for which he pays Rs. 4,000/- as monthly rent.

Reimbursement of medical expenditure from the employer for a treatment in
a private hospital Rs. 23,000/.

Interest on specified government securities received Rs. 23,000/-.

Interest on bank deposits Rs. 21,000/- out of which Rs. 10,000/- is from
Savings Bank Account.

He has received a gift of Rs. 21,000/- from his friend.

He paid life insurance premium of Rs. 18,000/- invested Rs. 50,000/- in public
provident fund.

He donated Rs. 10,000/- to Prime Minister’s National Relief Fund. 10
Following is the Profit and Loss Account of Mr. Vikas Koli for the year ended
31-03-2013: 10
Particulars Rs. Particulars Rs.

To Repairs on building 1,30,000 By Gross profit 6,01,000

To Advertisement 51,000 By Income Tax Refund 4,500

To Commission 1,00,000 By Interest from

company deposits 6,400
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To Interest on loan 1,10,000 By Bad debts recovered 3,600
To Travelling Expenses 1,30,000
To Misc. exp. 550
To Net Profit 93,950
Total 6,15,500 Total 6,15,500

Following additional information is furnished:

1) Repairs on building includes repairs made for his residential house
Rs. 95,000/.

2) Bad debts recovered were not allowed earlier as deduction.

Compute the income chargeable under the head profits and gains from business
and profession of Mr. A for the year ended 31-03-2013.

OR
From the following Profit and Loss Account of Mr. Vinay Apte, ascertain his
income from business for the Assessment Year 13-14: 10
Profit and Loss Account

Particulars Rs. Particulars Rs.
To salary 45,000 By gross profit 1,22,000
To general expenses 5,000 By intereston PPF 2,000
To advertisements 14,000 By rent received

(on house property) 3,000
To postage expenses 2,000 By dividend from foreign

company 1,000
To interest on bank loan 4,500
To bad debts 2,000
To fire insurance premium

(On house property) 100

To depreciation 4,000
To reserve for sales tax 10,000
To advance income tax 2,000

To donation to central library 1,000
To corporation tax on house

property 500

To motor car expenses 1,000

To wealth tax paid 3,500

To income tax 4,000

To stationery 1,900

To net profit 27,500
1,28,000 1,28,000

Other information :

1) Depreciation as per Income tax rules is Rs. 2,500/-

2) Motor car expenses include Rs. 300/- for personal purposes.
3) Central library is an approved institution.



LR SLR-B -8

Seat
No.
B.Com. — | (Sem. - I) (Old) Examination, 2014
PRINCIPLES OF MARKETING
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.
Instructions: 1) All questions arecompulsory.

2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives : 10

1) Money markets and capital markets are known as markets.
a) Financial b) Whole sale
c) Securities d) Commodity

2) The third stage of product life cycle is related with

a) Introduction b) Maturity
c) Growth d) Decline
3) Registration of brand name is
a) Compulsory b) Mandatory
c) Essential d) Optional
4) Dividing the total market into different small parts is known as
a) Market research b) Market analysis
c) Market segmentation d) None of the above

5) The goods which are used for producing other products are known as

a) Consumer b) Luxury
c) Industrial d) Speciality
6) The modern concept of marketing is oriented.
a) Production b) Profit
c) Consumer d) Advertising

P.T.O.
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7) is the part of economic which is concerned with creation of place,
time and possession utilities.
a) Production b) Marketing
c) Advertising d) Publicity
8) decides product price.
a) Marketer b) Consumer
c) Producer d) Mediater
9) stages found in product life cycle.
a) 2 b) 5
c) 4 d) 6
10) means exchange of goods for goods.
a) Freetrade b) Mass market
c) Barter d) Personaltrade

2. Write short notes :
A) Importance of marketing. 5

B) Function of packaging. 5

3. Answer the following:
A) Explain the various concept of market. 5

B) Explain the bases for market segmentation. 5

4. Answerany one of the following :

1) Explain the micro environmental factors. 10
OR

2) Explain components or principles of product planning development.
5. 1) Define meaning of “price” and explain importance of price in marketing mix. 10
OR

2) What do you mean by product life cycle ? What are the stages of product life
cycle ?
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Modern Prose
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Seat
No.
B.Com. (Part — I) (Sem. — I) Examination, 2014
PRINCIPLES OF BUSINESS MANAGEMENT (New)
Day and Date : Friday, 28-3-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.
Instructions: 1) All questions arecompulsory.

2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives : 10
1) Management consists functional areas like
a) Production b) Finance
c) Marketing d) All
2) is the right to give orders and the power to enforce obedience.
a) Responsibility b) Authority
c) Duty d) None
3) is an identifiable group of people contributing efforts towards the
attainment of goals.
a) Planning b) Controlling
c) Organisation d) Decision making
4) is the reason for the organisations existence.
a) Mission b) Vision
c) Objectives d) None
5) For optimum utilization of resources technique is used.
a) Decision tree b) Network
c) Linear programming d) Personal opinion
6) is the fundamental function of management.
a) Organising b) Controlling
c) Decision making d) Planning

P.T.O.
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7) Managementis activity.
a) Universal b) Local
c) National d) None

8) Management principles are applicable to organisation.
a) Social b) Political
c) Religious d) All

9) is the modern approach of management.
a) Classical management b) Neo-classical
c) Contingency approach d) None

10) is the father of scientific management.
a) F.W. Taylor b) Max Weber
c) Henry Gantt d) Henry Fayol

2. Answer the following :
A) Significance of management. 5

B) Corporate plan. 5

3. Answer the following:

A) Rationality in decision making. 5
B) Authority. 5
4. Answerany one of the following : 10

A) Define management. Explain the nature of management.

B) Define planning. Explain the process of planning.

5. Answerany one of the following : 10
A) Define decision making. State the techniques of decision making.

B) What do you mean by organising ? State the merits and demerits of line
organisation.
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Seat
No.
B.Com. | (Semester — I) Examination, 2014
FINANCIAL ACCOUNTING (New)
Day and Date: Saturday, 29-3-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Attempt any one question from Q. No. 4(a) and 4(b).
3) Attempt any one question from Q. No. 5(a) and 5(b).
4) Figures to the right indicate full marks.

1. Choose the correct alternative : 10

1) Accounting is the art of measuring communicating and interpreting

activity.
a) Economical b) Social
c¢) Financial d) Environmental

2) The proprietor is treated as a creditor to the extent of his capital according
to

a) Cost concept

Cc

)

b) Business entity concept
) Going concern concept
)

d) Realisation concept
3) In convertion of partnership, Liability settled in cash is

a) Debited to Realisation A/c

)
b) Credited to Realisation A/c
c) Debited Partners Capital A/c
)

d) Credited to Partners Capital A/c

P.T.O.
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4) If goodwill is valued at 3 years purchase of average profits of last two years.
When last two years profits were Rs. 2,500 and Rs. 3,800, the value of
goodwill will be

a) Rs. 4,200 b) Rs. 9,450
c) Rs. 6,300 d) Rs. 3,900
5) That part of unsecured creditors which has a priority over other creditors is
called
a) Sundry Creditor b) Loan Creditor
c) Preferential Creditor d) Other Creditor
6) The balance of fully secured creditor is the realizable value of

security given to them.

a) More than b) Lessthan
c) Equalto d) More or less than
7) No entries are passed in case of a co-op. society.
a) Cash b) Credit
c) Journal d) Ledger
8) Co-op. movement was started in India to free the formers from the clutches
of
a) Bankers b) Private Money Lenders
c) Creditors d) Govt.
9) In Receipts and Expenditure A/c system is followed in respect of
expenses.
a) Mercantile b) Cash
c) Hybrid d) None of these

10) 100% provision is made in respect of outstanding income in
a) Receipts and Payments A/c b) Receipts and Expenditure A/c

c) Income and Expenditure A/c d) Profit and Loss A/c
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2. Write short notes on':
a) Distribution of share among the partners and their final settlement.

b) Receipts and Expenditure A/c.

3. a) From the following information prepare list D only in case of Mr. Ram, Mumbai.
i) Salary outstanding for 5 months of 10 employees Rs. 5,000
i) Wages outstanding for 5 months of 20 workers Rs. 4,000
iii) 3 months Rent payable to landlord Rs. 15,000.
b) From the following information prepare purchase consideration and settlement

of purchase consideration.

Balance Sheet

Liabilities Rs. Assets Rs.
Capital Accounts Building 40,000
-A 51,000 Plant 30,000
-B 39,000 Furniture 5,000
Bills payable 5,000 Debtors 28,000
Creditors 25,000 Stock 10,000
Bank 7,000

1,20,000 1,20,000

Ltd. company agreed to take over all the assets and liabilities as under :
Building Rs. 42,000, Plant Rs. 25,000
Furniture Rs. 4,340, Stock Rs. 8,000

Debtors subject to provision for doubtful debts @ 3%, creditors at a discount
of 2%. Company issued 6300 equity shares of Rs. 10 each at Rs. 12 per
share and balance paid in cash.

10
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4. a) X Ltd. formed to take over the business of M/s PQR who share profits in the
ratio of 2 : 1 : 1 respectively. 10

Balance Sheet as on 315t March 2013

Liabilities Rs. Assets Rs.
Capitals Plant and Machinery 37,000
-P 25,000 Stock 17,000
-Q 12,000 Debtors 19,000
-R 12,000 Motor car 10,000
Investment Investments 10,000
Fluctuation Fund 5,000 Cash 1,000
Creditors 24,000
Bills Payable 16,000
94,000 94,000

X Ltd. to take over Plant and Machinery, Stock & Debtors at 10% less than
the Book value and agreed to pay Rs. 10,000 for Goodwill. It is also agreed to
pay creditors at Book value. The purchase price was satisfied by issue of

4000 shares of Rs. 10 each and balance in cash.

Mr. P took the Motor car at Rs. 8,000. Investments were sold in the market
for Rs. 9,000. The Partnership firm paid Bills Payable at 10% discount. The
realisation expenses amounted to Rs. 2,300. The partnership firm sold the
shares of X Ltd. for Rs. 36,000.

Show various Ledger Accounts in the Books of the firm.
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b) Shri Ramakrishna filed his Petition in Bankruptcy on 318t March 2013, when

his position was as under

10
Credit
Rs.

50,000
35,000
25,000
20,000

20,000
11,700

1,61,700 1,61,700

Particulars Debit
Rs.
Cashin hand 8,200
Fixtures and fittings (Estimated to realise Rs. 2,000) 6,000
Stock (Estimated to realise Rs. 25,000) 35,000
Building (Estimated to realise Rs. 30,000) 20,000
Motor car (Estimated to realise Rs. 15,000) 17,500
Trade creditors (including preferential
creditors of Rs. 1,000) —
Bills Payable -
Mortgage loan on Building —
Loan on Motor car -
Sundry Debtors
—Good 25,000
— Doubtful
(50% realisable) 30,000
—Bad 20,000 75,000
Bank overdraft - —~
Capital —
Total
Liability for Bills discounted was Rs. 15,000 of which Rs. 7,000 were expected
to Bank.
Prepare:

1) Statement of Affairs
2) Deficiency Account



SLR-BN - 71 -6-

5. a) From the following Trial Balance of Saishree Co-op. Credit Society as on

31-03-2013 and other information, prepare Profit & Loss A/c for the year

ended 31-3-2013 and Balance Sheet as on that date.

Dr. Balances Rs.
Cashinhand 1,200
Cash with Banks 11,000
Fixed Deposits with Banks 1,50,000
Office furniture 10,000
Interest on Deposits 1,05,000
Interest due on loans 10,000
Salary and Allowances 45,000
Establishment exps. 5,000
Printing and Stationery 1,000
Travelling exps. 2,000
Insurance Premium 1,500
Contribution to P.F. 2,500
Loans due from Member  19,50,000
22,94,200

Adjustments:

Cr. Balances Rs.
Share Capital 5,00,000
Reserve Fund 75,000
Members Deposits 14,50,000
Unpaid Dividend 5,000
Dividend Equilisation

Reserve 20,000
Staff Provident Fund 20,000
Profit & Loss Appropriation

A/c (balance) 25,000
Interest 1,90,000
Renewal fees 5,000
Sundry Income 1,200
Co-op. Development Fund 2,500
Education Fund 500

22,94,200

1) Interest due on members deposits Rs. 7,000

2) Interest accrued but not received on investments Rs. 5,000

3) Addition to furniture during the year Rs. 5,000, charge depreciation at 10%

on closing balance.

4) Salary due but not paid Rs. 500, and salary paid in advance Rs. 1,000.
5) Audit fees unpaid for the year Rs. 5,000

6) Authorised capital was 10,000 shares of Rs.10 each.

10
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b) Prepare Income & Expenditure Account, Receipt & Expenditure A/c and
Balance Sheet from the following. 10

Receipts & Payments A/c for the year ended 31t March, 2013

Receipts Rs. Payments Rs.

To Balance b/d 32,500 By Expenses 55,000

To Fees 1,20,000 By Balance c/d 97,500
1,52,500 1,52,500

Balance Sheet as on 1-4-2012

Liabilities Rs. Assets Rs.
Capital 1,47,500  Furniture 17,500
Liab. for expenses 5,000  Motor car 62,500
Provision for outstanding fees 10,000  Equipments 40,000
Fees receivable 10,000
Cash in Hand 32,500
1,62,500 1,62,500

Other Information :
1) Outstanding fees on 31-3-2013 Rs. 17,500.

2) Provide depreciation at 20% on car, 15% on Equipments and 10% on
furniture.
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B.Com. — | (Semester — I) (New Course) Examination, 2014
HINDI (Compulsory)
Sahityadhara Aur Vyavharik Hindi

Day and Date : Wednesday, 2-4-2014
Time : 3.00 p.m. t0 5.00 p.m.

g : 1) @t ge7 A & |
2) gTE 37K for@ 37 397 3 T F¥ia &

1. Sgfohedd T99 : (10 H € 10)
frfafaa wite § 9 3fa g g9 are T @ fafaw |

Max. Marks : 50

10

1) Temrsy Sieft =6 foar 61 A o |
[EEqHg, qUiHe, THHE, SHHE]

2) FHAR TS T 1 &, T 3T HIARH ST St uier g3 |
[1911, 1912, 1922, 1933]

3) ‘THF HIARH Fie T o oiEeh gl
[femryy sieft, g9, fad, =l wm <. forg, . wwas ]

4) feadsh & mfea w TR TG 7 |
[ehfd Tig, ahfa TATetT, ohfer Ud), ohfd oHi ]

5) helLaTH o 7% I A8 o |
[T, daM=<, TEHE, THE]

6) foTert i T A FUTS TR e o |
[el=, WehT, GohTL, Feei]

7) 3 YT Shl T ST TohdT © |
[3m, <31, e, Te]

8) ITIATE Fl AUSI | FEd T |

P.T.O.
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9) ‘HTE I I Hiddl 1 forgamn o for wrega et 2 |
[AHd, TR, TS, S{ad]
10) 3= sreeTl | 32 srnel | hfer B ht foord) =t siferd et 2 |
[TE ¥ g4, 39 § HHd, qadl § T&d, T&d § <adi]
2. fifafiad # & uiar T & I dar | foafe 10
1) 317, 37 - (1T % 37 FAR)
2) S, S — (Tsal o 31¢f SIqTs0)
3) ‘STgaTe’ ¥Tes i Fcaf ford TN § IR fRT aig A gE = ?
4) ““w URfHAr FEHl TR feETe e, der il Sfedrerat TRt SR
FEH AR, (38 IR 1 el ¥ 3rgaTe i)
5) 37cu form 1 27ef st fore fafian |
6) 31¢f T =1 31ef s foreg feafiaw |

3. FFafafga st § 9 frdl 2 il gHe = Fifsu | 10
1) ‘ot e fermfean, S 42 T aw |
T W e | TS, ST e foeer |
2) ‘21 ytfi  T=l, Uk 5w
oS g ATe-T T @,
Y&l T 3eh! [T ol
RO aag!’

3) “‘3FUSH Y THT AT TTEdl
e 21 ot 59 WU fon
T TFIIRRE AT 31T ST
S ggt W 7 9 forae weam 21

4. F=fafaa 4 9 frht wes 3w 1 Sear feafaw | 10
T IR e H AR < fomrg ot 2, e il |
arera
G i 1 GHTS GIRF 1 €9 T hHIWTC |
5. Seieadl e 10
T i ded & ¢ ey it Afvesk wmen w1 oo i |
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B.Com. (Part — I) (Semester — I) Examination, 2014
KANNADA (New)
Modern Prose and Poetry — |

Day and Date : Wednesday, 2-4-2014

Time : 3.00 p.m. t0 5.00 p.m.

Roes: T VI TEHDL 200,

1. BOOIRT HUSTNRED SO WBCWO:
1) RReEPOOITET Tows

@) NOTRY ©) non=y

) J030 %) 0N
2) FTOZTO VIO, TIEIBIZ BRTLITITO ?

@) 30O ) &3 Q) =on
3) &3@03352{ BROILO WHRTY

e9) WO ¢3) FWowT Q) e
4) ‘TOTTIe03Y B WITTO

) 23eods, e3) BOTWOR) Q) B
5) W33 8¢ — QTROTD

@) 30O ¢3) ToL3T

Q) T, T9) TOTOWD
6) ABRCTHT B

¢3) o e3) A0 Q) TR
7) QAT UTROTT o

) T, ) 0O Q) DPETIOD
8) TRRNSEE T2 &0

¢3) WOTOB %) QONE’ Q) &0l

Max.Marks : 50

10

3) =

39 VT PRI

39 VIOV BT/RIT®
B9 WO

39 MORTS
P.T.O.
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9) BOONE AT® BIONLD - VTWROTD

@) 33 ) TR Q) Joe3B
10) T3 V) 9T YITD 0°.
¢3) JONED ) OO Q) BOONED

2. 2TE Yug0R0:
1) RReO03TET Lieanad.
2) Bo5OOI MR IO,
3) @9 &RT JROM.
4) BN 0TS 03RTO 03RTO ?
5) &CRRNTT 22D TENT ?
6) RRETPOOITFT N YTTO ?

3. QU SUBORD :
1) RREROCILTRT B ATYTMIEBI, TORD.

2) 3. 2% VAT WTROW® BT TWYPFNENTRI, B0 LTCW0.

3) 23e3T 2ednivd cdRTd cdRTd ?

4. womg NUZORD : (&35¢3)

33) 2308

33) wIND
10
10
10

1) Q790 RRIT° BB TTNTYS T0RNT &mdﬁ%ﬁﬁg{ Q3BRQO.

2) 30300 rbsaxémdﬁ%fﬁgiwéoib&

5. o3 e Y Seadstd TRT LROPRATO 03B ? VTOR0. 10
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Seat
No.
B.Com. — | (Semester — II) (New) Examination, 2014
MATHEMATICS
Business Mathematics
Day and Date : Thursday, 3-4-2014 Total Marks : 50

Time:11.00 a.m. to 1.00 p.m.

Instructions: i) Allquestions are compulsory.
i) Figures to be right indicates full marks.

1. Select the correct alternatives for each of the following : 10

1) A function whose graph is a straight line is called

a) alinear function b) quadratic function
c) profit function d) none of these
2) lIim vJx+8
x—1 T -
a) 1 b) -3 c) 3 d 9
3) A pointis said to be break even point if
a) Px)=0 b) P(x) = 0
c) P(x) = R(x) d) P(x) = C(x)
d X
4) &a =
’ ax+1
X— X X
a) xa b) a c) a*loga d) T
1 n
5) lim [‘I+—J =
n—yc0 n
a) loge b) x c) 1 d e

P.T.O.
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B) Iff(x) =x2—3then f(2) =
a) 7 b) =7 c) 4 d) —4
dy
—= =0 = i
7) If i >U theny =1(x) is
a) anincreasing function b) a decreasing function
c) neither decreasing nor increasing d) none of these
1
8) I X+3 M=
4 5
a) log 5 b) log 2 c) log20 d o
9) J'ex2 oxdx =
2 xe*”
a) e* b) 2x c) xeX d) 5
10) The function y = f(x) has a minimum value if g_y =0 and
X
d2y d2y
d2y
c) —5=0 d) None of these
) 32 )
2. A) Evaluate 5
) lim Vx2+1-45
x—2 ¥ _ D
o dim [ 1 3
) x>8| 53 X(X2 —5x+6) )
1
B) Using the first principle of derivative find {'(x) if f(x) = w? 5 and hence

find f(1). 5



dy
~ 2 At gy Y
3. A)Ify=(x=-1) find .

B) Integrate the following :
a
i) _[ —& dx
0 Ix +Ja-x

. J- X2+1
)i x+2) x- 9

ax

4. Attemptany one of the following :

u
i) If u, v are functions of x and ¥ = v then prove that

o dx
hence find ax | ox |-

i) a)lf y:(><+ \/x2+1)m show that (X2+1)d

d
dx

d
X2 -3 2=0 find >
b) If XY + Y find vl
5. Attemptany one of the following :

a) Findthe maximum and minimum values of the function

f(x):lx3—§x2+2x+8_
3 2

b) The quantity demanded and the corresponding price under pure competition,
are determined by the demand and supply laws P =25 —x2 and P = 5 + x

du

SLR-BN - 90

dv

dy _ “dx " dx and

V2

may =0,

respectively. Determine the consumers and producers surplus.

10

10
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Seat
No.
B.Com. (Part — I) (Semester — I) Examination, 2014
BUSINESS ECONOMICS - | (Old)
Day and Date : Tuesday, 1-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : 1) All questions arecompulsory.
2) Figures to the right shows full marks.
3) Neatdiagrams should be drawn wherever necessary.

1. Choose correct alternative : 10

1) Business firm is established for the sake of

a) Profit b) Social welfare
c) Price d) Govt.
2) Infree market economy balance between demand and supply is done by
a) Government b) Producer
c) Price Mechanism d) International Institutions

3) Change in demand due to change in price is called as
a) Elasticity of supply
b) Elasticity of demand
c) Elasticity of factors of production
)

d) None of the above

4) In cardinal utility analysis the utility of money is assumed as

a) Increasing b) Decreasing
c) Stable d) Variable

5) Inindifference curve analysis itis assumed as the consumer purchase goods.
a) One b) Two c) Three d) Four

6) The benefit of demand forecasting is for

a) Consumer  b) Producer c) Government d) All of the above
P.T.O.
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7) Indifference curves technique is basically propounded by

a) Marshall b) Edgeworth c) Keynes d) Ricardo

8) Cross elasticity of demand = &Nange inthe demand of X

a) Change in the price of Y

b) Change in the price of X

c) Change inthe demand of Y
)

d) Change in the income of consumer

9) Indifference curves are to the origin.
a) Concave b) Convex c) Parallel d) Straightline

10) The demand for necessary goods is
a) Inelastic b) Elastic c) Lesselastic d) Unitelastic

2. Write short answers :

a) State the scope of business economics.

b) Explain the merits and demerits of price mechanism.

3. Write short notes::

a) Price Line

b) Advertisement elasticity of demand.
4. Write answerany one question:

a) What is price elasticity of demand ? Explain the types of price elasticity of
demand.

b) Discuss the defects of the utility analysis.

5. Answeranyone:

a) Explain the properties of indifference curve.

b) Whatis demand forecasting ? Explain the importance of demand forecasting.

10

10
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TS YT
AT 2 ¢) Td T HTAITE.

?) ITAIHSIT 7% T T JOT T,
3) v a9 gaF sTFd Fe.

% A gty e %0
%) AT T I =71 S0 1907 hefl ST,
3) THT ¥) TNIRd
EDRETK g) &R
R) Hod ISR AfIGwAd _ gR AWI-JESATT Hes =i Sl
) GEHR &) 3IcuTesh
%) forma Z=om T) AT Tee
3) forAdidiaT Secies AFTUAT oIedt Qrvam= uied w=eos _ ®ML

3T) IS TS TeIehd] §) wriEh dateeRdl
%) ICUTEH THhE TAdraehdl ) ATdeh! ATEl

¥) 3Tehaell ST faveiyond Surre Su=far At 9.
3) dredt 9) =dl
%) feor g) aaardt
G) THI 9% AT IUFIET _ Sqd] GiEl hal 3 TR R ST,
) T q) qH
%) o= g) =N
&) TP qElEERT S T gl
3) IuATEd §) IcUTEH
%) THR g) ol ud
\9) FHSI JhE OF gaudW i Hed.
1) ArEid ENRSER

) T) fmrel
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¢) T Waeh Aafeehal = ‘& S HETOidie Ihel Saa

T) IUHFATAT 3T Thel T

R) THI ok STRIEAHTE AT,
) AddF q) afed®
%) THTR T) T
%0) SfeHTavTe Sl ArOft 3.
) el §) oaeieh
EIELIRSEEIED ) Ueheh ia=iich
2. JiERITa I fored

) AT SR ST .
q) fohma T Uy fowTe .
3. 2n foree
31) fopma T
) ARTOf= SRR AdfaehdT.
¥. WTeteldshl TeRT T3 3T ToTaT :

1) ATTUfh fohd Satoehal TeUTS S © AT TohAd Tafiehd SohR €I

&) ITAAT forgervondier amr= == .
b, WTefleTeh! Teht Y IR foteT
) SR gk UTEH o .
) AFTUi QATgA TS i ? WRTOeA] QaTHET Heed |
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Seat
No.
B.Com. — | (Sem. - I) Examination, 2014
BUSINESS MATHEMATICS (Old)
Day and Date : Thursday, 3-4-2014 Total Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

3) Use of soundless calculators are allowed.
4) Graph papers will be supplied on request.

1. Choose the most appropriate answer : 10

1) If the interest is charged only on the original principal for the full period, then
the interest is called as —— interest.

a) Deferred b) Compound c) Simple d) Matrix

3 00
2) The determinant value of a scalar matrix [0 3 O] is

0O 0 3
a) 0 b) 1 c) 3 d) 27
3) The ———Mtermofan A.P. 1,4, 7 ...is 52.
a) 8 b) 18 c) 17 d) 15

4) Sagar invests Rs. 10,000 in saving account of bank which is paying 6%
simple interest. Then the balance amount of the saving account after six
months will be Rs.

a) 10,300 b) 13,600 c) 16,300 d) 30,100
5) When the first payment of annuity is made at the beginning of the first payment
interval then an annuity is called as
a) Immediate annuity b) Annuity due
c) Deferred annuity d) None of these

P.T.O.
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6) In LPP, the objective function is in —— form.

a) Quadratic b) Lessthan c) Linear d) More than

7) If any two columns of a determinant are identical then its value is

a) 1 b) 3 c)0 d) Sum of elements
x 0 O
3 0 7|_ _
8) If 5 g =0thenx =
a) 14 b) 7 c) —4 d) O
11 15 17 2 6 8
9) 3 4 5|+|38 4 5|=
7 9 1 7 9 1
[13 21 25 [22 90 136
a) 6 8 10 b) 9 16 25
14 18 2 49 81 1
13 21 25 186 279 180
c) 3 4 5 d) 324 420 927
7 9 1 1970 517 463

10) InLPP, the space where all values of the variables that make all the inequalities
a true statement is called as

a) Expression b) Linear

c) Solution space d) Problem

2. a) The sale of tickets at the show of film amounted to Rs. 6,500 on the first
show and showed a drop of Rs. 110 every succeeding show. Find the show
on which it matches the operational cost Rs. 1,000 per show. 5

b) How long will it take for a sum of money to double itself at 10% simple
interest ? 5
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3. a)

b)

Rs. 50,000 is paid at the end of every year for 10 years to pay off a loan. If
interest is at the rate of 14% per annum compounded annually, what is the loan
amount ? 5
Find the G.P. whose 5t" term is 80 and 8t term is 640. 5

4. Attemptanyone:

a)

b)

o _1 1 0 o 1
If A:[ },B: 2 3|andC=|2 0 |Find(AB')C. 10
4 3
1 -1 1 1
1 2 3
; ; v A=|2 4 5
Find the inverse of a matrix 35 6l 10

5. Attemptany one:

a)

A company produces two types of leather belts, say A and B. Belt A is of
superior quality and requires fancy buckle. Belt B is of lower quality and needs
simple buckle. The company can produce only 800 belts per day. Only 400
fancy buckles and 700 simple buckles are available per day. If it earns a profit

of Rs. 50 on belt A and Rs. 35 on belt B, find how many belts it should produce

SO as to earn maximum profits. 10

Solve the following equations by determinant method
2Xx—-y+3z=4
X+y+z=2

3X—-y—2z=2 10
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Seat
No.
B.Com. | (Semester — I) Examination, 2014
INSURANCE (Old)
Day and Date : Thursday, 3-4-2014 Total Marks : 50

Time :3.00 p.m t0 5.00 p.m.

N.B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Select the appropriate alternative from given : 10

1) interest must be present in the life policy at the time of taking
insurance policy.

a) Joint b) Insurable c) Surety d) Private

2) Cattle Insurance is mainly started for for their cattles.

a) rural farmer b) labour c) businessmen d) people

3) Life Insurance is the exception to the principle of

a) utmost good faith b) insurable interest
c) indemnity d) probability
4) What is paid by Insurance Co. when the policy holder decides to discontinue
the policy ?
a) sum assured b) deathclaim c) bonus d) surrender value
5) Birth certificate is accepted as a proof of by Life Insurance
Corporation.
a) age b) life c) policy account  d) qualification
6) Insurance Act 1938, came in force on
a) 15t April 1939 b) 1tMay 1939
c) 15t July 1939 d) 51 Sept. 1939
7) A Licence for Insurance Agentis grantedfor___ years.
a) 3 b) 5 c)7 d) 9

P.T.O.
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8) In Life Insurance after death of insurer the amount of contract is given to

a) Nominee b) Relative
c) Wife d) Son
9) Which of the following policy is compulsory in case of Motor Insurance ?
a) Medical Check-up Policy b) Third Party Insurance
c) Motor Accessories Policy d) Comprehensive Policy

10) Crop Insurance Scheme was started by the Govt. of India in
a) 1956 b) 1969 c) 1985 d) 1991

2. Write short notes :
a) Cover note

b) Principle of Insurable Interest.

3. Write short answer :
a) Cattle Insurance

b) Group Insurance

4. Explain the need of Insurance.
OR

Explain the Code of Conduct for Insurance Agent.

5. Explain the procedure of settlement of Life Insurance Claim.
OR

Explain the scope of Accident Insurance.
TS ®UTR

e : ¢) G J9T HATAVIE e,
?) STATHSTET 37 Ui o7 G

9. fecican wafameh T yaterh fae =

%) TR SR o S 31 ITfE,
) gF 9) faiafsa &) BER T) @rert

10

10

10

10

10

10
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?) =T UYIEATETE] 9R]eH ot e shuard ST
) IO AR F) AL %) FEERe €) Alh
3) M ET T IUaTE guESial Sl
37) Ty fosamg ¥) foafea
¥) SegT foHeR fammos g sevaren i st degr @ o ot shed & foo
ST ?
37 famn wm ) I WH
%) g ) HHIUHH
&) SFHATRUT SHTOTTS & AT TEU[ ARHT HEHSes e,
37) ST ) SflaHr=n
o) fomm Tes=n SRIECE]
&) formm e ¢R3¢, T ITHATT ST,
3) ¢ Tl 8138 CIRERLER
F) L Tt 23R T) L HW. 2]3%
o) form wfafefien sedm wam FATETS! HX kel STl
) 3 ) Y +) g) R
¢) STgfIeTa foHeR e U= Jad qava gefl Jog STel at Rl &
T GRS IGH
37) IRETE q) AdaEs &) Tt T) gam
R) HIeR T 3iaia Wiefieshl shivrd fommas o s1fqamt 3 ?
37) dgfera qurEvft fomm &) qar ge7 fom
%) AR 3qare fom T) gaguTaTes fom
%.0) WRA TR Uieh fomT FIsHT HEL TE hedl.
) RUE o) 2RER EDIRATAN g) 2R%e
2. fau fomer )
) F= fam o=

¥) faua f&a ac.



SLR-B - 11 4- VYA

3. i S o= %0
H) ugrEH fom

o) Gl
¥, Torm=ht SRt Tt . %0
feRan
o gfafaefaei=h smemeEfear T . %0
Y. STRYFAT T (A asfavareh rl agd! T . %0
feRam

1qETd fora=h sTed! Tse . 90




UV SLR-B -12

Seat
No.
B.Com. — | (Semester — |) (Old) Examination, 2014
ECONOMIC AND COMMERCIAL GEOGRAPHY
Economic Geography
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures to the right indicates full marks.
3) Neat diagrams and maps must be drawnwherever
necessary.
4) Use of stencils is allowed.

1. Rewrite the following sentences by choosing appropriate alternative : 10
1) Economic Geography is the branch of geography.
a) Human b) Political
c) Social d) Commercial
2) Industryis type of economic activities.
a) Primary b) Secondary
c) Tertiary d) Quaternary
3) Miningisa economic activity.
a) Primary b) Secondary
c) Tertiary d) Quaternary
4) country ranks first in the production of Iron and Steel industry
in the world.
a) UK b) USA
c) Russia d) India
5) country rank first in the production of automobiles in
the world.
a) India b) Japan
c) USA d) UK

P.T.O.
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6) is the everlasting resources of wealth.
a) Water b) Animal
c) Plant d) Mineral

7) is a father of Economic Geography.
a) G.D. Chisholm b) R. S. Smith
c) Hetner d) Blache

8) Most of the people in the world are engaged in activities.
a) Primary b) Secondary
c) Tertiary d) Quaternary

9) farming is based on rain water.
a) Dry b) Humid
c) Commercial d) Mixed

10) factor is dominating on location of Iron and Steel industry.
a) Capital b) Raw material
c) Labour d) Market

2. Write short notes : 10

A) Nature and scope of Economic Geography.

B) Need of conservation of resources.

3. A) Roll of Economic activities in National Economy. 10

B) Distribution of wheat crops in India.

4. 1) Give an account of cotton textile industry in Japan and India. 10
OR

2) Write in detail about economic activities of man.

5. 1) Explain factors influencing on localization of industries. 10
OR

2) Define Economic Geography and explain branches of Economic Geography.
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Seat
No.

B.Com. — | (Semester — II) Examination, 2014
ENGLISH (Compulsory) (Old)
Realms of Gold
Day and Date : Thursday, 27-3-2014 Max. Marks : 50
Time:11.00a.m. to0 1.00 p.m.

N. B. : i) Allquestions are compulsory.
ii) Figures to the right indicate full marks.

1. Fillin the blanks in the following sentences by choosing correct alternatives. 10

1) Vivekananda threw himself upon

a) Religious Society b) Delegates
c) Fate d) Luck

2) Advertising man human beings to want things they don’t want.
a) reduces b) induces c) advertises d) polishes

3) Herman Wouk says that in good old American Slang ‘sell’ means !

a) Profit b) Fraud c) Friend d) Business

4) The business man concerned with contracts will normally learn about their

a) contents b) contacts C) size d) none of the above
5) Um-huh! You talking . Talk on —till you get through.

a) sweet b) true and fair

c) high and mighty d) low and mighty
6) Forlcould see froma away out there Red Champak trees

had done it again.

a) Kilometre b) Inch c) Feet d) Mile
P.T.O.
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7) Plants (produce) their own food through the process
of photosynthesis.

a) produce b) is producing

c) produced d) were producing
8) Pratiksha first (visit) Mizoram in 2001.

a) will visit b) had visit c) visited d) will be visited
9) The kids (sleep) by the time the show began.

a) had slept b) weresleep c) wasslept d) would slept

10) Our train reaches Pune at 10.30 a.m. tomorrow. All the offices
(open) by them.

a) shall open b) will open c) should open d) will have opened

2. Give brief answers to the following questions (any five) : 10
1) Describe the physical journey of Vivekananda.
2) How has advertising degraded art ?
3) What is the greatest evil of advertising ?
4) What is meant by arbitration ?
5) How the landlord responds to his tenant’s request to have his place repaired ?

6) What makes the speaker in the poem angry the day after the first rain ?

3. A) Write short notes on the following (any two) : 4
i) Guarantee in a contract.
i) The speech that Vivekananda gave at the parliament.

iii) A. K. Ramanujan’s attachment to the traditions of India in ‘Ecology’.
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B) Answerany two of the following : 6
i) Write a paragraph on the basis of information given in the following table.
Table : Crime against women (2001-05)

Year | Rape |Molestation | Abduction|Trafficking| Dowry Death| Total
2001 | 16075 34124 14645 8796 6851 80491
2002 | 16373 33943 14506 6598 6822 78242
2003 | 15847 32939 13296 5510 6208 73800
2004 | 18233 34567 15578 5748 7026 81152
2005 | 18359 34175 15750 5908 6787 80979

Source : NCRB crime against women (2001-05)
i) Draw a diagram to show your college campus.

iii) You have to visit New Delhi for office work. Send an e-mail message to
Girikand Travels asking them to make travel arrangements for you. Image
necessary details.

4. Answerany one of the following : 10

i) Draft an advertisement for a new model of a computer which is recently
launched in a market.

ii) You are planning to visit Pune to attend official meeting. Write a letter to
Hotel Lotus, Pune requesting them to book a room for your two days stay
there.

5. Prepare notice and agenda for 3'4 meeting of office Bearers of Dreamland
Co-operative Housing Society. Parel, Mumbai. Imagine business to be discussed. 10
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Seat
No.
B.Com. (Part — I) (Semester — Il) Examination, 2014
PRINCIPLE OF BUSINESS MANAGEMENT (Old)
Day and Date : Friday, 28-3-2014 Max. Marks : 50

Time :11.00 a.m. to 1.00 p.m.

2)

3)

4)

Instructions: 1) All questions arecompulsory.

II) Figures to the right indicate full marks.

1. Choose correct alternative from given alternatives. 10
1) Theory ‘X’ and theory ‘Y’ is given by
a) Maslow b) Herzberg
c) Mc Gregor d) F. W. Taylor
Maslow’s Theory of Motivation is concerned with
a) Work Satisfaction b) Leadership
c) Control d) Human-needs
Sending letters, reports and circulars is a type of communication.
a) Oral b) Written
c) Informal d) None
One who guides and directs other people is — known as
a) Administrator b) Organizer
C) Leader d) Controller

5)

6)

Promotion, responsibility, participation in management etc. are means of
incentives of motivation.

a) Financial b) Non-Financial

c) Regular d) All

In which leadership styles the opinion of all members is considered
a) Democratic b) Autocratic

c) Free-rain d) None

P.T.O.
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7) Change is the process
a) Social b) Economic
c) Continuess d) All
8) Budgetary control is the technique of control.
a) Modern b) Traditional
c) Scientific d) None
9) The ability to shape the attitudes and behaviour of others is
a) Motivation b) Leadership

¢) Communication d) All

10) A process of passing information from one person to another is

a) Direction b) Communication
c) Decision d) None
2. Write short notes : 10

A) Functions of leader.

B) Communication process.

3. Answer in brief : 10
A) What are the Non-financial incentives of motivation ?

B) Explain in brief various techniques of control.

4. What are the various leadership styles ? 10
OR

Explain concept and process of planned change.

5. Define ‘motivation’. Explain motivation — Theory ‘X’ and ‘Y. 10
OR

What are the Emerging horizons of Management in a changing environment ?
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Seat
No.
B.Com. - | (Semester — II) Examination, 2014
FINANCIAL ACCOUNTING (Semester Pattern) (Old)
Day and Date : Saturday, 29-3-2014 Total Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Attemptany one question from Q. No. 4(a) and 4(b).
3) Attemptany one question from Q. No. 5(a) and 5(b).
4) Figures to the right indicate full marks.

1. Choose the correct alternative : 10
1) Bills Receivable as endorsed having been dishonoured are debited to
a) Bills Receivable A/c b) Bills Payable A/c
c) Debtors A/c d) Creditors A/c

2) Under the process of conversion of single entry into double entry system,
following accounts are opened.
a) Cash and Personal Accounts b) Personal and Real Accounts
c) Personal and Nominal Accounts d) Real and Nominal Accounts

3) A personto whom the goods are sent on consignment is called as

a) Consignor b) Consignee c¢) Debtor d) Creditor

4) is sent by the consignor to the consignee along with the goods sent.
a) Accounts Sales b) Proforma Invoice
c) Delivery Challan d) Debit Note

5) Which of the following is not considered as a part of closing stock ?
a) Packing, loading and insurance paid by consignor
b) Inward consignment freight paid by consignee
c) Transport charges upto godown paid by consignee
d) Insurance charges paid by consignee

6) The balance in the goods sent to branches A/c is transferred to
a) Profitand Loss A/c b) Branch A/c
c) Purchase or Trading A/c d) Branch Stock A/c

7) If goods are supplied to branch at 50% above cost, then it would be
on Invoice Price.

a) 331/3% b) 20% c) 25% d) 100%
8) Farm produce consumed by workers is debited to

a) Drawings A/c b) Profitand Loss A/c

c) Capital A/c d) Wages A/c

P.T.O.
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9) Cattle feed purchased is debited to Alc.
a) Crop b) Live Stock c¢) Poultry d) Fishery
10) Aloss which is inherent and which cannot be avoided is termed as
a) Abnormal Loss b) Contingent Loss
c) Normal Loss d) Pure Loss
2. Write short notes on': 10

a) Account Sales and Proforma Invoice.
b) Goods in Transit and Cash in Transit.

3. a) From the following information calculate total commission: 5
i) Cash sales: 1500 kgs @ Rs. 100 per kg.
ii) Credit sales : 500 kgs @ Rs. 120 per kg.
iii) Invoice price Rs. 80 per kg.
iv) Normal commission @ 5%, Del Credere commission @ Rs. 2% and special
commission @ 20% on excess of invoice price.

3. b) M/s. Solapur Textiles, the Head Office, is having a branch at Kolhapur. From
the following information pass Incorporation Journal Entries in the Books of
Head office as on 315!March 2012.

1) Goods sent by Head Office to Branch of Rs. 2,000 on 28t March 2012
received by Kolhapur Branch on 2"d April 2012.

2) Cash remitted by Kolhapur Branch of Rs. 5,000/- on 30" March 2012
received by HO on 374 April 2012.

3) Proportionate General Expenses chargeable to Kolhapur Branch Rs. 500.

4) Depreciation on Kolhapur Branch Machinery Rs. 200. (Machinery A/c
kept in HO books.)

5) Proportionate General Manager’s salary chargeable to Branch Rs. 2,500.

4. a) Mr. Sagar who keeps his books of accounts under single entry system gives
you the following information. You are required to prepare the Trading and
Profit and Loss Account for the year ending 31-3-2012 and the Balance Sheet
as on that date.

Receipts and Payments Accounts for the year ending 315'March, 2012

Receipts Rs. Payments Rs.
To Bal. b/d 6,000 By Creditors 81,000
To Sales 34,000 By Salary 4,500
To Debtors 1,25,000 By Rent 2,000
By Wages 14,000
By Trade Expenses 8,000
By Purchases 6,000
By Drawings 15,000
By Balance 34,500

1,65,000 1,65,000
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The assets and liabilities were as follows :
1-4-2011 31-3-2012

Stock 25,000 36,000

Creditors 13,000 14,000

Debtors 27,000 32,000

Furniture 12,000 12,000

Machinery 40,000 40,000

Provide for depreciation on furniture at 5% and on machinery 10%. Make
provision for doubtful debts at 5% on debtors. 10

4. b) On 15t June 2005, Solapur Coal Trader consigned to Kolhapur Coal Trader
2050 tons of coal costing Rs. 3,07,500/- and paid Lorry freight thereon was
Rs. 82,000.
On 25" December, an Account Sales was received from Kolhapur Coal Trader
showing 1000 tons sold at Rs. 320 per ton, sales expenditure Rs. 23,760/-,
Octroi expenses Rs. 4,000/- and commission 10% on sales.
The consignee enclosed a Bank draft for the proceeds less expenses and
reported a shortage of 50 tons on the whole consignment.

Show Consignment A/c and Consignee’s A/c in the books Solapur Coal
Traders. 10

5. a) A Delhi Merchant has a branch at Chennai to which he sent the goods at a
price so as to show a profit of 20% on invoice price. From the following
particulars draw up the Branch Account and Branch Debtors Account in the

books of Head Office. 10
Sr. No. Particulars Rs.
1 Stock of Goods (1/4/2011 at invoice price) 12,000
2 Stock of Goods (31/3/2012 at invoice price) 15,000
3 Goods sent to Branch at cost 1,00,000
4 Goods returned by Branch at cost 2,000
5 Cash Sales 55,000
6 Total Sales 1,22,000
7 Returns from customers 1,000
8 Bad debts 2,000
9 Discount allowed 500
10 Cash received on Ledger Accounts 60,000
11 Sundry Debtors (1/4/2011) 5,000
12 Sundry Debtors (31/3/2012) 8,500
13 Sundry expenses 10,000

3,93,000
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5. b) From the following Trial Balance of Mr. Kisan, prepare Trading Profit and
Loss A/c with two columns for the year end 315tMarch 2012 and Balance

Sheet as on that date. 10
Trial Balance as on 315t March 2012
Debit Rs. Credit Rs.
Opening Stock : Sales:
— Live stock 61,000 — Milk etc. 30,400
— Paddy 4,000 — Paddy 52,600
— Cattle Feed 2,800 — Live-stock 9,000 92,000
— Fertilizers 2,200 70,000 Creditors 11,800
Purchases: Capital 1,71,200
— Live Stock 11,600
— Fertilizers 2,400
— Seeds 1,200
— Cattle Feed 6.800 22,000
Expenses:
—Crop 8,000
— Live Stock 10,000 18,000
General Expenses 12,000
Tractor 36,000
Land 1,00,000
Cash at Bank 17,000
Total 2,75,000 Total 2,75,000
Adjustments:
1) Closing Stock : a) Live Stock Rs. 60,000
b) Paddy Rs. 3,000
c) Cattle Feed Rs. 1,800
d) Fertilizers Rs. 1,200

2) The Proprietor consumed Milk Rs. 4,800/- and Paddy Rs. 1,200/-.
3) Provide 10% depreciation on Tractor.
4) Cowdung of Rs. 4,000 has been used as manure in Crop Section.
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Seat
No.
B.Com. (Part — I) (Semester - Il) Examination, 2014
BUSINESS ECONOMICS - | (Old)
Day and Date : Tuesday, 1-4-2014 Max. Marks : 50

Time: 11.00a.m. t0 1.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) Neat diagrams should be drawn wherever necessary.

1. Choose correct alternative. 10

1) Production function is a functional relationship between

a) Inputs and output b) Labour and capital
c) Agriculture and industry d) None of the above
2) Law of variable proportions are applicable in period.
a) Short b) Long
c) Medium d) None of the above
3) Iso-quants are to the origin.
a) Convex b) Vertical
¢) Horizontal d) None of the above

4) In perfect competition products are

a) Homogenous b) Heterogenous
c) Equal d) None of the above

5) Product differentiation is a characteristics of

a) Perfect competition b) Monopoly
c) Monopolistic competition d) None of the above

6) Price discrimination is only possible in
a) Oligopoly b) Duopoly
c) Monopoly d) None of the above
P.T.O.
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7) The term ‘“Transfer earning’ is putforth by

a) Prof. Joan Robinson b) Dr. Marshall

c) Adam Smith d) None of the above
8) Risk bearing theory of profit is putforth by

a) Prof. Knight b) Prof. Hawley

c) Prof. Schumpeter d) None of the above

9) Break even analysis is useful for
a) Increase in production b) Increase in sale
c) Control and regulation of profit ~ d) All of the above

10) Liquidity preference theory of interest is related with
a) Demand for money b) Supply of money
c) Quantity of credit money d) None of the above

2. Write short answers.
a) Explain the law of diminishing returns to scale.

b) What are the features of monopoly ?

3. Write short notes on.
a) Gross profit and net profit.

b) Importance of Break Even Analysis.

4. Write answer of any one :
a) What is perfect competition ? How the price is determined under perfect
competition ?

b) Explain the Liquidity Preference theory of interest.
5. Write answer of any one :
a) What are the main features of monopolistic competition ?

b) Explain the innovation theory of profit.

10
10

10

10
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Seat
No.

B.Com. - | (Semester - II) Examination, 2014
HINDI (Old)

Day and Date : Wednesday, 2-4-2014
Time : 11.00 a.m. to 1.00 p.m.

Total Marks : 50
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Seat
No.

B.Com. (Part - I) (Semester - Il) Examination, 2014
URDU (Compulsory)
Lesson, Poetry and Communication
Book : Zanque-E-Adab
Day and Date : Wednesday, 02-04-2014 Total. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.
Instructions : i) All questions are compulsory.

ii) Figures to the left indicate full marks.
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A business man cannot get information about the business
transactions from the journal. For example, the amount receivable
from debtors, the amount payable to creditors, total payments on
any head of expenditure etc. In order to get information about the
above, a ledger has to be maintained.
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B.Com. (Part — I) (Semester — II) Examination, 2014

KANNADA (Old)

Day and Date : Wednesday, 2-4-2014
Time: 11.00 a.m. t0 1.00 p.m.
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Seat
No.
B.Com. | (Semester — Il) Examination, 2014
BUSINESS MATHEMATICS (Old)
Day and Date: Thursday, 3-4-2014 Max. Marks : 50

Time: 11.00a.m. t0 1.00 p.m.

Instructions : 1) Graph papers will be supplied on request.
2) Use of soundless calculator is allowed.
3) All questions arecompulsory.
4) Figures to the right indicate full marks.
5) Assume suitable data if necessary.

1. Select the most suitable answer for the following : 10

i) The function f (x) = 2x + 3x3 is an

a) even function b) odd function
c) even as well as odd d) none of these

ii) The value of f'(x) at x = a is denoted by

df dy
a) f'(a) b) ax c) ax d) all of the above
iii) The rule a_ d_yxd_u is known as
dx du dx
a) parametric function b) inverse function
c) chainrule d) none of the above

iv) When both the variables are expressed in terms of a same third variable then
the function is known as

a) inverse function b) implicit function
c) first principle d) parametric function
v) Whenever x is in the index, we take on both sides in the first
instance then differentiate.
a) square root b) logarithm c) constant d) coefficient

P.T.O.
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vi) lim [x2 +2X + 5] =

x—5
a) 25 b) 35 c) 40 d) 32
vii) The process of integration of the product of two functions is known as
a) integration by subtraction b) integration by substitution
c) integration by part d) integration through partial fractions

viii) The integration of 2 with respect to x is
a) 2x2 + ¢ b) —+cC c) 0 d) 2x + ¢
ix) The integration of e™* with respect to x is

a) eMx b)

d) me™M

x) Ifyis expressed in terms of x explicitly, then the function y = f (x) is called as
a) implicit function b) explicit function
c) identity function d) none of these

2. Answer the following :
. dy N .
A) Ify = f (x) = x2 find dx by using first principles. 5

B) Draw the graph of f (x) = x2 + 3 by takingx=-3,-2,-1,0, 1, 2, 3. 5
3. A) Evaluate

lim | x®—4x+3
) x=>1y2 3542 |

o lim |1 2
i) X—>2[x—2_x2—2x] S
B) Evaluate

lim {\/XZT—\/E] lim {M}



4. Attempt (A) or (B) :

A) i) Prove that Tf (a-x)dx = [f(x)dx
0

0

X

Vx® +1

dx.

3
i) Evaluate
2

iii) If y = 2e73% + 3e?X find the value of d

SLR-B - 22
10

B) i) Find the cost function and the average cost function if the marginal cost
function is given by MC = 3x2 — 2x + 7 and the fixed cost in Rs. 200.

ii) If the demand law is p = 48 — x2 find the maximum revenue.

5. Attempt (A) or (B) :

A) i) If uandv are differentiable functions of x, then show that

d du dv
— (U+v)=—+—.
dx dx dx

d
ii) Find d—i for y =v/3x% —2x+5 .

1

iii) Find | |
x log x

dx.

B) i) Find the maxima of y = x3 — 3x2 — 9x + 12.

ii) Evaluate }L dx
0 Vx+48-x

10
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Seat
No.
B.Com. (Part — I) (Semester — II) Examination, 2014
GEOGRAPHY (Old)
Economic and Commercial Geography
Commercial Geography
Day and Date : Thursday, 3-4-2014 Total Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Neatdiagrams and map must be drawn wherever necessary.
3) Figures to the right indicate full marks.
4) Use of stencilsis allowed.

1. Rewrite the following sentences by choosing appropriate words : 10
1) In Russia 85% goods transport done by way.
a) Rail b) Road c) Water d) Air
2) In Maharashtra tourism are developed because of
a) M.S.R.D.C. b) M.I.D.C. c) M.T.D.C. d) M.S.F.C.
3) Varanashitourism centre are located on river bank in India.
a) Ganga b) Yamuna c) Godhavari d) Kaveri
4) Road transportation in India are divided in grades.
a) 4 b) 2 c) 3 d 1
5) types of transportation is very costly.
a) Air way b) Waterway c¢) Railway d) Road way
6) OPEC is established in the year
a) 14 Nov. 1960 b) 12 Nov. 1960
c) 14 Nov. 1958 d) 12 Nov. 1945

P.T.O.
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7) The first rail line started in the cities in India.
a) Mumbai-Thane b) Mumbai-Pune
c) Mumbai-Delhi d) Pune-Solapur

8) Pipe transportation is developedin

a) U.S.A. b) Japan c) India d) China
9) Marketing geography is the new branch of geography.
a) Agricultural b) Commercial
¢) Human d) Urban
10) Inland water ways are more developed in continent.
a) Africa b) Asia c) Europe d) Australia
2. Write a short answer : 10

1) Explain the nature of tourism in India.

2) Describe the position of Indias air ways.

3. Write a short answer :

i) Explain the economic importance of tourism. 5

ii) Give an account of railway transport in India. 5

4. Define the tourism and explain the influencing factors. 10
OR

State the object of OPEC and UNCTAD. 10

5. Explain the nature and scope of commercial geography. 10
OR

Give an account of air transport in India. 10
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Seat
No.
B.Com. (Part — Il) (Semester - lll) Examination, 2014
ENGLISH (Compulsory)
Day and Date : Tuesday, 15-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.
Instructions : i) Allquestions are compulsory.
ii) Figures to the right indicate full marks.
1. Choose the right answer from the alternatives given below and fill in the blanks. 10

1) Pico lyer visited Ladakh which is in the region.

a) Vidharbian b) Himalayan c) Southern d) Western

2) “The Three Dancing Goats” is a folk tale told by
a) Landlord b) Oldwoman c¢) BabaTrinco d) Pico lyer

3) AnuragMathur has shown the flaws in the Indian

a) Political System b) Education System
c) Economical System d) Social System
4) Sindhu asked for a barrel of food stuffs and a ring to the landlord’s
daughter.
a) metal b) gold c) silver d) bronze

5) Inthe poem ‘Mending Wall’ the two farmers mended the wall every
season.

a) Winter b) Autumn c) Spring d) Rainy
6) ‘l Too’ is written by

a) Robert Frost b) Rabindranath Tagore

c) Langston Hughes d) N.R. Murthy

P.T.O.
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7) The three colours of stones on the ring were white and bright
green.
a) black b) red c) yellow d) light green

8) Shamis (play) the violin.
a) played b) hasplayed c) playing d) to play

9) Geetasaw a dog; In the sentence the underlined verb is a verb.
a) Traditional b) Transitive c) Regular d) Intransitive

10) The window was open when he left for Pune.
a) Slight b) Slighting c) Slightly d) Slighted
2. Answerany five of the following questions intwo or three sentences. 10

1) What did the first European traveller in Ladakh set up ?
2) What does half of the population of Ladakh consist of and why ?
3) What made Sindhu accept the old woman’s deal ?

4) What are the differences between Gopal’s Indian classmates and his American
Peers ?

5) How did Shindu sell the three goats to the landlord’s daughter ?

6) What did Gopal find new and exciting about the American System of Education ?

3. A) Answerany two of the following questions in about fifty words each. 6
1) What is the theme of the poem ‘l Too’ written by Langston Hughes ?
2) Explain the statement “Good fences make good neighbours”.
3) What is the understanding between the poet Robert Frost and his
neighbour for spring time ?
B) Answer briefly any two of the following questions. 4

1) You are Ramesh Lad and you have organised of tele conference of regional
managers of your company to discuss the reasons for decrease in sales
of the company product. Invite their suggestions to increase the sale.
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2) Write a voice mail message to your lawyer Mr. Mukesh Deshpande who
is out of station, you want his appointment next week.

3) You are Mr. Rakesh Mehta Chartered Accountant. You are out of station
for a week . Write a voice mail message for your clients.

4. Answerany one of the following.

1) Write a letter to the showroom manager, Geeta Electronics, Pune asking for
a catalogue and price list of electronic goods.

2) As Ashok Patil, whose scooter was involved in an accident. Write a letter to
Bajaj Insurance Pvt. Ltd., Pune claiming insurance for damage to the vehicle.

5. Write a review on a popular film you have recently seen.

10

10
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Seat
No.
B.Com. (Part — Il) (Semester — lll) Examination, 2014
CORPORATE ACCOUNTING
Day and Date : Saturday, 19-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N.B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) Use of calculator is allowed.

1. Choose the correct alternative : 10

1) The part of issued share capital which is agreed to take up by the public is

known as capital.
a) Authorised b) Issued
c) Subscribed d) Paidup
2) A days notice of demand must be issued before forfeiture of
shares.
a) 7 b) 14 c) 21 d) 30
3) shareholders are not real owners of the company.
a) Preference b) Equity
c) Equity and Preference d) All of them

4) Accounting Standard 2 (AS-2) relates to

a) Depreciation accounting

b) Disclosure of Accounting Policies
c) Valuation of Inventories
)

d) Accounting of Fixed Assets

P.T.O.
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5) Expenses which are payable but not paid upto year end are known as
expenses.

a) Capital b) Revenue

c) Prepaid d) Outstanding

6) Goodwill is shown in the schedule of
a) Fixed Assets
b) Current Assets
c) Investment

d) Miscellaneous Expenses

7) Gross Profitis divided in ratio.
a) Time b) Sales
c) Miscellaneous d) Default

8) Amount paid in anticipation of call is known as

a) Callsin advance b) Calls in arrears
c) Share Premium d) Discounton shares

9) expenses divided in time ratio.
a) Advertisement b) Bad-debts
c) Salary d) Discount

10) Dividend declared between two annual general meeting is called as

dividend.
a) Proposed b) Actual
c) Final d) Interim
2. Write short notes : 10

a) Forfeiture of shares

b) Preliminary Expenses.
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3. a) ALtd. Company issued equity shares of Rs. 100 each at a premium of
Rs. 20 per share payable as follows :

On application Rs. 20

On allotment Rs. 50 (including premium)
On First Call Rs. 30

On Final Call Rs. 20

Mr. X’ holding 100 shares did not pay first and final call money. Hence his
shares were forfeited. The forfeited shares were re-issuedto Mr. Y @ Rs. 80
per share.

Pass journal entries to record the forfeiture of the shares in the books of the
company. 5

b) XYZ Ltd. was registered on 1t July 2011 to take over the business of
Surya Ltd. as from 15t April 2011. The accounts of the company are prepared
for the year ending on 31 March 2012. Total turnover for the year amounted
to Rs. 5,00,000 of which Rs. 1,25,000 related to the period from 15t April 2011
to 30 March 2011.

Calculate period ratio and sales ratio. 5
4. Veermati Ltd. having suffered heavy losses, decided to issue 1000 shares of
Rs. 100 each at a discount of 10% . Having passed resolution to that effect

getting sanction of the court for that, it invited applications for the shares. The
amounts were payable as under :

On application Rs. 25
On allotment Rs. 25 (after adjusting discount)
On CallRs. 40

Total 1200 applications were received and shares were duly allotted to 1000
applicants. The application money on balance shares being refunded.
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All the amounts were duly received subject to exception of Mr. Nagesh holding
10 shares, failed to pay the allotment and call money. His shares were forfeited.
These shares were re-issued to Mr. Suraj as fully paid receiving cash
Rs. 80 per share.

Pass the journal entries in the books of the company. 10
OR

ABC Ltd. was incorporated on 1t March 2010 to acquire a business as from
1st Jan. 2010. The purchase consideration was agreed at Rs. 60,000 to be satisfied
by issue of 3000 equity shares of Rs. 10 each fully paid and Rs. 30,000, 6%
Debentures. The following is the Profit and Loss A/c for the year ended
31stDec. 2010:

Profitand Loss A/c
Dr. Cr.
Particulars Rs. Particulars Rs.
To Salaries 30,000 By Gross Profit 72,600
To Office Expenses 2,400
To Rent 2,100
To Selling Expenses 6,800
To Carriage Outward 1,100
To Debenture Interest 1,350
To Dividend 3,000
To Director’s Fees 2,000
To Preliminary Expenses 2,870
To Interest on purchase consideration 900
To Net Profit 20,080

72,600 72,600
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Additional Information :

i) Sales are of one commodity at a fixed price and the average monthly sales
for first two months was one-half of the average of the monthly sales for the
remainder of the year.

ii) The shares and debentures were issued to vendor on 1%t April 2010.

iii) Interest at 6% per annum was paid on the purchase consideration from
1stJan. 2010 to the date of settlement.

You are required to profit or loss prior and after in corporation.

5. Following is the Trial Balance of ‘X’ Ltd. Co. as on 31stMarch 2012 :

Particulars Dr. Rs. Cr.Rs.

Equity Share Capital - 7,50,000
(Rs. 75 paid)

Share Premium — 1,00,000

Land and Building 5,00,000 —

Plant and Machinery 8,00,000 =

Depreciation Provisions

Land and Building - 1,00,000

Plant and Machinery - 1,20,000
General Reserve 1,40,000
6% Debentures - 50,000
Investment

(Eq. shares in Ltd. Co. at cost) 1,00,000 -
Stockason 31.3.2012 70,000 -
Cash at Bank 23,000 -

27

10
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Cashin Hand 800
Profit and Loss A/c

(Bal. as on 1=tApril 2011) -
S. Creditors -

Income Tax deducted at source 1,200

Establishment Expenses 52,000
Rent and Taxes 2,400
Debenture Interest 1,500
Audit Fees 3,000
Director’s Fees 6,000
Sundry Expenses 8,700
Dividend (Gross) =

Gross Profit -
15,68,600

Additional Information:

25,000

60,000

11,200
2,12,400

15,68,600

i) Authorised capital of the company is Rs. 10,00,000 divided into 10,000 equity

shares of Rs. 100 each.

i) Market value of the investment as on the date of Balance-Sheet is Rs. 85,000.

iii) Depreciation is to be provided on written down value of land and building at

5% and plant of machinery at 15%.



VYA 7- SLR-B-27

iv) Provision for taxation is to be made at 50% of the net profit.
v) Directors propose to transfer Rs. 10,000 to General Reserve.

You are required to prepare Profit and Loss A/c for the year ended

31 March 2012. 10
OR

Prepare Balance Sheet of ‘X’ Ltd. Co., for the year ended 31stMarch 2012 from

the above Trial Balance (Given in Question No. 5). 10
Additional Information :

Surplus carried forward from Profit and Loss A/c to Balance Sheet
(Sch. No. 2 Reserve and Surplus) for the year ended 31 March 2012
amounted to Rs. 28,250.
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Seat
No.
B.Com. | (Semester — 1) (Old) Examination, 2014
FINANCIAL ACCOUNTING
Day and Date : Saturday, 29-3-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N.B. : 1) Attemptall questions.
2) Out of Question No. 4 (a) and Question No. 4 (b) solve any one.
3) Out of Question No. 5 (a) and Question No. 5 (b) solve any one.
4) Figures to the right indicate full marks.

1. Choose the correct alternatives and complete the given sentence : 10

1) Indian Co-operative Movement was started in India to free the farmers from
the clutches of

a) Bankers b) Private money lenders
c) Creditors d) Government

2) No part of the profits of a co-operative society is to be appropriated without
the approval of the

a) Management b) Board of Directors
c) Annual GeneralMeeting d) Central Govt.

3) That part of unsecured creditors which has a priority over other creditors is

called
a) Sundry creditors b) Loan creditor
c) Preferential creditor d) Other creditor

4) Purchase consideration receivable from Ltd. company is credited to

A/c by the firm.
a) Ltd.Company’s  b) Realisation c) Bank d) Shares
5) help management in discharging its functions of planning, control,
decision making etc.
a) Financial Accounting b) Cost Accounting
c) Social Accounting d) Management Accounting

P.T.O.
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6) Under the Presidency TownsInsolvency Act, rent due to landlord is preferential
for a period of

a) Two months b) Onemonth c¢) Three months d) Four months

7) Income Tax dues are

a) Secured creditors b) Unsecured creditors
c) Preferential creditors d) Fully secured creditors

8) Assets and liabilities of the firm are transferred to on conversion
of partnership firm.
a) Ltd. Companies A/c b) Cash A/c
c) Realisation A/c d) Sharesin Ltd. Co. A/c

9) Deposit received by credit Co. op. Society are shown on side.
a) Asset b) Liability
c) Profit and Loss A/c Debit d) Profit and Loss A/c Credit

10) An person is one who is not in a position to pay his debts in full.

a) Solvent b) Insolvent c) Indian d) American

2. Answer the following :
A) Write a note on, Branches of Accounting. 5

B) If the purchasing company agrees to take over from the partnership firm only
assets, the purchasing company agrees to take over machinery at
Rs. 1,05,000, Furniture at Rs. 30,000, Stock at Rs. 60,000, Debtors at Rs. 60,000
subject to provision for bad debts at 5% and Goodwill at Rs. 30,000. 5

What will be amount of purchase consideration ?
3. Answer the following :

A) Write a note on, Accounting Conventions.
B) Mr. Raja filed his petition in bankruptcy. The amount due are as follows. 5
i) Two months wages of the two workers Rs. 250.
ii) A clerks salary for 5 months Rs.300.
iii) Rent for one month Rs. 300.

Prepare only list ‘D’ in statement of Affairs, Business place of Mr. Raja is in
Mumbai city.



LRI 3- SLR-B - 3

4. Answeranyone: 10

a) Jay and Padamwere equal partners. Their Balance Sheet as on 315t March, 2013
was as follows :

Balance Sheet as on 315t March, 2013

Liabilities Rs. Assets Rs.
Sundry Creditors 50,000 Cash at Bank 20,000
Capital - Stock in hand 60,000
Jay 80,000 Debtors 50,000
Padam 60,000 1,40,000 Furniture 10,000
Investments 20,000
Machinery 30,000
1,90,000 1,90,000

The partners decided to sell the firms business to Sunshine Company Ltd.
except Investments (Which were distributed between partners) the other Assets
and Liabilities were taken over by the company. The other Assets were
valued at Rs. 1,94,000. The Bank Account was not taken over. The company
issued Rs. 1,00,000 in shares and the balance in cash as purchase
consideration Rs. 1,000 were paid as realisation expenses.

Show the Realisation A/c, the Bank A/c, and Capital A/c’s of partners.
4. b) You are required to prepare Profit and Loss Account for the year ended

318t March, 2013 from the following Trial Balance of Vikas Co-operative
Credit Society and other information given.

Particulars Dr. Particulars Cr.
Rs. Rs.
Cashin hand 350 Share Capital 3,75,000

Cash at Bank 7,000 Reserve Fund 25,000
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Fixed Deposit with
M.S.C. Bank 77,500
Furniture 3,500
Interest on Deposit 40,000
Interest due on Loans 4,000
Salaries 15,000
Office Rent 2,500
Printing and Stationery 200
Travelling Expenses 300
Insurance Premium 500
Contribution to Provident

Fund 1,000

Loan due from Members 15,00,000
16,51,850

Additional Information :

b

e) Outstanding salary Rs. 150.

f) Advance salary Rs. 250.

Audit fees due Rs. 1,500.

)
)
)
)
)
)
9)
)

Members Deposits 11,23,875
Unpaid Dividend 1,050
Dividend Equalisation

Reserve 9,000
Staff Provident Fund 10,000
Profit and Loss
Appropriation A/c Balance 15,500
Interest 89,000
Renewal Fees 2,000
Miscellaneous Income 150

Co-operative Development

Fund 1,025
Education Fund 250
16,51,850

a) Interest accrued on members deposit Rs. 2,500.
Interest accrued due but not received Rs. 1,000.
¢) Addition to Furniture during the year Rs. 500.

d) Provide depreciation at 10% on closing balance of furniture.

h) Authorised capital : 50,000 Shares of Rs. 10 each.
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i) Directors have recommend the following appropriations for the current year.

i) Dividend to shareholders at 5%.

i) Required amount to Reserve Fund.

iii) Transferto Co-operative Development Fund at 5% of net profit after

contributing to reserve fund.
iv) Transfer to dividend equalisation reserve Rs. 1,000.
v) Addition to building fund Rs. 5,000.

5. Answerany one.

10

a) From the following information, prepare a statement of Affairs in respect of

Mr. A who filed his petition on 31-3-2013.

Particulars
Sundry creditors
Creditors partly secured by lien on shares
Liability on bills discounted
(estimated to be dishonoured Rs. 3,000)
Mortgage on Building
Creditors for rent, taxes and salaries
Book-debts : Good
Doubtful (estimated to produce Rs. 2,000)
Bad
Stock (estimated to realise Rs. 30,000)
Shares (estimated to produce Rs. 12,000)
Cash at Bank
Bills receivable

Building (valued at Rs. 16,000)

Rs.
60,000
35,000

6,000
10,000
3,000
20,000
5,000
4,000
40,000
15,000
1,000
1,500
18,000
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Machinery (estimated to produce Rs. 4,000) 8,000
Fixtures (estimated at Rs. 1,500) 2,000

Debentures in Textile Mills Ltd.;

(estimated at Rs. 3,000) 3,500
Loss on speculation 9,000
Loss through betting 6,000

On 1-4-2008 he had a capital of Rs. 35,000. The business resulted in a profit
of Rs. 30,000 in first three years and a loss of Rs. 2,500 in the last two years
after allowing Rs. 1,500 for interest on capital each year. The total withdrawals

amounted to Rs. 45,000 during the period.

From the following Trial Balance of Sanmitra Credit Co-operative Society
Ltd., Pune, prepare Balance Sheet as on 315t March, 2013 in the prescribed

form.

Trial Balance as on 31t March 2013

Debit Balances Rs. Credit Balances
Loan to members 3,50,000 Share capital
Contribution to staff Reserve Fund
Provident Fund 240 Members deposit
Insurance premium 520 Unpaid dividend

Travellingand conveyance 1,710  Staff Provident Fund
Printing and stationery 480 P &L A/c (1-4-2012)
Salary toManagingDirector 6,000 Interest

Salary to staff 13,600 Renewal fees

Interest Loan 960 Sundry Income

Rs.
1,00,000
9,000
2,70,000
200
2,400
3,500
43,000
400

320



LR 7- SLR-B - 3

Interest on Deposit 9,600 Co-op. Development Fund 2,000
Office furniture 840  Education Fund 600
Fixed deposit with

Co-operative Bank 30,000
Cashinhand 2,180
Cash at Bank 15,290

4,31,420 4,31,420

Adjustments :

y
2

Interest due on members deposit Rs. 1,000/-.
Interest due but not received Rs. 2,400.

3) Salary outstanding on 315! March, 2013 Rs. 600.
4) Audit fees unpaid Rs. 400.

5) Authorised capital 10,000 shares of Rs. 20 each.
6) Directors propose to pay dividend 2%.

7) Depreciate furniture by 5%.

)
)
)
)
)
)
)
)

8) Net Profit for year ended 315t March, 2013 is Rs. 10,968.
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Seat
No.
B.Com. - Il (Semester — IV) Examination, 2014
ENGLISH COMPULSORY
Keeping Pace
Day and Date : Friday, 4-4-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

N.B. : i) Allquestions are compulsory.
ii) Figures to the right indicate full marks.

1. Choose the right answer from the alternatives given below : 10
1) ‘Uncle Podger Hangs a Picture’ is written by
a) Langston Hughes
b) R. K. Narayan
c) Jerome K. Jerome
)

d) R. K.Laxman

2) C.V.Raman used to carry optical tools like a telescope, a spectroscope and
a to observe the sea.
a) prism b) DVD c) harddisc  d) pendrive

3) Sudha Kulkarni was an engineer in
a) TEMCO b) TESCO c) TERCO d) TELCO
4) Rabindranath Tagore’s ‘Where the Mind is Without Fear is taken from

a) The Gardner

b) Crescent Moon

c) Gitanjali
d) The Lotus Eaters

5) Shakespeare’s ‘The Seven Ages of Man’ is an extract from
a) As You Like It b) Seven Samurai

c) SevenDeadly Sins d) The Secret

P.T.O.
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6) The phrase ‘narrow domestic walls’ suggests

a) boundaries of caste and creed
b) very short passage

c) narrow walls

d) family walls

7) Three hours later, she (wake) in the recovery room.
a) waked up b) has woken up
c) wake up d) woke up

8) Raghu (be) going Mumbai tomorrow.
a) was b) shall c) is d) could

9) Saralooked to her college
a) happily b) happiness
c) happy d) none of the above

10) My brother-in-law arrived yesterday.
a) late b) lately
c) latest d) none of the above

2. Answer any five of the following questions intwo to three sentences each. 10

1) Comment on the humour represented in ‘Uncle Podger Hangs a Picture’.
2) Draw the character sketch of Uncle Podger.
3) Which factors helped infosys to grow faster than its competitors ?

)

4) How did N. R. Narayan Murthy take the Indian software industry to a global
platform ?

5) Describe Raman’s attempts to prove the sky is blue.
6) How Keen and Porter experimented with the optics ?

3. A) Answer any two of the following : 6

1) Discuss on the themes represented in Tagore’s ‘Where the Mind is Without
Fear'.

2) Bring out the spiritual qualities of Tagore’s ‘Where the Mind is Without
Fear'.

3) Explain the symbolic significance of Shakespeare’s ‘The Seven Ages of

Man'.
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B) Rewrite the following paragraph making necessary corrections in the use of
capitals and punctuations (any two).

1) Education system around the world have been influenced by the global
educational policies as developed by international institutions such as
Unesco, Unicef and the world Bank.

2) Our education system was excellent because of teachers like Rishi vashist,
maharshi Vishwamitra, Maharshi valmiki and Chanakya etc who all still
hold high respect in our society.

3) literature, Mathematics Philosophy, Science etc. flourished during its
heydays. india was a great centre of education for the world ?

4. Answerany one of the following :

1) Imagine that you are interviewing a social reformer for your college magazine.
Draft 8-10 questions and the possible responses for the interview.

2) Imagine that you have applied for the post of sales executive and asked to
attend an interview. Draft 8-10 questions that you could be asked and write
them along with your possible responses.

5. Answer the following question :

Imagine that you are the convener of Sport Committee of a reputed college
formed for planning the ‘Sport Day’ at the college campus. Draft exchanges/
transcript of the meeting including convener’s opening remarks, stating purpose
of the meeting, proposals and clarifications etc.

10

10
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B.Com. - Il (Semester — IV) Examination, 2014
CORPORATE ACCOUNTING

Day and Date : Wednesday, 9-4-2014
Time: 11.00 a.m. to0 1.00 p.m.

N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of calculators is allowed.

1.Choose the correct alternative :

1) Debenture is a type of

a) Borrowed
c) Equity

2) Increase in working capital is

capital.
b) Owned

d) Preference

of fund.

a) Increase

c) Constant

3) Current Assets Minus

b) Decrease

d) None of these

a) Current liabilities

c) Investment

4) Discount onissue of debentures is

b) All liabilities
d) Capital

loss.

a) Actual

c) Revenue

b) Preliminary
d) Capital

=Working capital.

Max. Marks : 50

10

P.T.O.
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5) When the term fund is taken as cash, the statement is called as

a) Working capital statement
b

)
c) Funds flow statement
)

d

Revenue statement

Cash flow statement

6) In case of voluntary winding up a liquidator is appointed by the

a) Board of Directors
b

)
c) Government
)

d

Members

Court

7) In case of preference shares, rate of dividend is

a) Increasing b) Decreasing

c) Fixed d) Not fixed

8) Liquidators final statement is prepared

a) In all modes of winding up
b) Voluntary winding up

c) Only in case of compulsory winding up
d) None

9) Unless otherwise stated debentures are presumed to be

a) Unsecured loan
b

) Secured loan
c) Current liabilities
)

d) Current assets
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10) Fairvalue =

Market value — Intrinsic value

a) 5
) Market value + Intrinsic value
2

Market value
2

Intrinsic value
2

2. Write short note (any two) : 10
a) Liquidators remuneration
b) Preference share
c) Redemption of debentures.
3. A) A Ltd. Company provide you following information :
14% Preference share capital Rs. 5,00,000
(Shares of Rs. 100 each)

10,000 Equity shares of Rs. 100 each Rs. 10,00,000
Reserves Rs. 5,00,000
12% debentures Rs. 5,00,000

The profit of the company after taxation is Rs. 3,40,000, for equity shares of
companies in the same class of business yield is 20%.

Ascertain the market value of each equity shares. 5
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B) From the following information prepare a statement showing changes in working

capital :
Balance Sheet
Liabilities 2011 2012 Assets 2011 2012
(Rs.) (Rs.) (Rs.) (Rs.)

Share capital 4,50,000 4,50,000 Fixed Assets 4,00,000 3,20,000
Reserve 3,00,000 3,10,000 Investment 50,000 60,000
P&LA/ 56,000 68,000 (Non current)
Creditors 1,68,000 1,34,000 Inventories 2,40,000 2,10,000
8% debentures 75,000 10,000 Debtors 2,10,000 4,55,000
Mortgage loan - 2,70,000 Bank 1,49,000 1,97,000

10,49,000 12,42,000 10,49,000 12,42,000

5

4. The following schedule shows the Balance Sheet in the condensed form of
Sanjeev Ltd.

Assets 1-1-2012 31-12-2012
Rs. Rs.
Cash and Bank 45,000 45,000
S. Debtors 33,500 21,500
Temporary investment 55,000 37,000
Prepaid expenses 500 1,000
Stock in trade 41,000 53,000
Land and building 75,000 75,000
Machinery 26,000 35,000

2,76,000 2,67,500



Liabilities

S. Creditor’s

Outstanding expenses
8% debentures
Depreciation fund
Reserve for contingencies
Profit and Loss A/c

Capital

The following information is also available :

1) 10% dividend paid in cash.

Rs.
51,500
6,500
45,000
20,000
30,000
8,000
1,15,000

2,76,000

SLR-B -33

Rs.
48,000
6,000
35,000
22,000
30,000
11,500
1,15,000

2,67,500

2) New machinery for Rs. 15,000 was purchased but old machinery costing
Rs. 6,000 was sold for Rs. 2,000. Accumulated depreciation was Rs. 3,000.

3) 8% Debentures of Rs. 10,000 were redeemed by purchase from open market

@ 96 for a debenture of Rs. 100.

4) Investment costing Rs. 18,000 were sold at book value.

You are required to prepare cash flow statement for the year ending

31-12-2012.
OR

10
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Following is the Balance Sheet of Janata Ltd. as on 315t March 2012.

Balance Sheet as on 31-3-2012

Liabilities Rs. Assets Rs.
Issued Capital Block Capital 5,00,000
40,000 shares of Current assets 2,00,000
Rs. 10 each 4,00,000 Goodwiill 40,000
G. Reserve 90,000
P&LA/c 20,000
5% debentures 1,00,000
Current liabilities 1,30,000
7,40,000 7,40,000

On 318t March 2012 the block capital was independently valued at Rs. 5,50,000
and goodwill at Rs. 50,000. The net profit for the last three years were
Rs. 51,600, Rs. 51,650 and Rs. 52,000 of which 20% was placed to reserve, this
proportion being considered reasonable in the industry in which the company is
engaged and where a fair investment return may be taken at 10%.

Compute the value of shares by Net Assets method and Yield method. Also
calculate fair value of each share. 10

5. ‘X’ Ltd. issued 1,000 6% debentures of Rs. 100 each payable as to Rs. 20 on
application, Rs. 30 on allotment, Rs. 40 on first call and balance on final call.
Applications were received for 1,500 debentures, out of which applications for
900 debentures were allotted fully. Applications for 400 debentures were allotted

100 debentures and remaining applications were rejected. All sums due were
received.

Journalise the transactions in the books of ‘X’ Ltd. 10
OR
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Hardluck Ltd. went into voluntary liquidation on 31 March 2012. The Balance
Sheet on that date was as follows :

Balance Sheet

Liabilities Rs. Assets Rs.
Share capital Plant 2,50,000
30,000 shares of Rs. 10 each ~ 3,00,000 Debtor’s 1,45,000
15000, 8% Pref. Stock 1,80,000
Share of Rs. 10 each 1,50,000 Bank 5,000
9% Debentures 1,00,000 P&LA/ 1,50,000
(having floating charge)
S. Creditors 1,80,000

7,30,000 7,30,000

The liquidators realised the assets as stock and plant Rs. 4,20,000.
Debtor’s Rs. 1,90,000.

Preference dividend was paid upto 31-3-2011. Preference share holders carried
the right of payment of dividend (in addition to capital) in arrears automatically
before anything can be paid to the equity share holders. All claim were admitted.
Expenses of liquidation amounted to Rs. 20,000. Debentures were repaid on
30-9-2012 together with interest upto date. The liquidator was to get his
remuneration @ 2% of the amount realise and 2% on the amount paid to equity
shareholders. Prepare liquidators final statement of accounts.
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No.
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B.Com. - Il (Semester — IV) Examination, 2014
CORPORATE ACCOUNTING

Day and Date : Wednesday, 9-4-2014
Time: 11.00 a.m. to0 1.00 p.m.

N.B. : 1) All questions are compulsory.

2) Figures to the right indicate full marks.
3) Use of calculators is allowed.

1.Choose the correct alternative :

1) Debenture is a type of

a) Borrowed
c) Equity

2) Increase in working capital is

capital.
b) Owned

d) Preference

of fund.

a) Increase

c) Constant

3) Current Assets Minus

b) Decrease

d) None of these

a) Current liabilities

c) Investment

4) Discount onissue of debentures is

b) All liabilities
d) Capital

loss.

a) Actual

c) Revenue

b) Preliminary
d) Capital

=Working capital.

Max. Marks : 50

10

P.T.O.
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5) When the term fund is taken as cash, the statement is called as

a) Working capital statement
b

)
c) Funds flow statement
)

d

Revenue statement

Cash flow statement

6) In case of voluntary winding up a liquidator is appointed by the

a) Board of Directors
b

)
c) Government
)

d

Members

Court

7) In case of preference shares, rate of dividend is

a) Increasing b) Decreasing

c) Fixed d) Not fixed

8) Liquidators final statement is prepared

a) In all modes of winding up
b) Voluntary winding up

c) Only in case of compulsory winding up
d) None

9) Unless otherwise stated debentures are presumed to be

a) Unsecured loan
b

) Secured loan
c) Current liabilities
)

d) Current assets
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10) Fairvalue =

Market value — Intrinsic value

a) 5
) Market value + Intrinsic value
2

Market value
2

Intrinsic value
2

2. Write short note (any two) : 10
a) Liquidators remuneration
b) Preference share
c) Redemption of debentures.
3. A) A Ltd. Company provide you following information :
14% Preference share capital Rs. 5,00,000
(Shares of Rs. 100 each)

10,000 Equity shares of Rs. 100 each Rs. 10,00,000
Reserves Rs. 5,00,000
12% debentures Rs. 5,00,000

The profit of the company after taxation is Rs. 3,40,000, for equity shares of
companies in the same class of business yield is 20%.

Ascertain the market value of each equity shares. 5
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B) From the following information prepare a statement showing changes in working

capital :
Balance Sheet
Liabilities 2011 2012 Assets 2011 2012
(Rs.) (Rs.) (Rs.) (Rs.)

Share capital 4,50,000 4,50,000 Fixed Assets 4,00,000 3,20,000
Reserve 3,00,000 3,10,000 Investment 50,000 60,000
P&LA/ 56,000 68,000 (Non current)
Creditors 1,68,000 1,34,000 Inventories 2,40,000 2,10,000
8% debentures 75,000 10,000 Debtors 2,10,000 4,55,000
Mortgage loan - 2,70,000 Bank 1,49,000 1,97,000

10,49,000 12,42,000 10,49,000 12,42,000

5

4. The following schedule shows the Balance Sheet in the condensed form of
Sanjeev Ltd.

Assets 1-1-2012 31-12-2012
Rs. Rs.
Cash and Bank 45,000 45,000
S. Debtors 33,500 21,500
Temporary investment 55,000 37,000
Prepaid expenses 500 1,000
Stock in trade 41,000 53,000
Land and building 75,000 75,000
Machinery 26,000 35,000

2,76,000 2,67,500



Liabilities

S. Creditor’s

Outstanding expenses
8% debentures
Depreciation fund
Reserve for contingencies
Profit and Loss A/c

Capital

The following information is also available :

1) 10% dividend paid in cash.

Rs.
51,500
6,500
45,000
20,000
30,000
8,000
1,15,000

2,76,000

SLR-B -33

Rs.
48,000
6,000
35,000
22,000
30,000
11,500
1,15,000

2,67,500

2) New machinery for Rs. 15,000 was purchased but old machinery costing
Rs. 6,000 was sold for Rs. 2,000. Accumulated depreciation was Rs. 3,000.

3) 8% Debentures of Rs. 10,000 were redeemed by purchase from open market

@ 96 for a debenture of Rs. 100.

4) Investment costing Rs. 18,000 were sold at book value.

You are required to prepare cash flow statement for the year ending

31-12-2012.
OR

10
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Following is the Balance Sheet of Janata Ltd. as on 315t March 2012.

Balance Sheet as on 31-3-2012

Liabilities Rs. Assets Rs.
Issued Capital Block Capital 5,00,000
40,000 shares of Current assets 2,00,000
Rs. 10 each 4,00,000 Goodwiill 40,000
G. Reserve 90,000
P&LA/c 20,000
5% debentures 1,00,000
Current liabilities 1,30,000
7,40,000 7,40,000

On 318t March 2012 the block capital was independently valued at Rs. 5,50,000
and goodwill at Rs. 50,000. The net profit for the last three years were
Rs. 51,600, Rs. 51,650 and Rs. 52,000 of which 20% was placed to reserve, this
proportion being considered reasonable in the industry in which the company is
engaged and where a fair investment return may be taken at 10%.

Compute the value of shares by Net Assets method and Yield method. Also
calculate fair value of each share. 10

5. ‘X’ Ltd. issued 1,000 6% debentures of Rs. 100 each payable as to Rs. 20 on
application, Rs. 30 on allotment, Rs. 40 on first call and balance on final call.
Applications were received for 1,500 debentures, out of which applications for
900 debentures were allotted fully. Applications for 400 debentures were allotted

100 debentures and remaining applications were rejected. All sums due were
received.

Journalise the transactions in the books of ‘X’ Ltd. 10
OR
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Hardluck Ltd. went into voluntary liquidation on 31 March 2012. The Balance
Sheet on that date was as follows :

Balance Sheet

Liabilities Rs. Assets Rs.
Share capital Plant 2,50,000
30,000 shares of Rs. 10 each ~ 3,00,000 Debtor’s 1,45,000
15000, 8% Pref. Stock 1,80,000
Share of Rs. 10 each 1,50,000 Bank 5,000
9% Debentures 1,00,000 P&LA/ 1,50,000
(having floating charge)
S. Creditors 1,80,000

7,30,000 7,30,000

The liquidators realised the assets as stock and plant Rs. 4,20,000.
Debtor’s Rs. 1,90,000.

Preference dividend was paid upto 31-3-2011. Preference share holders carried
the right of payment of dividend (in addition to capital) in arrears automatically
before anything can be paid to the equity share holders. All claim were admitted.
Expenses of liquidation amounted to Rs. 20,000. Debentures were repaid on
30-9-2012 together with interest upto date. The liquidator was to get his
remuneration @ 2% of the amount realise and 2% on the amount paid to equity
shareholders. Prepare liquidators final statement of accounts.
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Seat
No.
B.Com. Il (Semester — IV) Examination, 2014
FUNDAMENTALS OF ENTREPRENEURSHIP
Day and Date : Thursday, 10-4-2014 Max. Marks : 50

Time :11.00 a.m. to 1.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternatives from given alternatives. 10

1) In partnership firm liability of a partner is

a) Limited b) Unlimited c) Equal d) None of the above

2) For starting a new venture it is essential to open a in Bank.
a) CurrentA/c b) SavingA/c c¢) Recurring A/c d) Loan A/c

3) Smt. Nina Malhotra and Smt. Prabha Thakkar are the example of successful

women entrepreneur in the field of

a) Engineering b) FastFood c¢) Export d) Marketing

4) ‘Self-Employed Women’s Association (SEWA) is formed in

year by self employed women’s entrepreneurs.

a) 1962 b) 1978 c) 1985 d) 1972

5) ‘Prosperity to all through Industrialisation’ is the goal of

a) DIC b) MIDC c) IDBI d) MSFC

P.T.O.
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6) The establishment of District Industries Centre (DIC) is in the year
a) 15t Aug. 1962 b) 1stMay 1978
c) 15tMay 1960 d) 18! Oct. 1960

7) Small Industries in Free Trade Zones gets Income-Tax Holidays for

years.
a) 3 b) 4 c) 5 d) 6
8) According to “supply will create Demand”.
a) J.R.D. Tata b) Laxmanrao Kirloskar
c) Dhirubhai Ambani d) Azim Premiji
9) J.R.D. Tata started ‘Air India International Co. in the year
a) 1947 b) 1948 c) 1949 d) 1950
10) A womem entrepreneur means an enterprise owned and controlled by
womens with a minimum financial interest of of the capital.
a) 49% b) 51% c) 33% d) 100%
2. Write short notes : 10

a) Selection of location

b) Objectives of incentives.

3. Write answer in brief : 10
a) Write in brief various forms of ownership.

b) Explain the incentives for export oriented units.

4. State the functions of district industries centre. 10
OR
Explain the problems of women’s entrepreneurs. 10

5. Explain the concept of ‘Excellence in management’ given by Azim Premiji.
OR

State the objectives and functions of MIDC in detail. 10
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Seat
No.
B.Com. Il (Semester — IV) Examination, 2014
STATISTICS
Business Statistics
Day and Date : Friday, 11-4-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

3) Use of soundless calculator is allowed.
4) Graph papers will be supplied on request.

1. Choose the mostcorrect alternative. 10

1) The probability of an event always lies between
a) —1 and +1 b) —co and e
c) Oand 1 d) None of these

2) The faults due to assignable causes

a) Canbe removed b) Cannot be removed
c) Can sometimes be removed d) None of these
3) In Paasche’s quantity index number are used as weights.
a) Current year quantities b) Base year quantities
c) Base year prices d) Current year prices

4) The variance of the Binomial distribution with parameters n and p is

a) \/npq b) np C) npq d) None of these
5) Use of an umbrella in rainy season is included in

a) Seculartrend b) Seasonal variation

c) Cyclic variation d) None of these

P.T.O.
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6) Fora binomial distribution
a) Mean > variance b) Mean < variance

c) Mean =variance d) None of these

7) The area under the normal curve u - 3c and u+ 36 is
a) 0.9 b) 0.0027
c) 0.9973 d) None of these

8) A time series consists of
a) Two components b) Three components

c) Fourcomponents d) None of these

9) If P(A) = 0.3, P(B) = 0.4 and P(A UB) = 0.5 find P(A A B)

a) 0.1 b) 0.2 c) 0.5 d) 0.6
10) Intime series analysis components is totally unpredictable.
a) Seculartrend b) Seasonal variations
c) Cyclical variations d) Irregular variations
2. A) Define time series and state its components. 5

B) For abinomial distribution mean is 30 and S.D. is 5. Calculate n, p and g with
usual notations. 5

3. A) What is control chart ? State different types of control charts. 5

B) From the following data construct Laspeyre’s price index number with base
2005. 5

Item 2005 2009

Price | Quantity | Price | Quantity
40 20 60 30
30 50 20 10
80 20 40 60
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4. Construct X and R charts for the following data : 10
SampleNo : 1 2 3 4 5 6 7 8 9 10

Mean X 20 #4445 P 26 29 13 H#A I 28
RangeR : 23 39 34 05 20 17 21 11 40 10
[Given:n=5, A,=0.58,D5=0,D,=2.11]

OR
4. State important properties of normal distribution. 10
5. Compute 5 yearly moving averages for the following data. 10

Year : 1952 1953 1954 1955 1956 1957 1958 1959 1960

Value : 280 130 350 360 240 180 210 230 280
OR

5. Define Laspeyre’s, Paasche’s and Fisher’s price/quantity index numbers. And
state relation between them. 10
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Seat
No.
B.Com. — Il (Semester — IV) Examination, 2014
MONEY AND FINANCIAL SYSTEM
Day and Date : Saturday, 12-4-2014 Max. Marks : 50

Time: 11.00 a.m. to 1.00 p.m.

N.B.: i) All questions arecompulsory.
i) Figures to the right shows full marks.

1. Objective type questions : 10

Choose the correct alternative and rewrite the sentences.

1) Over draft facility is given only on account.
a) Saving b) Current c) Fixed d) None of the above

2) is primary function of Commercial Banks.
a) Remittance of funds b) Credit creation
c) Travellers cheques d) Telegraphic transfer

3) accounts are opened to encourage the habit of thrift among
people of small means.
a) Saving b) Fixed
c) Current d) None of the above

4) The banks help their customers in transferring funds from one place to another.

a) Conveniently b) Safety
c) Cheaply d) All of the above
5) Incase of transfer, the transfer of funds is quick.
a) Telegraphic b) Malil
c) Draft d) None of the above
6) A customer may deposit cash in a bank, such deposits are known as
deposits.
a) Primary b) Secondary
c) Derivative d) None of the above

P.T.O.
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7) If the primary deposits are large, the credit creation power of the banks will

also be
a) Larger b) Smaller
c) Narrow d) None of the above
8) Accordingto “the bank does not create money out of thin
air, it transmutes other forms of wealth into money”.
a) Walker b) Seligman c) Crowther d) None of the above
9) money is being used instead of cash for day to day
transaction.
a) Plastic b) Credit c) Debit d) None of the above
10) are computer based service systems.
a) Credit money b) Cash money
c) Debit money d) ATMs
2. Answer the following questions. 10

a) Explain the process of closing bank account.

b) Explain the principal of safety.

3. Write short notes : 10
a) Features of Debit card.

b) Remittance of funds.

4. Answerany one of the following : 10
a) Explain the need and importance of technology in banking.

b) Explain the types of an account holders.

5. Answerany one of the following : 10
a) State the functions of banking.

b) Explain the process of credit creation.
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Seat
No.
B.Com. - lll (Semester — V) Examination, 2014
BUSINESS ECONOMICS
Day and Date : Friday, 28-3-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

1. Choose correct alternatives given below : 10
1) The inequality of incomes is measured by curve.
a) Demand b) Supply
c) Cost d) Lorenz
2) Adam Smith published his book in1776.
a) Wealth of Nations b) Das capital
c) Political Economy d) None of these

3) Indiaaccepted LPGiin

a) 1956 b) 1948
c) 1991 d) 1980

4) There is rate of unemployment in urban area as compare to
rural area.
a) Low b) High
c) Equal d) None of these

5) has made detail analysis of Regional Imbalances in India.
a) M. J. Kurian b) W. W. Rostow
c) Adam Smith d) Malthus

6) was the first who make an estimate of Black Money in India.
a) Poonam Gupta b) Suraj Gupta
c) N.Kaldor d) Chopra

P.T.O.
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7) Thomus Malthus was famous for his

a) Theory of population b) Theory of rent
c) Theory of development d) None of these
8) Concept of Indian Poverty firstly explained by in 1876.
a) Kaldor b) Dadabhai Nauroji
c) M. G. Ranade d) None of these

9) The Monopolies and Restrictive Trade Practices Act was passed in the year

a) 1948 b) 1956
c) 1969 d) 1991
10) Progressive Taxation is the best remedy for
a) Rising prices b) Income inequality
c) Distribution d) None of these
2. Write short note on : 10

A) Scope of Business Economics

B) Industrial Sickness.

3. Answer the following : 10
A) Explain the effects of liberalization on Indian Economy.
B) Explain the causes of inequality of Income.
4. Answeranyone: 10
i) Explain the concept of privatization and its impact on Indian Economy.

ii) Critically examine Recardian Theory of Economic Development.

5. Answerany one: 10
i) Explain Rostow’s stages of Economic Growth Theory.

i) Explain the concept of unemployment. What are the causes of
unemployment ?
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Seat
No.
B.Com. - lll (Sem. — V) Examination, 2014
CO-OPERATIVE DEVELOPMENT
Day and Date : Saturday, 29-3-2014 Total Marks : 50

Time : 3.00 p.m. to 5.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative. 10
1) country is known as the origin of co-operative movement.
a) India b) England c) China d) Japan
2) The World Co-operative Movement started in the year
a) 1844 b) 1904 c) 1948 d) 1960
3) Primary marketing co-operative societies work at level.
a) National b) State c) District d) Local
4) In the First Co-operative Act was passed in India.
a) 1844 b) 1891 c) 1904 d) 1912
5) Co-operative Sugar Factory is a type of
a) Consumer Co-operatives b) Processing Co-operatives
c) Marketing Co-operatives d) Credit Co-operatives

6) District Central Co-operative Banks are member of
a) Primary Agricultural Co-operative Societies
b) Urban Co-operative Banks
c) Industrial Banks
d) State Co-operative Banks

7) National Federation of Industrial Co-operative was established in
a) 1966 b) 1991 c) 2001 d) 2010

P.T.O.
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8) is work at national level.
a) Departmental Stores
b) Central Wholesale Stores
c) State Co-operative Consumers Federation
d) National Co-operative Consumers Federation

9) The conference of International Co-operative Alliance 1995 was arranged at
a) Delhi
b) Singapur
c) Manchester
d) Washington

10) The main aim of movement is to develop human and moral value.
a) Political b) Labour
c) Co-operative d) Education

2. Write short answers :
A) State the types of Co-operative Housing Societies. 5
B) State the recommendation of Vaidyanathan Committee. 5

3. Write short notes :

A) Service Co-operative Societies. 5
B) Functions of Industrial Co-operative Societies. 5
4. Answerany one of the following : 10

a) What is co-operation ? Explain the principles of co-operation.
b) Explain the functions and problems of processing co-operatives.

5. Answerany one of the following : 10
a) State the problems of Primary Agricultural Credit Societies in India.
b) Explain the progress of Consumer Co-operative Societies in India.
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Seat
No.
B.Com. (Part - Ill) (Semester — V) Examination, 2014
MODERN MANAGEMENT PRACTICES
Day and Date : Tuesday, 1-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select suitable alternative from given alternatives : 10

1) is the set of managerial decisions and actions that determines
the long-term performance of organisation.

a) Personnel management b) Marketing management
c) Financial management d) Strategic management

2) The elements of human capital consists

a) Intellectual capital b) Social capital
c) Emotional capital d) All of the above
3) are those particular strengths which gives the company an
edge over its competitors.
a) Core competencies b) Competitive advantage
c) Profiteering d) None of the above
4) Licencing is an arrangement where by one company allows another company
touseits
a) Brand name andtrade mark  b) Technology and patent
c) Copy right d) All of the above
5) is basically the process by which a company can delegate

certain functions of their business to a specialised organisation who can get
it done more cheaply, quickly and efficiently.

a) Globalisation b) Business process out sourcing
c) Amalgamation d) Merger
6) During the period of work overload the stress tend to be
a) Low b) High
c) Can'ttell as low or high d) All of the above

P.T.O.
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7) Obtaining competitive advantage on the basis of special features in the
products or services means

a) Diversification b) Differentiation
c) Centralisation d) Integration
8) relates to the ability or skill to understand evaluate and manage
the emotions of one’s self and others.
a) Intellectual quotient b) Attitude quotient
c) Emotional quotient d) Psychological quotient

9) The concept of core competency is given by

a) F. W. Tylor b) Porter
c) C.K.Pralhad d) Elton Mayo
10) Continuing the existing policy without making any change is known as
strategy.
a) Growth b) Retrenchment
c) Statuesque d) Grand

2. Write short notes on:
a) Benchmarking. 5

b) Mentoring. 5

3. Write answers in short :

a) State the attitudes of global managers. 5

b) How to cope with stress ? Explain. 5

4. Explainin brief the process of strategic management. 10
OR

Explain the concept of Human Resource Development and differentiate between
Human Resource Management and Human Resource Development.

5. What is mean by stress ? Explain causes or sources of stress. 10
OR

Discuss on different steps in going global, by the business.
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Seat
No.
B.Com. Part - lll (Semester — V) Examination, 2014
ADVANCED BANKING (Paper - 1)
Law and Practice of Banking in India
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.
Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
Obijective type question.

1. Answer the following questions by choosing the correct alternative given below. 10

1) The reasonable period allowed in India for the presentation of a cheque is

a) 1year b) 06 months c) 03 months d) 09 months
2) A cheque which is not crossed is called
a) uncrossed cheque b) open cheque
c) order cheque d) bearer cheque
3) case deals with the appropriation of payment.
a) Garnishee b) Clayton’s
c) Corruptions d) Forgerys
4) The document which can be used only for making local payment is called
a) acrossed cheque b) a bill of exchange
c) abanker’s cheque d) adraft

5) Ability of asset to convert into cash is called

a) Liquidity b) Profitability
c) Safety d) Security
6) Abankerlienis always a lien.
a) General b) Special c) Legal d) Personal

P.T.O.
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7) A piece of paper attached to a cheque for the purpose of further endorsement

is called as
a) Allonge b) Special endorsement
c) Blank endorsement d) Legal endorsement

8) The document drawn by a debtor on the creditor, agreeing to pay a certain
sum is called
a) cheque b) promissory note
c) abill of exchange d) draft

9) is the name of first Commercial Bank in India.
a) State Bank of India b) Reserve Bank of India
¢) Indian Bank d) Hindustan Bank

10) If a cheque is crossed to two bankers, it is known as crossing.
a) single b) double C) open d) free
2. Write short notes. 10

a) General relationship between banker and customer.
b) Bills of exchange.

3. Write short notes. 10
a) The characteristics of a promissory note.
b) Different types of crossing.

4. Answerany one. 10
a) Explain the banker’s rights and obligations.
b) Explain the difference between a cheque and a bills of exchange.

5. Answerany one. 10
a) Explain the nature and scope of Banking Laws in India.

b) Define endorsement. Explain the different kinds of endorsement and
significance of endorsement.
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Seat
No.
B.Com. lll (Semester — V) Examination, 2014
ADVANCED ACCOUNTANCY (Paper - 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Attemptany one question from Q.No. 4 (A) and Q.No. 4 (B).
3) Attemptany one question from Q.No. 5 (A)and Q.No. 5 (B).
4) Figures to the right indicate full marks.

1. Choose the correct alternative. 10

1) If any amount from Statutory Reserve is used it must be reported to the RBI

within days of such use.
a) 51days b) 7 days
c) 21 days d) 15days
2) A wholly owned subsidiary company is one in which all the shares with
votingrightsof_____are owned by the Holding Company.
a) 50 % b) 30 % c) 75 % d) 100 %
3) Goodwill is always paid for
a) Past b) Present
c) Future d) None of them
4) Post - acquisition profits are known as profits.
a) Revenue b) Capital
c) General d) Notional

5) The average clause in loss of profit policy protects the interest of the

a) Insured b) Insurer

c) Workers d) None of the above
P.T.O.
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6) Banking companies are governed by the Banking Regulation Act

a) 1956 b) 1961 c) 1949 d) 1932
7) Loss of profitinsurance covers

a) Revenue losses b) Capital losses

c) Revenue and Capital losses d) None of them

8) The excess price paid by the Holding Company for the purchase of shares
of subsidiary company it is known as

a) Goodwiill b) Capital Reserve

c) Donation d) Profit

9) Super profitis the difference between
a) Capital employed and Average Capital employed
b) Average profit and Normal profit

)
c) Current years profit and Last years profit
)

d) None of the above
10) Silveris shown under the heading in the Bank Balance-sheet.
a) Investments b) Other assets
c) Deposits d) Advances
2. Write short notes on : 10

A) Meaning, nature and need for valuation of Goodwill.

B) ‘Average clause’ — in case of claim for loss of stock and claim for loss of
profit by fire.

3. A) The net profits of a company before providing for taxation (at 30%) for the
last five years are Rs. 80,000, Rs. 85,000, Rs. 95,000, Rs. 92,000 and
Rs. 1,00,000. The capital employed in the business is Rs. 3,50,000 on
which reasonable return of 15% is expected.

Calculate the goodwill of the business by capitalisation of profits method. 5
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B) H. Ltd. acquired all the shares in S.Ltd. on 15t April 2012 and the Balance

Sheet of the two companies on 315t March 2013 were as follows : 5
Liabilities H.Ltd. S.Ltd. Assets H. Ltd. S. Ltd.
Rs. Rs. Rs. Rs.
Share capital 50,000 30,000 Sundry Assets 65,000 70,000
Reserves and surplus Investments

Reserveson 1-4-2012 20,000 15,000 sharesin S.Ltd. atcost 50,000 -
Profit & Loss Account 25,000 10,000 Currentassets — -
Secured Loans - — Miscellaneous expenditure
Unsecured Loans — - P&LA/c — —
Current Liabilities
Sundry Creditors 20,000 15,000

1,15,000 70,000 1,15,000 70,000

The Profit and Loss account of S. Ltd. has a credit balance of Rs. 3,000 on
1St April 2012.

Prepare a consolidated Balance Sheet as on 318t March 2013.

4. A) The premises and stock of Karamchand stores were totally destroyed by
fire on 30t January 2005. From the account books and other records that
were saved, the following information is available. The stock on hand has

always been valued at 10% less than cost. 10
Particulars 2002 2003 2004 2005
Rs. Rs. Rs. Rs.

Opening Stock as valued 27,090 32,400 36,000 36,900
Purchases less returns 74,900 80,000 81,000 6,000
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Sales less returns 1,20,000 1,32,000 1,40,000 12,000
Wages 17,400 19,000 20,900 2,000
Closing stock as valued 32,400 36,000 36,900 -
Prepare a statement for submission to the Insurance Company in support of the
claim for loss of stock.
B) Following are the Summarised Balance-Sheets of Sun Ltd. and Moon Ltd. as

on 318t March 2010. 10

Balance Sheets as on 31StMarch 2010.

Liabilities Sun Ltd. MoonLtd. Assets Sun Ltd. Moon Ltd.
Rs. Rs. Rs. Rs.
Share Capital Land and Building 50,000 40,000

Sharesof Rs. 10each 1,80,000 1,00,000 Plantand Machinery 80,000 20,000

Sundry creditors 40,000 20,000 Furniture 60,000 20,000

Bills payable 20,000 10,000 Debtors 50,000 25,000

Bank overdraft 20,000 — Investments 55,000 -

Profit and — (8000 sharesinMoon Ltd.)

Loss A/c 35,000 Profit and Loss A/c — 25,000
2,95,000 1,30,000 2,95,000 1,30,000

1) Debtors of Sun Ltd. include Rs. 10,000 due from Moon Ltd.

2) Sun Ltd. acquired shares of Moon Ltd. on 1-4-2009 when Moon Ltd. had
debit balance of Rs. 40,000 in Profit and Loss Account.

Prepare consolidated Balance-sheet.
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5. A) The following is the Trial Balance of Maharashtra Bank Ltd. as on 315t March
2013 10

Particulars Dr. Cr.
Rs. Rs.

Subscribed capital 50000 Equity
shares of Rs. 10 each fully paid — 5,00,000
Reserve fund — 2,50,000

Loans, cash credits and overdrafts 2,85,000 -

Premises 50,000

Indian Govt. securities 4,00,000 -
Current deposits - 1,00,000
Fixed deposits — 1,45,000
Saving deposits — 50,000
Salaries 28,000 -
General expenses 12,400 —
Interest paid on deposits 15,000 -
Rent, rates and taxes 2,300 -
Directors fees 1,800 -

P&L A/c (01-04-2012) - 16,000
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Interest and discount - 1,28,000
Stock of stationery 8,500 -

Bills purchased and discounted 46,000 -

Interim dividend paid 17,000 -
Shares 50,000 —
Cash in hand and with RBI 1,93,000 -

Money at call and short notices 80,000 -
11,89,000 11,89,000

The following information should be considered.
1
2

) Provision for bad and doubtful debts required amounting to Rs. 5,000/-
) Interest accrued on Investment was Rs. 8,000/-

3) Unexpired discount amounts to Rs. 380/-

4) Interim dividend declared was 4%.

Prepare Profit and Loss Account and Balance Sheet in prescribed form for the
year ended 315t March 2013.

B) Following are the details of advances of Yahoo Commercial Bank as on

31stMarch, 2013. 10
Rs.

Loans 50,00,000

Cash credits 60,00,000

Overdrafts 7,70,000

Advances 2,50,000
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Term Loans 25,00,000
Bills discounted and purchased 15,00,000

Following are the details of above advances.

Secured by tangible assets 1,15,00,000
Covered by Bank, Govt. guarantees 30,00,000
Unsecured 15,00,000
Doubtful debts 20,000

In case of doubtful debts the bank did not hold any security and they were all
sanctioned to priority sectors.

The composition of advances outstanding was

Priority sector 1,15,20,000
Public sector 35,00,000
From others 10,00,000

Show the treatment of advances in the Final Accounts of the Bank.
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Seat
No.
B.Com. - Illl (Sem. — V) Examination, 2014
INDUSTRIAL MANAGEMENT (Paper — 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative : 10
1) The concept of is given by Dr. Robert C. Camp.
a) Total Quality Management b) Core Competencies
c) Corporate Governance d) Benchmarking
2) The is the primary tool with which to carry on production and
into which all other production tools and mechanisms must fit.
a) Factory Location b) Raw material
c) Factory Building d) Factory Labour
3) is the simultaneous control of the temperature, humidity, motion
and purity of the atmosphere in a confined space.
a) Noise control b) Air-conditioning
c) Ventilation d) Lighting

4) Work study is the technique of

a) Scientific Management b) Traditional Management
c) Total Quality Management d) Strategic Management

5) Industrial sanitation is the science of safeguarding of worker.

a) Income b) Work c) Qualification d) Health

6) The situation, where the worker work in the factory is called as
a) Work load b) Position
c) Work Environment d) All of the above

P.T.O.
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7) In Factory Act 1948, provision are made for to worker.
a) efficiency b) drinking water
c) work d) none of the above

8) Dr. F. W. Taylor is called the father of
a) Scientific Management b) Strategic Management
c) Modern Management d) Total Quality Management

9) Production according to product layout and process layout are used in

method.
a) Line Layout b) Stationary Layout
c) Mixed Layout d) None of the above
10) is the arrangement and location of production machinery,

work centres and ancillary facilities and activities for the purpose of achieving
efficiency in manufacturing products.

a) Factory Building b) Factory Location
c) Plant Layout d) Work Environment
2. Write short notes : 10

a) Recenttrends in management

b) Merits and demerits of factory building in urban area.

3. Write short answer : 10
a) Importance of work environment

b) Procedure of plant layout.

4. a) What is ‘Scientific Management’ ? Explain the principles of ‘Scientific

Management'. 10
OR
b) What is ‘Factory Location’ ? Explain the factors influencing the selection
of ‘Factory Location’. 10

5. a) Whatis ‘Plant Layout’ ? Explain the nature and importance of ‘Plant Layout’. 10
OR
b) What is ‘Noise Control’ ? Explain the importance and effects of ‘Noise Control’. 10
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Seat
No.
B.Com. - Ill (Sem. — V) Examination, 2014
ADVANCED ACCOUNTANCY (Paper - 1I)
Auditing
Day and Date : Thursday, 3-4-2014 Total Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : i) Allquestions are compulsory.
ii) Figures to the right indicate full marks.

1. Choose the correct alternatives : 10
1) The first auditor of a company is appointed by the
a) Promotor itself b) Board of director
c) Company law board d) AGM
2) In———— — year Chartered Accountants Act was passed.
a) 1949 b) 1880 c) 1960 d) 1932
3) The ——  of assets implies and enquiry into the value, ownership and
title existence and possession, the presence of any charge on assets.
a) Recording b) Valuation c) Evaluation d) Verification
4) Audit working papers is the property of
a) Company b) Auditor c) Secretary d) None of these
5) Interim audit is conducted with a object to find out
a) Current year profit b) Last years profit
c) Annual profit d) Interim profit
6) ——  is the backbone of audit.
a) Checking b) Valuation c) Vouching d) None

7) When the entries are not recorded according to the fundamental principles of
accountancy that is called as error of

a) Omission b) Principle c) Compensating d) None

8) In————— audit the work of audit is carried out by the staff of the same
organization.
a) External  b) Balance Sheet c) Internal d) Special

P.T.O.
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9) The principles of ————is applied in internal control system.
a) Authority and responsibility b) Division of labour
c¢) Unity of command d) None
10) The responsibility of auditor is in case of valuation.
a) unlimited  b) limited c) a)andb) d) none

2. Answer the following (Short note) :
a) Difference between internal and statutory audit. 5
b) Qualifications of auditor of a company. 5
3. Answer the following (Short note) :

a) Special feature of co-operative bank while auditor has to consider. 5
b) Verification and evaluation of sundry debtors. 5
4. Answeranyone: 10

i) Vouch, verification and valuation of patent, rights.
i) Appointment, qualification and remuneration of an auditor of banking Co.

5. Answerany one: 10
i) Define the term auditing. State different types of audit.
ii) Define internal audit and external audit. Explain its feature.

TRIST TUTAHR
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Seat
No.
B.Com. - lll (Sem. — V) Examination, 2014
ADVANCED COSTING (Paper - II)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N. B. : 1) All questions are compulsory.
2) Use of calculator is allowed.
3) Figures to the right indicate full marks.

1. Choose correct alternatives : 10

1) In mass production industries producing standardised products
costing method should be used for cost ascertainment.

A) Contract B) Batch C) Operating D) Process

2) Use of uniform costing system creates the type of markets.
A) Natural B) Foreign C) Competative D) Monopolistic

3) In oil refinery industries costing method is used for cost
ascertainment.
A) Standard B) Operating C) Batch D) Process

4) The process loss that could not affect the cost of inventory is loss.
A) Actual B) Normal C) Revenue D) Abnormal

5) In costing the cost of a group of product is ascertained.
A) Uniform B) Marginal C) Contract D) Batch

6) In costing pre-supposes mutual understanding and trust among
participating companies.
A) Job B) Batch C) Uniform D) Standard

7) The method of costing as used in undertakings like gas companies, cinema
houses, hospitals etc. is known as costing.
A) Contract B) Process C) Operating D) Pre-determined

8) The clause in contracts are often provided as safeguards against
any likely changes in price or utilisation of material and labour.
A) Cost plus contract B) Retention
C) Escalation D) Notional profit

P.T.O.
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9) In transport service company seating capacity of a bus is 60 passengers.
Actual passengers travelled by bus is 50. Distance travelled by bus is
100 kms. Total expenditure is Rs. 5,000. What is cost per passenger kilometer ?

A) Rs.5.00 B) Rs.10.00 C) Re.1.00 D) Re.00.10

10) Operating costing method is used in providing undertakings.
A) Goods B) Contracts C) Services D) Jobs
2. Write short notes on': 10

1) Profit on incomplete contract.
2) Features of uniform costing.

3. A) The following direct cost incurred on Job No. 1000 of Philips Radio Company.
Materials Rs. 8,020
Wages — Department A — 120 hrs. @ Rs. 6 per hour
Department B — 80 hrs. @ Rs. 4 per hour
Overhead expenses for these departments were estimated as follows :

a) Variable overheads —
Dept. A Rs. 5,000 for 10,000 labour hours.
Dept. B Rs. 6,000 for 1,500 labour hours.

b) Fixed overheads are estimated at Rs. 40,000 for 50,000 normal working

hours.
You arerequired to calculate cost of Job No. 1000 and calculate price to give
profit of 25% on cost price. 5
3. B) Aproductis obtained after two process. The following information is collected
for January 2013.
Process| Processli
Direct materials Rs. 5,200 3,960
Direct wages Rs. 4,000 6,000
output in units 950 840
Value of output transferred to next process Rs. 19,000 -
Normal loss 5% 10%
Value of scrap per unit Rs. 04 08
Additional information — 1000 units of Rs. 6.00

Each was introduced in Process | there was no stock of materials or WIP
at beginning or end of month. Production overheads was Rs. 10,000 for that
month and based on wages.

Calculate rate per unit of output of process Il. 5



4. The following information is obtained from the books of Pooja Construction
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company relating to contract for Rs. 75,00,000. The contractee pays 90% of the
value of work done as certified by the architect.

Particulars Year 2010
Rs.

Materials 9,00,000
Wages 8,50,000
Direct expenses 35,000
Indirect expenses 15,000
Work certified 17,50,000
Work uncertified =

Plantissued 1,00,000

Year 2011
Rs.

11,00,000
11,50,000
1,25,000
20,000
56,50,000
1,00,000

Year 2012

Rs.
6,30,000
8,50,000

45,000
75,00,000

The value of plant at the end of 2010, 2011 and 2012 (When the contract was

completed) was Rs. 80,000, Rs. 50,000 and Rs. 20,000.

Prepare Contract Account for the year ending 2010, 2011 and 2012.

OR

10

. The Hindustan Construction Company Ltd. have undertaken the construction of
a bridge over river Yamuna. Value of the contract is Rs. 12,50,000. The following
are details as shown in the book on 30t" June 2013.

Wages

Materials less returns
Materials from stores

Hire and use of plant

Direct expenses

General overheads

Material in hand on 30/6/2013
Wages accrued on 30/6/2013
Direct expenses accrued on 30/6/13
Work not yet certified

Amount certified by Engineer

Cash received on Account (80% of work certified)

Prepare Contract Account.

4,05,000
4,20,000
81,200
12,100
23,000
37,100
6,300
7,800
1,600
16,500
11,00,000
8,80,000

10
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5. From the following data for the year 2012-13. Prepare an operating cost sheet
showing the cost of electricity generated per kWh. by Andhra Power Station.

Total units generated — 10,00,000 kWh.

Operating Labour Rs. 50,000
Repairs and Maintenance Rs. 50,000
Lubricants, spares and stores Rs. 40,000
Plant Supervision Rs. 30,000
Administration overheads Rs. 20,000

10

Coal consumed per kWh. for the year is 2.5 kg. @ Re. 0.2 per Kg. Charge
depreciation @ 10% on capital cost of Rs. 2,00,000.

OR

5. Mahalaxmi Transport Service Company is running four buses between two towns
which are 50 miles apart. Seating capacity of each bus is 40 passengers. The
following particulars were obtained from the companies books for the month of

April 2013.
Wages of Drivers, Conductors and Cleaners
Salary of office and supervisory staff
Diesel oil and other oll
Repairs and maintenance
Taxation Insurance etc.
Depreciation
Interest and other charges
Total

Rs. 2,400
Rs. 1,000
Rs. 4,000
Rs. 800
Rs. 1,600
Rs. 2,600
Rs. 2,000
Rs. 14,400

75% of seats are occupied by each bus. Calculate cost per passenger mile. 10
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Seat
No.
B.Com. - lll (Semester — V) Examination, 2014
INSURANCE (Paper - 1l)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose correct alternative : 10
1) The insurance an employer can take for the benefit of his employees is
called insurance.
A) Third party insurance B) Publicinsurance
C) Group insurance D) Employers liability insurance
2) In case of motor insurance insurance policy is compulsory.
A) Liability B) Reinsurance
C) Double D) Third party
3) Which insurance provides compensation for loss due to accident fire ?
A) Fire insurance B) Marine insurance
C) Fidelity insurance D) Group insurance
4) In year insurance is mainly started comprehensive crop
insurance.
A) 1990 B) 1980
C) 1985 D) 1991
5) insurance is mainly started for rural farmers for their cattles.
A) Cattle B) Motor
C) Group D) Double
6) Reinstalment value policy is a type of policy.
A) Life insurance B) Fire insurance
C) Marine insurance D) Cropinsurance

P.T.O.
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7) In the history of insurance business Accident Insurance is
form of insurance.

A) Old B) Traditional
C) New D) None of the above

8) Crop insurance first time introduced in state in the year 1939.
A) Mysore B) Mumbai C) Zarkhand D) Uttaranchal

9) Comprehensive policy is the type of insurance.
A) Accident B) Crop C) Cattle D) Marine

10) If policy holder insures the same risk with more than one insurer it is known
as insurance.
A) Double B) Public C) Special D) Private

2. Write short notes on: 10

1) Importance of fire insurance.
2) Crop insurance.

3. A) Discuss different types of public liabilities insurance. 5

B) Explain the risk covered in cattle insurance. 5

4. State the procedure of taking fire insurance policy. 10
OR

Explain the conditions of fire insurance policy. 10

5. Explain the types of fire insurance policy. 10
OR

Explain the meaning and risk cover in motor insurance. 10
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Seat
No.
B.Com. (Part — Ill) (Semester — V) Examination, 2014
ADVANCED STATISTICS (Paper — 1)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Each question carries equal marks.
3) Figures to the right indicate full marks.
4) Graph papers will be supplied on request.

1. Choose the most appropriate alternative amongst the given alternatives. 10

i) A statistical constant derived from the population observations is called as
a) Statistic b) Parameter c) Estimate d) None of these

ii) Accepting an H,, when it is false is a

a) correct decision b) Type | error
c) Type Il error d) None of these
iii) IntestingH,, Ly =1, L Hy: 1y 1, forlarge samples, H is rejected at
5% 1.0.S. of
a) cal.|z| >2.58 b) cal. |z| > 1.96
c) cal. [z| <1.96 d) none of these

iv) If o is the maximum probability of type | error, B is the probability of type Il
error, then power of the test is given by

a) 1-o b) 1 - c) a d) none of these
v) Fortesting goodness of fit of observed frequencies and expected frequencies,
one uses
a) Normal test b) t-test
c) x2-test d) none of these

P.T.O.
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vi) Intesting independence of two attributes with 5 x 5 contigency table, the d.f.
associated with  2-test statistic is

a) 24 b) 16

vii) Rejecting a H,when ifis false is a

c) 25 d) none of these

a) Type l-error b) Type Il error
c) Correct decision d) None of these
viii) W.S. Gosset published his findings under pen name, ‘Student’ on
b) x 2-distribution

d) none of these

a) Normal distribution
c) t-distribution

ix) If Pearl’s vital index is greater than one then
a) population in near future increases
b) population in near future decreases
c) remains stable

d) none of these

x) In testing H, : u=p  V/s H; : n # p, with a sample of number of
observations equal to 25, the d.f. associated with test statistic is equal to

a) 25 b) 24 c) 16 d) none of these
2. A) Explain paired t-test. 5
B) Find CDR and STDR for population A, whose data are given below. 5
Standard Population
Age group | pgopyiation in Population in
(000) SDR (1000) SDR

0-5 8 50 12 48

5-15 10 15 13 14

15-50 27 10 15 9

50 & above 5 60 10 59
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3. A) Explain a test, used to test H, : i =L 4 for large sample. 5
B) Following are the data given for 2 attributes. 5
Condition | €ondition of home
. Total
of child | cjean Dirty

Clean 70 50 120

Dirty 80 20 100

Total 150 70 220

Use Chi-square test at 5% 1.0.S. to state whether the two attributes are

independent. (Given: x2 o5 = 3.841).
4. Attemptany one of the following. 10

a b
A) For a2 x 2 contingency table , 4 |, show that a Xz-test statistic to test

independence of attributes is given by

2 N(ad—bc)2
L = la+b)(a+c)b+d)c+d

B) From the following table given below

No. of children born to 1000 .
. Mortality Rate
Age group wom.en pass.lng thr.ough (Per 1000)
child bearing period
16-20 150 120
21-25 1500 180
26-30 2000 150
31-35 800 200
36-40 500 220
41-45 200 230
46-50 100 250

Compute GRR and NRR, if sex ratio is 52 : 48.
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5. Attemptany one of the following. 10
A) Explain the various measures used for mortality.

B) Given the following information relating to two places, A and B, test whether
there is any significant difference between their mean wages :

A B
Mean wages (Rs.) 47 49
Standard deviations 28 40

No. of workers 1000 1500
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Seat
No.
B.Com. lll (Semester — VI) Examination, 2014
BUSINESS REGULATORY FRAMEWORK
Day and Date : Thursday, 27-3-2014 Max. Marks : 50

Time: 11.00a.m. t0 1.00 p.m.

N.B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternatives. 10
1) is a place of Head Office of the National Commission.
A) Mumbai B) Delhi C) Kolkatta D) Chennai

2) The World Consumer Day celebrated on
A) 15t March B) 24! December
C) 1St May D) 15" April
3) The minimum number of members required to form a private company is
A) Two B) Five C) Seven D)  Fifty
4) The National ConsumerDay is celebrated on
A) 15t March B) 15 December
C) 18t May D) 24" December

5) The meeting is held only once in the life time of a public company
A) Statutory meeting B) Annual general meeting

C) Extra ordinary meeting D) None of the above

6) Consumer Protection Act passed in the year

A) 1986 B) 1956 C) 1992 D) 1872
P.T.O.
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7) A public company needs to raise the capital by issue of
A) Shares B) Deposits
C) Debentures D) None of the above

8) The quorum for the meeting of Directors

1 1
A) SOR2 B) ; OR 5

1
C) 2 OR3 D) None of the above

9) SEBI Act passed in the year

A) 1992 B) 1872 C) 2000 D) 2005
10) The Securities Contracts (Regulation) Act passedin the year.
A) 1956 B) 1992 C) 1986 D) 2005

2. Write short answers :
A) State the Clause of Memorandum
B) District Consumer Forum
3. Write short answers.
A) Types of capital
B) Explain the kinds of company.

4. A) Define term consumer. Discuss the various right of consumer.
OR

B) Explain the powers and functions of the SEBI.

5. A) State the special features of company. Distinguish between private company
and public company.

OR

B) Explain the functions of stock exchange in capital market.

10

10

10

10
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Seat
No.
B.Com. lll (Semester — VI) Examination, 2014
BUSINESS ECONOMICS
Day and Date : Friday, 28-3-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose correct alternative : 10

1) The eleventh five year plan covers the five year period

a) 2004 -09 b) 2005—-10 c) 2006 —-11 d) 2007 -12
2) Investmentin enhances human capital formation.
a) education b) agriculture c) industry d) trade

3) According to HDR (2010) Human Development is measured by

a) saving b) investment
c) income d) decent standard of living
4) Equity, sustainability, productivity, empowerment are the essential
components of
a) economic development b) human development
c) rural development d) social development
5) Foreign aid plays a crucial role and enables the LDCs to overcome the
problem.
a) balance of payment b) poverty
c) inflation d) unemployment

6) India has been receiving foreign capital in the form of
a) foreign aid b) external commercial borrowing
c) foreign investment d) all of the above

P.T.O.
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7) The SDR (Special Drawing Rights) were introduced in to help member
countries of IMF.

a) 1949-50 b) 195960 c) 196970 d) 1979-80

8) The IBRD is also known as the

a) Regional Bank b) State Bank
c) National Bank d) World Bank

9) The accepted the objectives of GATT with some extensions.
a) IMF b) IBRD c) WTO d) SAARC

10) The formation of SAARC was in
a) 1975 b) 1985 c) 1995 d) 2005

2. Answer the following :
A) What are the failures of Xt plan ? 5

B) What is the importance of foreign capital ? 5

3. Write short notes on :

A) Human Poverty Index. 5
B) Features of W.T.O. 5
4. Answerany one: 10

A) XIt five year plan.
B) Role of Human Resources in Economic Development.

5. Answerany one: 10
A) Explain the need for foreign capital. What is Govt. Policy towards foreign capital ?

B) Explain the objectives and performance of IMF.
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Seat
No.
B.Com. - lll (Semester — VI) Examination, 2014
MODERN MANAGEMENT PRACTICES
Day and Date : Tuesday, 1-4-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Select suitable alternative from the given alternatives : 10
1) Quality is/has
a) several different attributes
b) relative term
c) relevant for both products and services
d) all of the above

2) Dimension of quality as how a product looks, feels, tastes and smells is

a) serviceability b) durability
c) reliability d) none of the above
3) suggested that with a view to achieve high level of excellence
quality must be maintained at each stage of processing the product.
a) Deeming b) Juran
c) Crosby d) None of the above
4) Six sigma is a statistical concept that measures a process in terms of
a) attributes b) defects
c) a)andb) above d) nothing

5) Loss of human life or damage to property of such a nature as to be beyond
the capacity of the community of the affected area, is called

a) accident b) hazard c) disaster d) none
6) Recent disaster at Uttarakhand was the effect of

a) tsunami b) environment degradation

c) snow falls d) over precipitation

P.T.O.
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7) People who place a high value on money and material possessions m
a) not have strong ethical standards
b) have strong ethical standards
c) have excellent ethical standards
d) canttell

8) Normal business ethics in customer relations suggest that products a
services be

a) safe

b) accompanied by information about product
c) appropriately priced

d) all of the above

9) Itis generally agreed that the corporation must be so
stakeholders should feel it to be rational and honest.

a) checked b) controlled c) governed d) audited

10) Stakeholders representation on board of directors is called
a) market based governance model b) outsider governance model
c) insider model d) a) and b) above

2. Write short notes on:
1) Meaning of TQM.
2) Types of event management.

3. Write answer in brief :
1) Explain steps in prevention of disaster.
2) Explain on market based corporate governance.

4. Explain major ingredients of TQM.
OR

Discuss various steps in implementing ‘six sigma’.

5. Discuss on career in event management.
OR
Discuss on how individual ethics is formed.

ay

nd

that its

10

10

10

10

10

10
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Seat
No.
B.Com. - lll (Semester — VI) Examination, 2014
ADVANCED ACCOUNTANCY (Paper - 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks: 50

Time:11.00a.m.t0 1.00 p.m.

Instructions : 1) All questions arecompulsory.
2) Attemptany one question from Q. No. 4(A) and Q. No. 4(B).
3) Attemptany one question from Q. No. 5(A) and Q. No. 5(B).
4) Figures to the right indicate full marks.

1. Choose correct alternative : 10
1) Ratio expresses relationship of two related figures
a) statistically b) financially
c) numerically d) none of these
2) The standard current ratio is
a)1:1 b) 2:1 c) 3:1 d) 4:1

3) Accounting Standard No. deals with accounting treatment of
amalgamation and absorption.

a) 14 b) 13 c) 15 d) 12

4) In case of hire purchase transactions the hire-purchaser have
right to resell goods till payment of last instalment.

a) does b) does not
c) does or does not d) can’t say
5) The scope of management accounting is as compared with financial
accounting.
a) wide b) equal
C) narrow d) none of these

P.T.O.
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6) If shares are issued for cash the current ratio

a) improves b) becomes bad
c) does notchange d) none of these
7) The frequency of preparation of management accounting reports is
a) yearly b) six monthly
C) quarterly d) as per desire of management

8) The form of merger in which business of one company is taken over by other
company is commonly known as

a) amalgamation b) absorption
c) internal reconstruction d) none of above

9) In the books of purchaser ‘Interest Suspense A/c’ is shown on
side in the final accounts.

a) Assets b) Liabilities
c) Income d) Expenditure
10) Quick ratio is also known as ratio.
a) current b) acid-test
c) fast d) turnover
2. Write short notes on': 10

a) Distinction between management accounting and financial accounting.
b) Advantages and limitations of ratio analysis.

3. A) Calculate cash price from following : 5
Rate of interest 10% p.a.
Down payment X 1,00,000/-

First yearly instalment X 30,000/-
Secondyearly instalment I 48,000/-
Third yearly instalment X 44,000/-

The above instalments are inclusive of interest.
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B) If the existing current ratio of a company is 3 : 1, write in each of the following
cases whether the current ratio will increase, decrease or will remain
unchange ? 5

a) Payment to creditors.

b) Repayment of bank term loan.

c) Purchase of fixed assets by issue of shares.

d) Collection of cash from debtors.
)

e) Withdrawal of cash from bank overdraft account.

4. A) In order to avoid competition and to improve the financial strength
M/S Pandharpur Ltd. and M/S Barshi Ltd. decided to merge into new company

called M/S Solapur Ltd. 10
The balance sheets of old companies as on 31 St March, 2013 were as under
Liabilities Pandharpur Barshi Assets Pandharpur Barshi
Ltd. X Lid. X Ltd. X Ltd. X
Share capital Plantand 70,000 40,000
Equity shares Machinery
of 10/- each 1,50,000 50,000 Building 50,000 22,000
5% debentures - 6,000 Landfreehold 6,000 -
Reserves - 4,000
Mortgage loan 10,000 - Debtors 40,000 12,000

Less R.D.D. 4,000 2,000
36,000 10,000

Bills payable 5,000 8,000 Investments 26,000 6,000
Creditors 3,000 12,000 Cash 15,000 3,000
Profit and Loss A/c 40,000 2,000 Bank 5,000 1,000
Total 2,08,000 82,000 Total 2,08,000 82,000

Solapur limited agreed to following :
i) The liabilities of all companies to be taken over.
i) The debenture holders of Barshi Ltd. to get 8% debentures of Solapur Ltd.

i) Issue of equity shares of ¥ 100/- each at a premium of ¥ 50 per share to old
shareholders.
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For the purpose of the transfer the assets are to be revalued as under :

Particulars Pandharpur Barshi
Ltd. Ltd.

Plant and Machinery 75,000 45,000
Building 55,000 25,000
Land-freehold 10,000 —

Debtors 34,200 9,000
Investments 29,800 8,000
Goodwill 20,000 10,000

Calculate purchase considerations for both companies and prepare Realization
A/c in the books of transferor companies.

OR
B) Following was the Balance Sheet of Hard Luck Ltd. as on 31-3-2013. 10
Liabilities Amount Assets Amount
4 %
Share capital Goodwill 60,000
10,000 equity Building 80,000
shares of ¥ 20/- Machinery 1,30,000
each fully paid 2,00,000 Stock 50,000
6,000, 8% preference Debtors 30,000
shares of ¥ 20/- Cash 10,000
each fully paid 1,20,000 Preliminary expenses 6,000
Debentures 80,000 Profit and Loss A/c (loss) 54,000
Creditors 20,000

4,20,000 4,20,000
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Following scheme of reconstruction has been agreed upon.

1) A new company ‘Better Fortune Ltd’ has to be formed with an authorised
capital ofX 6,00,000/- divided into 60,000 equity shares ofX 10/- each.

2) Two equity shares as to % 5/- paid-up in new company to be issued for
every one equity share in old company.

3) Four equity shares as to< 5/- per share paid-up in the new company to be
issued for every one preference share in the old company.

4) Debenture holders to be allotted 8,000 equity shares as fully paid-up in the
new company after take-over.

5) The remaining equity shares to be issued to the public which are fully
subscribed and called-up and paid-up at the time of application itself.

6) The assets of old company to be taken over by new company except for
the machinery which is to be considered less by ¥ 10,000/-.

Show Realisation A/c in the books of old company and show opening
entries in the books of ‘Better Fortune Limited’.

5. A) Following items have been extracted from the Trial Balance of Best Deals

Limited as on 315t March, 2013. 10
Particulars Amount
L4
Cash 24,300
Advance payments to suppliers 31,000
Land andBuilding 4,00,000
Stock 1,86,400
General reserve 50,000
Trade creditors 2,02,875

Debtors 2,61,500
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Bills receivable 11,300
Plant and Machinery 2,72,000
8% debentures 1,25,000
Bank overdraft 26,000
Equity share capital

(shares of% 10/- each) 5,00,000
Profit and Loss A/c balance 1,08,500
Proposed dividend 43,125
Provision for taxation 62,000
Bills payable 9,000
Share premium 70,000
Net sales (2012-13) 12,00,000

Net profit for the year 2012-13
before interest, dividend and tax 1,46,500

Calculate following ratios :

a) Return on capital employed.

b) Fixed assets turnover ratio.

c) Currentratio.

d) Quick ratio on the basis of current liabilities.

e) Debtors turnover ratio.

f) Stock turnover ratio on the basis of closing stock, considering net sales.

OR
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B) Mr. Amit, an educated employed decided to start his own transport business
with that intention in mind he approached Tata Motors Limited. They agreed
to supply him a mini truck on hire-purchase basis. 10

The cash price of the mini-truck was3 2,50,000/- with a down payment of
% 1,00,000/- which was paid on 15t April, 2010. Mr. Amit had borrowed this
amount from his father.

Interest was charged @ 10% p.a. on the outstanding balance by Tata Motors
Ltd.

The balance amount was payable as under :
On 31/3/2011 ¥60,000/-
On 31/3/2012 ¥50,000/-
On 31/3/2013 % 40,000/-

Show Truck A/c and Tata Motors Ltd. A/c in the books of Mr. Amit assuming
all the installments were paid on time and depreciation @ 10% under SLM
(Straight Line Method). Also show Interest A/c in the books of Tata Motors
Ltd.
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Seat
No.
B.Com. lll (Sem. — VI) Examination, 2014
INSURANCE (Paper — 1)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time:11.00 a.m. to 1.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

Choose the correct alternative from the given alternatives : 10

1. 1) is the exception to the principle of indemnity.
a) Marine insurance b) Fire insurance
c) Life insurance d) Accidentinsurance

2) Life insurance agent should complete the training

a) atleast 50 hours b) atleast 100 hours
c) atleast 150 hours d) atleast 200 hours
3) Inthe history of insurance business insurance is the new branch of
insurance.
a) Life insurance b) Fire insurance
¢) Marine insurance d) Accidentinsurance
4) Inthe body of IRDA there are members as a directors.
a) 7 b) 10
c) 15 d) 11
5) In the life insurance after death of insurer the amount of contract is given to
a) relatives b) friend
C) nominee d) institution
6) is the ready to carry an insurance business in consideration of
commission.
a) Policy holder b) Insurance company
c) Proposer d) Insurance agent

P.T.O.
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7) means reimbursement of hospital expenses.
a) Life insurance b) Fire insurance
c) Health insurance d) Group insurance
8) Insurance Act passedinthe year.
a) 1938 b) 1956
c) 1969 d) 1972
9) Fortaking Life Insurance ________formis essential form.
a) Nomination form b) Proposal form
c) Covernote d) Renewal form

10) The Committee was formed in the year 1993, under the Chairmanship of
R.N. Malhothra for study of

a) Insurance Agent b) Principles of Insurance
c) Types of Insurance d) Insurance Sector
2. Write short notes : 10

a) Proof of age.

b) Health Insurance.

3. Write answer in brief :

a) Explain the licence procedure of Insurance Agent. 5

b) Write a note Group Insurance. 5

4. Explain the procedure of taking Life Insurance. 10
OR

Explain the rights of Insurance Regulatory and Development Authority (IRDA). 10

5. Explain the procedure of settlement of insurance claim after maturity of policy. 10
OR

Define Insurance Agent. Explain the code of conduct for Insurance Agent. 10
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B.Com. — Ill (Sem. — VI) Examination, 2014

ADVANCED STATISTICS (Paper — I)

Day and Date : Wednesday, 2-4-2014
Time: 11.00 a.m. to 1.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Each question carries equal marks.
3) Graph papers will be supplied on request.
4) Use of soundless calculator is allowed.

1. Choose the correct alternative :

SLR-B - 62

Max. Marks : 50

10

1) If X is a random variable with probability distribution {x, P(x)}, then Y xP(x)

3)

4)

5)

is called

a) mean of X b) variance of X

c) both a) and b) d) none of these
2) Var (X + constant) is equal to

a) Var (X) b) Var (constant)

c) Var (X) + constant d) None of these

If a and b are constants, then E (aX + b) =

a) aE(X) b) E (X)

c) aE(X)+b d) none of these

Mean of binomial distribution is equal to

a) pq b) np

C) npq d) none of these

In binomial distribution ‘p’ denotes probability of

a) success b) failure

c) both a) and b) d) none of these

P.T.O.
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1
6) For the binomial distribution ; if n=4 and P =, then the value of variance is

3
a) 8/3 b) 8/9
c) 4/3 d) none of these
7) Mean is equal to variance in case of
a) Binomial distribution b) Poisson distribution
c) Normal distribution d) None of these

8) If either p or g is very small, but n is sufficiently large, the binomial distribution
is very closly approximated by

a) Poisson distribution b) Normal distribution
c) Geometric distribution d) None of these

9) If X~N (M,Gz)variate, then mean of X is

a) U b) 2u

c)1l d) none of these
10) Normal probability curve is

a) symmetric b) bell shaped

c) both a)andb) d) none of these

2. a) Define binomial distribution. If mean and variance of binomial distribution are
20 and 16 respectively. Find its parameters n and p. 5

b) Let X denote the number of heads obtained in a random toss of three coins.
The Prob. distribution of X is

X : 0 1 2 3
P Y5 B B K
Find :
1) E(X)and
i) E(2X +1). 5

3. a) IfXandY are independentr.v’'s then show that
E (XY) = E (X) . E(Y). 5
b) A discrete r.v.X has Poisson distribution such that P(X = 2) = P(X = 3)
Find P (X = 4). (Given e=3 = 0.0498). 5
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4. Attemptany one of the following : 10

a) State probability mass function of Poisson distribution. Give the situations
where Poisson distribution is applicable.

b) For a normal variate X with mean = 25 and SD = 10. Find the area between :
i) X=25t0 X=35and
i) X>15
(Given that area under normal curve z=0to z =1 is 0.3413).

5. Attemptany one of the following : 10
a) Define normal distribution . State the properties of normal distribution.
b) The joint probability distribution of (X, Y) is

-1 | 00 02 00
0O 01 02 01
01 02 01

Find :
i) E(X/Y =-1) and
i) V(XY =-1).
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Seat
No.
B.Com. (Part — lll) (Semester — VI) Examination, 2014
ADVANCED BANKING (Paper — 1)
Banks and Financial Institutions
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

Objective type questions :

1. Answer the following questions by choosing correct alternative given below : 10
1) Indian Money Market is known as money market.
a) Delhi b) Mumbai c) Kolkata d) Chennai
2) Industrial Development Bank of India is established in
a) 1949 b) 1935 c) 1955 d) 1964
3) is called as a centre of world money market.
a) New York money market b) Tokiyo money market
c) London money market d) Mumbai money market
4) is the first development bank in India.
a) IFCI b) ICICI c) UTI d) None of these
5) The creditgoesto for organising and developing London Money
Market.
a) UK Bank b) Bank of England
c) Bankof London d) Barkless Bank

6) The First Banking Actin America is passed in
a) 1940 b) 1933 c) 1945 d) 1930

P.T.O.
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7) The important delivery channel of E-banking is

a) Home banking b) Tele banking
c) Internet banking d) Mobile banking

8) Off-shore bankingis also called as
a) Euro-Dollar market b) Euro-Pound market
c) Dollar market d) Euro market

9) American banks are classified into categories.
a) 02 b) 03 c) M4 d) 06

10) Bank of England is established in the year
a) 1964 b) 1980 c) 1694 d) 1946

2. Write short notes :
a) The role of developmentBanking in India.

b) Multi-national banking system.

3. Write short notes :
a) Advantages of E-banking.

b) The functions of State Financial Corporations. (SFCs).

4. Answerany one :

a) Explain the present position and features of Commercial Banks in United
Kingdom.

b) Explain the role of Industrial Finance Corporation of India in the development
of India.

5. Answeranyone:
a) Explain the organisation and functions of ICICI in India.

b) Explain the nature and features of Newyork Money Market.

10

10

10

10
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Seat
No.
B.Com. - lll (Semester — VI) Examination, 2014
INDUSTRIAL MANAGEMENT (Paper — Il)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

N.B. : 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose correct alternatives and rewrite the following sentences : 10

1) are relationship between management and employees or among
employees and their organisations that characterise or grow out of
employment.

a) Industrial relations
b) Employees participation in management
c) Employees morale
d) Employees welfare

2) Dr. F. W. Taylor is the father of wage plan.
a) Timerate b) Job/Piece rate
c) Incentive d) Differential
3) is the extent to which an individual’s needs are satisfied and

the extent to which the individual perceives that satisfaction as stemming
from his total job situation.

a) Human Resource Management  b) LabourWelfare
c) Morale d) Wages

4) According to Factory Act 1948, if number of employees are more than
, the shelters, rest room and lunch room facility should be started.

a) 50 b) 150 c) 250 d) 350
5) In system of calculation of remuneration on the basis of work
completed by the workers.
a) Time rate b) Incentive plan
c) Jobrate d) All of the above

P.T.O.
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6) I.L.O. stand for

a) Internal Labour Organisation
b) International Labour Organisation
c) lllegalLabourOrganisation
d) llliterate Labour Organisation
7) is the method of worker’s participation in management.
a) Time rate wage b) Interview
c) Conference d) Workers suggestion scheme
8) Direct observation, interview, questionnaire are the methods of
a) Morale b) Welfare
c) Participation d) Industrial relation
9) are given in the financial and non-financial forms.
a) Training b) Ethics
c) Efficiency d) Fringe benefits
10) Act was existed in 1947.
a) Industrial Dispute b) Factory
c) LabourWelfare d) Wages
2. Write short notes :
a) Essential of sound wage policy. 5
b) Scope of employees welfare. 5

3. Write short answer :
a) Explainimportance of industrial relation. 5
b) Which methods are used for measuring morale ? 5

4. Answerany one of the following :
a) Define ‘Employee’s Welfare’. State the importance of ‘Employee’s Welfare’. 10
b) Explain time rate and piece rate wage methods in detail. 10

5. Answerany one of the following :

a) Define ‘Worker’s Participation in Management’. State the importance of
‘Worker’s Participation in Management’. 10

b) What is ‘Employee’s Morale’ ? Explain the factors affecting on ‘Employee’s
Morale’. 10
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Seat
No.
B.Com. - lll (Semester — VI) Examination, 2014
INSURANCE (Paper - Il)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 11.00 a.m. to 1.00 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from the given alternatives : 10
1) The loss duo to Jettison is compensated under Insurance.
a) Marine b) Life
c) Motor d) Fire
2) Marine Insurance Act passed in the year.
a) 1938 b) 1963
c) 1973 d) 1981

3) The General Insurance Corporation of India (GIC) was formed in the year

a) 1956 b) 1969
c) 1972 d) 1973
4) Constructive total loss occurs in insurance.
a) Fire b) Marine
c) Accident d) Third party
5) In Marine Insurance time policy is more useful for
insurance.
a) Hull b) Fire
c) Jettison d) Motor
6) Burglary insurance is a important type of insurance.
a) Marine b) Accident
c) Fire d) Life

P.T.O.
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7) Jettison is treated as loss.
a) Full b) Partial/Average
c) Partial and full d) None of the above

8) Voyage clause is important clause in insurance.
a) Life b) Fire
c) Personal accident d) Marine

9) policy is helpful to avoid the dispute between insurer
and insured in marine insurance.
a) Valued b) Unvalued
c) Mixed d) Time

10) means unable to work.
a) Physical disability b) Efficiency
c) Unable to getjob d) Unefficiency

2. Write short notes : 10

a) Marine perils
b) Burglary insurance.
3. Answer the following:

a) Explain the nature of Fidelity Guarantee Insurance.

b) Explain the structure of General Insurance Corporation of India (GIC). 5

4. a) Whatis meant by ‘Personal Accident and Sickness Insurance’ ? Explain the

protection given under this insurance. 10
OR

b) Explain the procedure of taking Marine Insurance Policy. 10

5. a) Explain in detail the various clauses at Marine Insurance. 10
OR

b) Explain the role of functions of General Insurance Corporation of India (GIC). 10
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Seat
No.
B.Com. (Part — lll) (Sem. — VI) Examination, 2014
ADVANCED STATISTICS (Paper — Il)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

N. B. : i) Allquestions are compulsory.
ii) Each question carries equal marks.
iii) Use of soundless calculators is allowed.
iv) Graph papers will be supplied on request.

1. Choose the most appropriate alternative amongst the given foreach question. 10

i) By graphical of method if L.P.P. has optimum value of objective function at
different two points in the graph, then that L.P.P. has

a) unbounded solution b) infinite many solutions
C) unique solution d) none of these

ii) By graphical method of L.P.P. has optimum value of the objective function at
only one vertex of the common region, then that L.P.P. has

a) unique solution b) unbounded solution
c) infinite many solutions d) none of these
iii) In a balanced assignment problem, the cost matrix has
No. of rows > No. of columns
No. of rows < No. of columns
No. of rows = No. of columns
None of these

a
b
c
d
iv) Who has developed assignment algorithm ?
a) George Dantizg b) Walter A. Schewartz
¢) Hungerian d) None of these

N— S N N

v) Maximisation Assignment problem is converted into minimisation by
subtracting element from all the elements of matrix.

a) Largest b) Smallest
c) Any middle element d) None of these

P.T.O.
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vi) In Row Minima Method (RMM) used to find an IBFS for T.P, the first allowation
is made at the cell in the given matrix.

a) having least cost in 15trow

b) having largest cost in 15trow
c) having least cost in the matrix
d) none of these

vii) Maximum number of basic cells in the given transportation problem with
m-origins and n-distinations is
a) lessthanm +n—1
b) greaterthanm +n—1
c) equaltom+n-—1
d) none of these
viii) Atransportation problem is said to be balanced of

a) Ya >2Xb, b) Ya; < b

C) Ya = 2b; d) none of these
ix) Sequencing algorithm has been developed by

a) Hungerian b) Johnson

c) Saaty d) none of these

x) In a sequencing technique of processing n jobs through 3 machines A, B, C
in the order ABC is possible only when

a) min {Aj > max {Bj | b) min {Bj > max {Aj I
C) min {Aj }>max {Cj} d) either a) or c)

2. A) Solve the following L.P.P. graphical method.
Max. z = 3x; + 4%,
Subiject to the constraints
Xy + X, < 450
2x4 + X, < 600,
X{, X5 2 0 5

B) Explain the procedure of fining optimum sequence of n jobs processed through
two machines A and B in the order A.B. 5
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3. A) Explain least cost entry method used to find on IBFS for the given transportation
problem. Find an IBFS by least cost entry method to the following transportation
problem 10

Destination
1 2 3 4 Supply

1110 22 0 22| 8
Origin 2(15 20 12 8 (13

3120 12 10 15|11
Demand 5 11 8 8

B) The information regarding jobs to be scheduled two machines A and B in the
order A.B is given below.

Time required for processing in minutes
Job — 1 2 3 4 5 6
Machine A 3 12 5 2 9 11
B 8 10 9 6 3 1
Find:
i) Optimum sequence
ii) Total elapsed time
i) Idle times for both the machines.

4. Attemptany one of the following: 10
A) Solve the following transportation problem.
To
A B C Total

I 1 2 3150
{3 2 1180
From Il |4 5 675

V{8 1 2|95
Total 120 80 100

B) Examine in detail assignment algorithm.
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5. Attemptany one of the following :

A) Solve the following assignment problem of minimisation.
Garments
1 2 3 4 5
Al[14 27 8 24 24]

B|8 27 10 21 32
Tailors C|16 15 4 27 32
D12 15 16 30 40

E[14 24 20 27 36
Cost Matrix

B) Explain in detail the procedure of finding an optimum sequence of n jobs
processed through 3 machines A, B, C in the order A.B.C.

Find the sequence that minimises the total elapsed time in hours required to
complete the following tasks :

Tasks : A B C D E F G
Machine | 3 8 7 4 9 8 7
Machinelll 4 3 2 5 1 4 3
Machine lll 6 7 5 11 5 6 12

What is the minimum elapsed time ?

10
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B.Com. (Part — I) (Semester —I) (Old) Examination, 2014
URDU (Compulsory)
Prose, Poetry and Communication

Book : Zauqg-e-Adab

Day and Date : Wednesday, 02-04-2014

Time : 3.00 p.m. to 5.00.p.m.

Max. Marks : 50

N.B. : i) All questions are compulsory.

ii) Figures to the left indicate full marks.
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Seat
No.
B.Com. (Semester — IV) Examination, 2014
ENVIRONMENTAL STUDIES (Comp.)
Day and Date : Sunday, 13-4-2014 Max. Marks : 50

Time : 11.00 a.m. to 1.00 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.

1. Multiple choice questions : 10
) On 5t June day is celebrated.

A) AIDS day B) Earth day
C) Ozone day D) Environmental day

II) The environment word come from language.
A) Roman B) Greek C) Latin D) French

1) percentage area under forest is required for the environmental
balance.
A) 31% B) 32% C) 33% D) 34%

V) gas is responsible for global warming.
A) Nitrogen B) Hydrogen
C) Sulphar dioxide D) Carban dioxide

V) InIndia Air (Prevention and Control of Pollution) Act was passedin
A) 1971 B) 1981 C) 1991 D) 2001

VI) The animal which depend on fully vegetation for their food is knownas __
A) Primary B) Secondary
C) Tertiary D) Quarterary

VII) Which environmentalist is related to Narmada Bachav Movement ?
A) Medha Patkar B) Medha Patankar
C) Sundarlal Bahuguna D) Rajendra Rana

P.T.O.
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VIII) waves are resulted due to earthquake in the ocean.

A) Rita B) Tsunami
C) Cyclone D) Caterina

IX) The term environment means
A) Land B) Area
C) Region D) Surrounding

X) The first historical conference on environment was held at
A) Tokyo B) Paris
C) Greece D) Stockholm

2. Write short answer of the following (any four out of six) :
a) Importance of environmental studies.
b) What is non-renewable resources ?
c) Causes of deforestation.
d) Components of ecosystem.
e) Causes of air pollution.
f) Causes of global warming.

3. Write short notes of the following (any four out of six) :
a) Causes of drought
b) Sustainable Development
c) Effects of Ozone layer depletion
d) World food problem
e) Remedies of global warming
f) Write role of individual in control of pollution.

4. a) Whatis pollution ? Discuss the problem of water pollution in India.
OR

b) Elaborate various measures to protect the environment.

5. “India, a megadiversity nation” — explain in brief.

12

10

10
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Seat
No.
B.Com. — | (Sem. — 1) (New) Examination, 2014
ENGLISH (Compulsory)
(On Track : English Skills for Success)
Day and Date : Thursday, 27-3-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.

1. Choose the right answer from the alternatives given below : 10
i) The word ‘intelligence’ is derived from the word ‘intellegere’.

a) Greek b) Latin
c) Indian d) English

i) The writer’'s attitude towards Miss Krishna was one of
a) deep affection and admiration b) apathy and indifference
c) tolerance and patience d) hatred and contempt

i) The note that the man from the west received was in fact from
a) John b) Bob
c) Jimmy d) Johny

iv) O Henry was the pen name of the American writer
a) Harry Potter b) George Orwell
c) Nergis Dalal d) William Sydney Porter

v) Sarojini Naidu's ‘Bangle Sellers’ uses the vivid image of a bangle to capture
the concept of
a) Gender inequality b) Class equality
c) Group equality d) Gender equality

vi) ‘An lrish Airman Foresees His Death’ relates to the plight of Irish
fighting for the United Kingdom.

a) Police b) Leaders
c) Gentlemen d) Soldiers

P.T.O.
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vii) Rajanilivesin United States of America.
a) a b) an
c) the d) no article
viii) Thisis not Sonu’sfile. It's
a) my b) myself
C) mine d) none of the above
iX) Raju does all his tasks great care.
a) in b) with
c) at d) on
X) Thetemples here are many old.
a) Century b) Centurys
c) Centurie’s d) Centuries
2. Answer any five of the following questions intwo to three sentences each. 10
1) Describe the character of Jimmy wells with suitable evidence from the story
‘After Twenty Years'.
2) What do you understand of Miss Krishna'’s childhood from the story ‘The
Connoisseur’ ?
3) What are the many facts of intelligence ?
4) Examine how O. Henry builds suspense and provides a twist in the story
‘After Twenty Years'.
5) Describe the narrator’s experience of having Miss Krishna stay at her house.
6) Why can computers not ‘think’ in the same way as human beings ?
3. A) Write a paragraph on any two of the following topics. 6
i) A meaningful Education.
i) The importance of celebrations in our lives.
ii) Evils of Terrorism.
B) Answer briefly any two of the following questions. 4

i) Describe the different types of bangles which the bangle-sellers carry.

i) What do you think is the speaker’s attitude towards his ‘poor’ countrymen in
the poem ‘An Irish Airman Foresees His Death’ ?

i) Explain the following lines. ‘A waste of breath the years behind in balance with
this life, this death’.
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4. Write an essay on any one of the following topics. 10
i) Role of youth in development of the Nation.
i) Wildlife Conservation — Need of the Day.

5. Read the following passage and make notes giving a suitable title. 10

The problem of unemployment is one of the major problem in India. Our
development plans as conceived so far have failed to provide adequate solution
for it. In almost every five-year plan, the Government has been giving great
importance to the problem of unemployment but inspite of the fact that many
plans have been completed by now, this problem continues to be grave as ever.

Unemployment, in India, is of varying kinds and degrees. A large number of
people are completely jobless. They keep knocking about from piller to post in
search of pretty jobs, but wherever they 90, they are faced with the relentless
‘no vacancy’ boards. Most of the people in this category are educated and belong
to urban areas. But three-fourths of our unemployed populace get their sustenance
from land and they are not completely unemployed. On account of the nature of
their work, they have to remain in forced idleness for one-third of the year. Even
otherwise, their working hours are being confined to morning and evenings, they
waste the rest of their day in idle gossips. Loss in terms of man-hours suffered
thus is colossal indeed. These formers can be called underemployed or seasonally
employed.

Many factors are responsible for accentuating this problem, the most conspicuous
among them being over-population of the country. Secondly, India is still an
underdeveloped nation. Lack of technical education and vocational guidance along
with a distaste for manual labour is responsible for unemployment among the
educated people. Gradual dis-integration and exinction of the cottage industry
accounts for under-employment among farmers.

unemployment leads to very tragies consequences. It breeds frustration among
some, discontent among the others. It is responsible for under-nourishment of
our children and our poor living standards and poor education and medical
facilities.
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Seat
No.
B.Com. — | (Semester — I) Examination, 2014
BUSINESS ECONOMICS (New) (Paper - 1)
Day and Date : Tuesday, 1-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : 1) All questions are compulsory.
2) Figures to the right shows full marks.
3) Draw diagram where necessary.

1. 1) Who firstly introduced the concept of indifference curve ?

a) Dr. Marshall b) Pareto
c) Edgeworth d) Allen
2) The right of marking private property is the feature of economy.
a) Dictatorship b) Closed
c) Free market d) Socialistic

3) Which are the factors affecting elasticity of demand ?
a) Uses of goods
b) Nature of goods
c) Availability of substitute goods
)

d) Allabove
4) introduced firstly the percentage methods elasticity of demand.
a) Schumpeter b) Keynes
c) Prof. Edgeworth d) Dr. Marshall
5) According to Marshall the concept of utility is
a) Positive b) Negative
c) Cardinal d) Ordinal
6) Under free economy is the king.
a) Seller b) Consumer
c) Investor d) Producer

P.T.O.



SLR-BN-72 2- U0 O A

7) The relation between income and demand is
a) Positive b) Negative
c) Zero d) None of the above

8) When there is no change in quantity demanded of change in price then it is

a) Less elastic demand b) More elastic demand
c) Perfectinelastic demand d) Perfect elastic demand
9) Surveys are important technique for short term forecasting.
a) Demand b) Stock
c) Production d) Supply
10) Generally the trend in marginal rate of substitution is
a) Stable b) Increasing
c) Decline d) None of these

2. Give short answers :
a) Explain the concept of price elasticity of demand. 5

b) Explain the subject matter of business economics. 5

3. Write short notes :

a) Defects in utility analysis. 5
b) Explain the main features of free marketed economy. 5
4. Answerany one: 10

a) Give the properties of indifference curve.

b) Explain the merits and demerits of free economy.

5. Answerany one: 10

a) What is the price elasticity of demand ? Explain the types of elasticity of
demand.

b) Explain the methods of demand forecasting.
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Seat
No.

B.Com. — | (Semester — I) (New) Examination, 2014
MARATHI (Comp.)

TATST ATAYIh — UTSAYEAhR — AT

Day and Date : Wednesday, 2-4-2014 Max. Marks : 50
Time : 3.00 p.m. t0 5.00 p.m.
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Seat
No.
B.Com. (Part — I) (Semester — 1) Examination, 2014
URDU (Compulsory) (New)
Prose, Poetry and Communication
Day and Date : Wednesday, 02-04-2014 Max. Marks : 50

Time : 3.00 p.m. to 5.00 p.m.
N.B. : i) All questions are compulsory.

ii) Figures to the left indicate full marks.
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Seat
No.
B.Com. (Part — I) (Semester — I) Examination, 2014
PRINCIPLES OF MARKETING (New)
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions: 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.

1. Choose the correct alternative from given alternatives : 10

1) The system of value exchanges means

a) Production b) Price
c) Marketing d) Promotion
2) Modern marketing is oriented.
a) Consumer b) Market
c) Price d) Political
3) is factor of marking environment.
a) Demographic b) Economic
c) Cultural d) All
4) The market where agricultural products are sold is called
a) Capital market b) Money market
c) Produce exchange d) Share market
5) Market segmentation is of marketing.
a) Mission b) Vision
c) Strategy d) Target
6) Free service and maintenance during warranty period is the example of
a) Impersonal selling b) Indirect selling
c) Direct selling d) After sales service

P.T.O.
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7) The object of product packaging is
a) Product protection b) Product identification
c) Prevent malpractices d) All

8) Registration of trade mark is

a) Compulsory b) Optional
c) Necessary d) Binding
9) Deciding price is a function.
a) Technical b) Financial
c) Managerial d) Market
10) is an attempt to recognise distinct stages in the sales history of
the product.
a) Trade cycle b) Product life cycle
c) Price cycle d) Demand cycle
2. A) State the importance of marketing. 5
B) Explain the functions of packaging. 5
3. A) State the importance of price. 5
B) State the requisites of good brand name. 5
4. Answerany one of the following question. 10

A) What is marketing environment ? Explain various factors of internal
environment.

B) What is market segmentation ? State the various bases for segmentation.
5. Answerany one of the following question. 10

A) Define the term product life cycle. Explain the various stages of product life
cycle.

B) Define price. Explain the factors affecting price of a product.
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Seat
No.
B.Com. (Part — I) (Semester — I) Examination, 2014
BUSINESS MATHEMATICS (New)
Day and Date: Thursday, 3-4-2014 Max. Marks: 50

Time: 3.00 p.m. t0 5.00 p.m.

Instructions: 1) All questions are compulsory.
2) Figures to the right indicate full marks.
3) Graph papers will be supplied on request.
4) Use of calculators and log tables is allowed.

1. Choose the most appropriate alternative from the given alternatives for each
question. 10

i) A sequence in which the difference between any term and its preceding term
is constant is called as
a) Geometric progression b) Harmonic progression
c) Arithmetic progression d) None of these

ii) The logarithm of 1 to any base is
a) positive b) negative C) zero d) none of these

iii) If aand b are two quantities of the same kind (in same units), then the fraction
a/b is called the

a) proportion b) ratio c) indices d) none of these
iv) Ifa:b=c:d, wesaythata, b, c, dare proportional and, we writea:b::c:d,

then

a) ad > bc b) ad < bc c) ad=bc d) none of these
v) ni" term in geometric progression is given by

a) T,=a+(n—1)d b) T,=a.r" -1

1-r"
c) Th=a - d) none of these

P.T.O.
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vi) In general for positive rate of interesti.e. r > 0, we have
a) simple interest > compound interest
b) simple interest < compound interest
c) simple interest = compound interest
d)
vii) If the first payment is due at the end of the first year or the first interval the
annuity is called as
a) immediate annuity b) annuity due
c) deferred annuity d) none of these

none of these

viii) In a square matrix
a) No. of rows > No. of columns b) No. of rows < No.of columns
c) No. of rows = No. of columns d) None of these

ix) Matrix multiplication A.B is possible only when
a) No. of columns in matrix A is equal to no. of rows in matrix B
b) No. of rows in matrix A is equal to no.of columns in matrix B
c) Order of matrix A is equal to order of matrix B
d) None of these

x) If any two rows or any two columns of a determinant A are identical then

a) |A|>0 b) |A|<0 c) |A=0 d) none of these
2. A) A bag contains rupee, 50 paise and 25 paise coins inthe ratio 5: 6 : 8. If the
total amount is Rs. 420, find the number of each type. 5
3 1|
B) IfAz{ 2},flndA2—9A+>l. 5
3. A) The second and the fifth terms of a G.P. are 24 and 81 respectively. Find the
first term and the common ratio of the G.P. 5
1 3 2
B) Evaluate|-2 4 5 5

6 -1 10
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4. Attemptany one of the following : 10

A) Compute the inverse of the following matrix by adjoint method.

W = DN
- N W
N W =

B) A man takes a loan of Rs. 10,000 and agrees to pay an annuity of Rs. A for
years deferred for 3 years at the rate of 4% p.a. compound interest. Find the
amount of the annuity.

5. Attemptany one of the following: 10
A) Solve the L.P.P. by graphical method
Max. Z = 5X, + 6X,,
Subiject to the constraints
3X; +4X, < 60
8X;+4X, < 100and X, > 0, X, > 0.
B) Solve the following equations by using Cramer’s rule.
2X-Y+3Z=4
X+Y+Z=2
3IX-Y-2Z=2.
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Seat
No.
B.Com. (Part — I) (Sem. - I) (New) Examination, 2014
INSURANCE
Day and Date : Thursday, 3-4-2014 Total Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

Instructions : i) Allquestions are compulsory.
ii) Figures to the right indicate full marks.

1. Choose the correct alternative and rewrite sentences. 10

1) The Insurance Policy is contract between company and

a) Creditor b) Debitor
c) Policy holder d) Surety

2) Parties related to Insurance contract should enter into their
a) Permission b) Free consent
c) Reverence d) None of above

3) is a soul of Insurance business.
a) Insured b) Insurance Agent
c) Insurer d) Creditor

4) The principle of atmost good faith applies on

a) Insured b) Insurer

c) Insurer and Insured d) Insurance Agent
5) is exception to the principle of indemnity.

a) Fire Insurance b) Marine Insurance

c) Life Insurance d) Motor Insurance
6) certificate is accepted as proof of age by LIC.

a) Birth b) Bonafide

c) Domicile d) Medical

P.T.O.
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7) Under whole life policy premium is paid throughout the life of the
assured.
a) ordinary b) limited c) single d) convertible

8) Life Insurance Corporation of India was established in the year.
a) 1946 b) 1956 c) 1966 d) 1976

9) Theinsurable interest must presentin is important in Life Insurance.
a) Wife b) Life
c) Son d) Service

10) The surety can take Life Insurance.
a) Owner b) Creditor
c) Surety d) Loan-holder

2. Write short notes : 10

a) Surrendervalue
b) Atmost good faith.

3. Write short notes : 10
a) Proof of age
b) Grace days.

4. Answer (any one) : 10
i) Explain principles of Insurance.
ii) Elaborate procedure of taking Life Insurance Policy.

5. Answer (any one): 10
i) Explain different types of Term Life Insurance Policies.
i) Describe the functions of Life Insurance Agent.
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Seat
No.
B.Com. - | (Sem. - I) Examination, 2014
ECONOMIC AND COMMERCIAL GEOGRAPHY (New)
Economic Geography (Paper - I)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 3.00 p.m. t0 5.00 p.m.

N. B. : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) Neatdiagrams and maps should be drawn wherever
necessary.
4) The use of maps stencil is allowed.

1. Rewrite the following sentence choosing appropriate words : 10

1) Industry is type of economic activities.

A) Primary B) Secondary C) Tertiary D) Fourth

2) is a father of economic geography.

A) Chisholm B) R. S. Smith C) Hetner D) R. E. Marphy

3) geography studies economic activities.

A) Agriculture  B) Economic  C) Industrial D) Commercial

4) U.S.A.rank in Iron and Steel industry in the world.
A) First B) Second C) Third D) Fourth

5) Development of industries is the base of industrial development.
A) Iron and Steel B) Automobile
C) Cement D) Electronic

P.T.O.
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6) Inthe export of Iron ore rank firstin the world.
A) India B) U.S.A. C) Russia D) France

7) country rank first in production manganese in the world.
A) Russia B) U.S.A. C) UK D) India

8) Miningis a economic activities.

A) Primary B) Secondary C) Tertiary D) Quaternary

9) In Iron ore production Russia stand rank in the world.
A) First B) Second C) Third D) Fourth
10) country rank first in production Iron and Steel in the world.
A) Russia B) U.S.A. C) UK. D) India

2. Answer the following :
1) Scope of Economic Geography. 5

2) Need and nature of conservation of resources. 5

3. Answer the following :

1) Distribution, production of Iron-ore. 5

2) Secondary and tertiary economic activities of mass. 5

4. 1) Give an account of cotton textile industry in U.S.A. and India. 10
OR

2) Role of economic activities in national economy. 10

5. 1) Whatis Economic Geography ? Explain the branches of Economic Geography. 10
OR

2) Write on production and trading Bauxite in the world.



U 3 SLR-BN-80

TRIST ST
e : ¢) GF J9T ATAAE 5.
?) STABSIT 7% FoT9 GUf T G laar.
3) STEVIFR T9 GAF THT T TH] FIe.
¥) THIT CHieq TTRTE AT 376,

. T St 9 woie fagy faum g forer - %o
%) HREMERI & TSR SATTh qER 3R,
3T) rrfheR E)REGIR F) qaAE g) =qd
?) T AT I Sk TEUrard.
1) fasricd ¥) X, uy. fay
%) FEW T) . 3. "
3) srifeler fopaman eTwmd AT ShedT STl
37) FHl ) o %) Eifie ) =[O
¥) ATg UTele STNTERITT g, TH .U, =1 ST HHTH TR,
) gfger ) gE &) faaa g) =ten
Y) e ok R T ITNT=AT TIhTETER ST TR,
) dre AT Iias E) RS PEINCACIR
) femie SEREAIRED
&) STHE IS AR e T I JH AT TR
31) 9Rd ¥) .UE.T ) WRI T) ®IH
o) STTTHE T ScATETd T ST JoH AT T

31) W d) 4. .U ) .k, g) WRd



SLR-BN -80 -4-

¢) @I & Teh 3Tfefeh SaE™ 3.
1) mufies 5) fgd &%) qa g) =qd

R) SETHE TR TS AR Sca1e ST 3T
) vId E)REGIR] %) g g) =gd

%0) SHTHE Tald S I8 IIeiTe ScdTe-Td T T T9H SHHTh TR,
1) Wr d) ..U &) L.k $) 9Na

2. Wrefted Jer 3w fore
%) AT e T&Y.
R) IUiETeA WEY, TS 9 GUR0T.
3. Greitd g 3 foret
%) IYE AEer farawur  Iaure.
R) et anfor qeffr wmam = mfdfer sraam.
¥, %) J.TY.U, M IRATdI Yoiaedl ST Jaid o1
fera
R) anfdfer forama Tt 31ef Sadiar T,

Y. %) IR I TEUIST i 7 TR ST ST ¥95e 1.
feman
R) ST STeETEE 3cTe o AR ATa Ffeweat ATfed! fetat.

go

go



U0 O SLR-BN - 81

Seat
No.
B.Com. — | (Semester — II) Examination, 2014
ENGLISH (Compulsory) (New)
On Track (English Skills for Success)
Day and Date : Thursday, 27-3-2014 Max. Marks : 50

Time:11.00a.m. to0 1.00 p.m.

Instructions : 1) Allquestions are compulsory.
1) Figures to the right indicate full marks.

1. Complete the following statements by choosing correct alternative from those

given below. 10
1) In ‘Work brings solace’ Von Braun was working for the

a) Indian Army b) US Army
c) England Army d) Russian Army

2) The Parliament of Religion was held in
a) India b) Africa c) America d) Japan

3) Thelesson ‘Human Rights and Legal Responsibilities’ is written by
a) O. Henry b) Romain Rolland
c) Nergis Dalal d) Nani A Palkhivala

4) J. H. Wright offered the Penniless Pilgrim a railway ticket to
a) Boston b) Chicago c) America d) China

5) A.P. J. Abdul Kalam was in complete control over himself and over the

project.

a) SLV-3 b) SLV 2 c) V.2 d) Vi

6) Ralph Waldo Emerson has written the poem
a) Fullmoon b) Brahma
c) Bangle Sellers d) Ecology

7) Inthe poem ‘Full moon’ Hayden ponders on mankind’s relationship with the

a) Sun b) Star c) Earth d) Moon

P.T.O.
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8) Savita’s motheris a singer.
a) reputed b) reputation  c) better d) repute
9) Who wontherace ? The or the tortoise ?
a) hair b) hare c) here d) hear
10) Thisis one of poems.
a) Tagore b) Tagores c) Tagore’s d) None
2. Answer any five of the following questions in two to three sentenceseach : 10

1) What kind of personality was Von Braun, according to Dr. A. P. J. Kalam ?
2) Whatis Dr. Kalam’s attitude towards work culture ?

3) Describe Vivekananda’s meeting with J. H. Wright. How did Wright help
him out ?

4) Who were the other Indian delegates present at the Parliament of Religions ?
5) Why does Palkhivala say that the world continues to be ‘less than half free’ ?

6) Why does Nani Palkhivala declare that human rights can not function in a
vacuum ?

3. A) Answer any two of the following questions intwo to three sentenceseach: 4

1) What is the message that the poet R. W. Emerson is trying to give in
‘Brahma’ ?

2) What role does the theme of time play in the poem ‘Full moon’ ?

3) Examine Hayden’s use of imagery in the poem ‘Full moon’.

B) Answerany two of the following questions : 6

1) You are Rakesh Jadhav living at Ashok Nagar, Kholapur —4 and you have
just received an e-mail letter of appointment as Assistant Officer in the
accounts departments of Samtron Industries, 124 Shubham Complex
M. G. Road, Pune. The e-mail letter is dated 11 August 2013 and the
sender is Mr. Ramesh Murthy, General Manager. Write an e-mail in reply
accepting the offer.
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2) You have to go to Singapore to work on a software project for your
company in Pune. Send an email letter to Sandeep Travels (address
Sandeep_tours @ yahoo. com) asking them to make travel arrangements.
Specify the airline you would prefer to travel by, date, class, food and
mode of payment in an attachment called ‘Travel details’.

3) The New Observer, a newspaper has invited readers to send letter to
the editor to the e-mail address, newobserver@gmail.com. Write an
e-mail letter saying that their report on a seminar held in your town was
misleading. The report has said that the seminar ended in confusion and
disorderly behaviour by two groups of participants which is not true.

4. Answerany one of the following questions :

a) You are the Secretary of ‘Bharat Social Organisation’ in your town. Inform
the members about ‘Blood — donation Camp to be organised by your
organisation. Draft notice and agenda for meeting to be held on 15t March,
2014 in the Conference Hall.

b) You are the Secretary of Commerce Association in Hegde College, Pune.
Well-known business man R. K. Sharma has agreed to visit your college and
interact with teachers and students on 10" March 2014. Draft notice and
agenda of the meeting.

5. Prepare the CV of a fresh graduate who has applied for the post of
Assistant Manager.

10

10
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Seat
No.
B.Com. - | (Semester — II) Examination, 2014
PRINCIPLES OF BUSINESS MANAGEMENT (New)
Day and Date : Friday, 28-3-2014 Max. Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

N. B. : 1) All questions are compulsory.
2) Figures in the right indicate full marks.

1. Select suitable alternative from the given alternatives : 10

1) The process of passing information from one person to anothermeans _____
a) Training b) Leadership
c) Communication d) Motivation
2) The ability to shape the attitudes and behaviour of others is
a) Controlling technique b) Leadership
c) Communication d) Change of management

3) Control function of management cannot be performed without

a) Motivation b) Directing
c) Planning d) Organising
4) is the checking current performance against predetermined
with a view to ensuring adequate progress.
a) Planning b) Organising
c) Motivation d) Controlling

5) A positive leader is one who motivate their subordinates by

a) Creatingfear b) Increasing satisfaction

c) Punishing d) Centralising authority
6) Critical path method is technique of control.

a) Traditional b) Modern

c) Only a) d) Botha)andb)

P.T.O.



SLR-BN - 82 2 N

7) leadership style use the policy of punishment.
a) Functional b) Autocratic
c) Paternal d) Democratic

8) Itis the point at which cost and revenue of the enterprise are exactly equal

a) Returnoninvestment b) Ratio

c) Breakeven d) None of the above
9) Creating sense of achievementis a incentives of motivation.

a) Financial b) Non-financial

c) Political d) None of the above

10) Changeisa process.
a) Traditional b) Economical
c) Continuous d) None of the above
2. Write short notes : 10

A) Causes of resistance to change.

B) Process of communication.

3. Write short answers : 10
A) Explain the financial and non-financial incentives of motivation.

B) Explain the features of leadership.

4. Define the term motivation. Explain the importance of motivation. 10
OR
Define leadership. Explain the various types of Leadership styles.
5. Define the concept of managerial control. Explain the various techniques of
controlling. 10
OR

Explain the need of change in management.
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Seat
No.
B.Com. - | (Semester — II) Examination, 2014
FINANCIAL ACCOUNTING (New)
Day and Date : Saturday, 29-3-2014 Total Marks : 50

Time: 11.00 a.m. t0 1.00 p.m.

Instructions : 1) All questions are compulsory.
2) Outof Q. 4aand Q. 4b solve any one.
3) Out of Q. 5 aand Q. 5 b solve any one.
4) Figures to the right indicate full marks.

1. Choose the correct alternatives and complete the given sentence : 10

1) The relationship between consignor and consignee is one of
a) Debtor and creditor b) Seller and buyer

c) Principal and agent d) Producer and consumer

2) The commission given to the consignee to bear loss on account of bad debts

is
a) Simple commission b) Special commission
c) Overriding commission d) Del Credere commission

3) The object of branch accounting is to know

a) Profit and Loss of Head Office

)
b) Profit/ Loss of each branch

c) Profit and Loss of the proprietor
d)

None of the above

P.T.O.
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4) Dependent Branch is also called as branch.
a) Agency b) Independent
c) Foreign d) Inland
5) Accounting means those rules of action adopted by the accountants

universally while recording accounting transactions.

a) System b) Principles
c) Procedure d) None of the above
6) Theterm includes those basic assumptions or conditions

upon which the science of accounting is based.

a) Conventions b) Accounting
c) Concepts d) All of the above
7) According to convention accounting practices should remain

unchanged from one period to another.

a) Materiality b) Disclosure
c) Conservation d) Consistency

8) In system only Personal Accounts and Cash Book are kept.
a) Branch Accounting b) Double Entry
c) Single Entry d) None of the above

9) The primary objectives of organisation is to provide services.
a) Company b) Partnership
c) Non-Profit d) None of the above

10) system is suitable for small business unit such as sole trading

concern and partnership firm.
a) Branch Accounting b) Company Accounts

c) Single Entry d) None of the above
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2. Answer the following :
A) Write a short note on Accounting Principles. 5

B) A Head Office in Delhi has a branch at Bombay. From the following information,

prepare the Branch Account in the Head Office books showing the net profit of

the branch : 5
Rs.
Opening stock at branch 5,000
Goods sent to branch 40,000
Goods return by branch 2,000
Sales proceeds received from branch 50,000

Cheques sent to branch for:

Salaries 2,400
Wages 600
Rent 1,000
Closing stock at branch 7,000

3. Answer the following :
A) Write a short note on Accounting Conventions. 5

B) A consigned 2000 tonnes of coal @ Rs. 50 per tonne to B of Delhi. He paid
Rs. 20,000 as freight. Due to normal wastage only 1,950 tonnes were received
by B. He also paid Rs. 5,000 as unloading and cartage charges. The goods
unsold amount to 650 tonnes.

You are required to calculate the value of closing stock. 5
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4. Answeranyone:

a)

On 18tJune, 2013, Benerjee and Co. of Baroda consigned to Mukerjee and
Co. of Mahmad 100 fans invoiced at Rs. 450 each, which was 25% above
their cost price. Banerjee and Co. has paid Rs. 100 for packing Rs. 50 for
insurance and Rs. 350 for carriage.

On 18t Oct. 2013, Mukerjee and Co. sold 75 fans for Rs. 40,000 the expenses
incurred there on being Rs. 1,600. Mukerjee and Co. is entitled to get ordinary
commission at 5% and 25% del-credere commission on sales. They remitted
Rs. 30,000 to Banerjee and Co.

Pass the Journal Entries in the books of Consignor.

Given below is the Receipt and Payment Account of Khandvi Sports Society
for the year ended 315t March, 2013 :

Receipt and Payment Account for the year ended 31-03-2013

Receipts Rs. Payments Rs.
To Entrance fees 2,000 By Salaries 2,000
To Donation for building 25,000 By Gardening 300
To General donations 3,000 By Building 20,000
To Subscription 4,000 By Printing and Stationary 200
To Interest on Investment 100 By Furniture 4,000
To Rent received 900 By Telephone charges 400

By Sports Equipments 3,000

By Insurance 100
By Investments 4,000
By Balance c/d 1,000

35,000 35,000

10
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Additional Information:

1) Subscriptions outstanding for the year 2012-2013 Rs. 800.

2) Subscriptions received in advance for the year 2013-2014 Rs. 50.

3) Salaries outstanding Rs. 100.

4) Prepaid Insurance Rs. 30.

5) Half of the entrance fees are to be capitalised.

6) Depreciate building by 2% , furniture by 5% and sports equipment by 10%.
Prepare:

1) Income and Expenditure Account for the year ended 31-03-2013.

2) Balance Sheet as on that date.

5. Answeranyone: 10

a) The Modern Trading Company of Solapur has a branch at Barsi. Goods are
sent to branch at selling price which is cost plus 20%. All cash received is
deposited into the head office account in a local branch and the necessary
advice is sent to the head office. The head office sends cheques for branch

expenses.

From the following particulars, draw up the Branch Account in the head office

books :

Rs.
Stock at branch on 15tJanuary, 2013 18,000
Stock at branch on 315t December, 2013 22,800
Goods sent to branch 72,000

Goods returned to head office 4,200
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Cash sales for the year

Credit sales for the year
Returns from customers

Cash received from customers
Discount to customers
Allowances to customers

Bad debts

Rent and rates

Salaries and wages

Sundry debtors on 1St January, 2013

Sundry debtors on 31! December, 2013

39,000
25,200
1,200
20,000
400
100
500
1,500
4,000
6,000

9,000

Shri Abhay requests you to prepare a Balance Sheet and Profit and Loss

Account for the year 2013 from the following details :

All his takings : Cash and credits are paid into Bank, except the amount

retained for personal use and for Petty expenses, which he notes in a note

book. An analysis of the Bank Pass Book reveals the following :

Total amount (including Rs. 3,350 for credit sales mode in 2012) paid into

Bank Rs. 43,550. Expenditure :

Personal drawing Rs. 3,000
Purchases Rs. 35,400
Salaries Rs. 2,500

Rent Rs. 1,200

Electricity Rs. 350

Printing and Stationary Rs. 250 and advertising Rs. 450.
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Cash at Bank on 315! Dec. 2013 was Rs. 400. His personal drawing shown in
the note book amounted to Rs. 1,200 and the amount spent for petty expenses
Rs. 300, Rs. 4,675 was outstanding for Credit sales excluding Rs. 425, which

was considered, irrecoverable and to be written off.

His liabilities were :

Particulars 31-12-2012 31-12-2013

Rs. Rs.
Creditors 2,400 3,500
Rent 100 100
Electricity 20 15
Advertising = 250

The stock on 31-12-2013 was Rs. 3,500 but he had no record of his stock on
315t Dec. 2012. He sold his Goods at profit 33%3 % on cost.
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Seat
No.
B.Com. | (Semester — Il) Examination, 2014
BUSINESS ECONOMICS (Paper — 1) (New)
Day and Date : Tuesday, 1-4-2014 Total Marks : 50

Time:11.00a.m. to0 1.00 p.m.

Instructions : 1) Allquestions are compulsory.
2) Figures to the right indicate full marks.
3) Draw diagram wherever necessary.

1. Choose the correct alternative given below. 10
1) The functional relationship between input and output is called as
a) Utility b) Production function
c) Cost function d) Law of variable proportions
2) Price discrimination is the feature of
a) perfect competition b) monopoly
c) oligopoly d) monopolistic competition

3) Product differentiation is done by the producer in

a) Monopoly b) Perfect competition
c) Monopolistic competition d) None of these
4) Isoquants are also known as indeifference curve.
a) production b) distribution c¢) exchange d) substitution

5) Theory of distribution is based on
a) Diminishing productivity
b) Total productivity
c) Marginal productivity
d) Average productivity

P.T.O.
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6) Quasi Rent concept was firstly presented by

a) David Ricardo b) Prof. Pigou
c) Dr. Marshall d) Lord Keynes
7) Production means
a) Creation of utility b) Creation of price
c) Creation of cost d) Creation of labour

8) Where the total revenue and total cost of the firm equals it is called as
a) Indifference curve b) Isoquants
c) Break even point d) None of these

9) ‘No profit no loss’ analysis is useful in

a) Short period b) Very long period
c) Longperiod d) Very short period
10) Homogeneous product is the feature of
a) Oligopoly b) Monopoly
c) Perfect competition d) Monopolistic competition

2. Give short answers.
a) What are the features of monopoly ? 5

b) Explain the law of returns to scale. 5

3. Give short noteson:

a) Exploitation of labour. 5
b) Explain the features of perfect competition. 5
4. Give answer onany one. 10

a) Explain innovation theory of profit.

b) Examine dynamic theory of profit .

5. Give answer onany one. 10
a) Explain the liquidity preference theory of interest.

b) Give the properties of Isoquants.
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Seat
No.
B.Com. - | (Semester — Il) Examination, 2014
MARATHI (Comp.) (New)
AT

Day and Date : Wednesday, 2-4-2014 Total Marks : 50
Time :11.00a.m. to 1.00 p.m.

. FEIHSS I I Ity e %0

%) ‘et TsT’ TATH M JIIEN 16 H 7
i) B, TERITS i) ®. REst ™ i) 9. G SRS iv) B, TS

R) MYk AERTE RIeThR U IV @ S ¢

i) TSTHT M8 ii) AT TSR]
iii) 7. Bt iv) Sf. IETERY TSH
3) ‘arReE Al @ aferd dEEuE SR@e i 7
i) TEFHAR T ii) g T iii) g.91. oA jv) TS Aed
¥) gegneita ‘fafered ooe’ = Tee I B 7
RIERNIEEE DREEINER i) TS SEE  iv) WS A
%) “ffeur T RV RV IS I3 oATeld 7
i) PR i) gRERT iii) weQ iv) ST
&) T UyERe AT INEre et Tudtmeiiet hivTe et A qureas
AR 7
i) JE ii) AT iii) Frgt iv) TR
o) G AT T AT AT FTAR[GATHTET hall hl0T 7
i) AT EAETIRT i) ST AR i) TS TR iv) STetshat

P.T.O.
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Seat
No.
B.Com. -1 (Semester — Il) (New) Examination, 2014
HINDI (Com.)
‘Sahityadhara’ Aur Vyavharik Hindi
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time:11.00 a.m. to 1.00 p.m.
geAr : 1) @ut ye7 sfAard & |
2) 3¢ AN ford 37 37 & JU awIa & [
1. Sgfashedl™ T (10 5 & 10) 10
et vt § @ 3fua v gt o e @ fafae |

1) HeAsl 1 Wt el T EREANGECIN
(1950, 1957, 1958, 1961)

2) Fdea e’ 9% T @i IECIR
(Tafer, e, Sfat, o)

3) MY {4 I STET ST 2 |
(vrer shrfera, B3R qodT, e Aierd!, HRTed M)

4) W e a9 |
(feg, S, qoomH, 15)

5) WigssE H T STl e |

(frer, e, =1, TeA)

6) FE ST AS(RAT shiardT & ahid 2
(VT e, TR TS, e, Tae)

7) S B4 gl = faq |

(Rt arssfeET, TEeiET, adtse)

8) =il I o AHT @1 |
(37T, TR, WIS hl, THL )

9) f&ct o sehl I T 2 |

P.T.O.
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2. fafafaa 4 9 ufar Yo & I Eaq 8 fafgy | 10

shdl shieh shl ATl faIRau |
TR 3T YIS heh hl X Gl T Fifsiu |

3. frfafaa saawn & & 6t gt i gued = men Fifs | 10
1) ‘e sfa = difse, it de = =i
B AT FA T, SR U@ Al = 11
2) ““forelt TfomeeT # gt AW e foran
%e+ T ot 3ok a9 1 v el fierar
IRl el ohls WS i fegdr |
3) “'S& g Ya1 g oM

geretl |, Tig 37 Aig,
T AN ¥ TlE A -
TI-Td 9 3G gt fomm o |

4. Tr=fafaa 4 @ foret ues w97 =1 3w faifgu | 10
Toied g =1 =fer-fasmor i |
Jran
Fe STt At 1 fammn fifs |
5. el T 10

o

‘Tt T ATfcAsh M1 o AW O ST € 1 fashd €9 Tee hifvw |
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Seat
No.

B.Com. (Part — 1) (Semester - Il) (New) Examination, 2014
URDU (Compulsory)
Guldast-E-Adab
(Prose, Poetry and Communication)
Day and Date : Wednesday, 02-04-2014 Max. Marks : 50
Time : 11.00 a.m. to 1.00 p.m.
N.B. : i) All questions are compulsory.

ii) Figures to the left indicate full marks.

10 : é(m o LS KB £
< b K U* (i
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< o K L "ok
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N = . (4
&F 5 i &)
AR Y rLa/.T)ly O Ol by (¢
(s Y e i RS
;uﬁ‘J,g/Lﬂb’Jb}Juﬁ,}/ (o
< > JB et 5 0 < =4
< K 20 T

(:jbgilﬂ yu:/d&f ‘J’J s ("J /L’ rlJ ufyf)

P.T.O.
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It was a warehouse where the mice lived. One day, a black cat
wondered into it. “What a good place for me to live in and feed
on mice. | will pretend to be dead”. Thought the cat to himself
and lay down on the ground. The younger mice surrounded
him and began to shout, “look, here is a dead cat”. But an old
mouse cautioned them. “Be careful, a cat has nine lives”. Then
the old mouse climbed up a large bin where a sack of flour was
kept. It was just above where that cat lay. The mouse cut open
the sack and the flour poured out on to the cat. Then there
came a sneeze and a white cat came out of the flour.
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Seat
No.

Day and Date : Wednesday, 2-4-2014

B.Com. — | (Semester — II) (New) Examination, 2014
PRINCIPLES OF MARKETING

Time: 11.00 a.m. to 1.00 p.m.

N.B. : 1) All questions arecompulsory.
2) Figures indicates full marks.

1. Choose the appropriate alternative from the given alternatives :

1)

2)

3)

4)

5)

is the systematic, objective and exhaustive search for the
study of facts relevant to any problem in the field of marketing.

A) Marketing research B) Social research
C) Marketresearch D) Crop research
The term is generally used with reference to the steps taken

externally apart from general advertising for raising the existing level of
sales to higher levels.

A) Sales promotion B) Salesmanship
C) Advertising D) Marketresearch

Is fundamentally a personal contact in which one person
seeks to persuade another to effect an exchange.

A) Personal selling B) Sales promotion

C) Trade marks D) Marketing

Income of the family is factor affecting on buying behaviour
of the buyer.

A) Psychological B) Cultural

C) Non-economical D) Economical

Channels of Is a set of independent organisation involved in
the process of making a product or service available for use of consumption.
A) Marketing B) Distribution

C) Promotion D) Financial

SLR-BN — 88

Max. Marks : 50

10

P.T.O.
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6) InIndia is celebrated as ‘Consumer Day’.
A) 24% Dec. B) 15" March C) 25""March D) 25% Dec.

7) Promotion to salesmanis a mean of motivation.
A) Economical B) Non Economical
C) Psychological D) Political

8) Allthe problems having psychological aspects can be solved by undertaking
marketing research with the help of method.

A) Survey B) Observation C) Experimental D) None of these

9) is an end user of a product or service.
A) Consumer B) Customer C) Buyer D) Mediator

10) Alldisputes of compensation amounting to less than Rs. 20 lakhs are settled
at

A) National commission B) State commission

C) District forum D) International commission

2. Write short answer :
1) Explain the significance of consumer behaviour.

2) Explain the qualities of successful salesman.

3. Write short notes :
1) Grievance redressal machinery.
2) Explain the factors affecting consumer behaviour.
4. Define the term “marketing research”. Explain in brief the steps involved in process
of marketing research.
OR
Define the term “ Distribution channels”. State the factors affecting choice of
distribution channels.
5. Explain financial and non financial motivation to sales man.
OR

Write in detail on sales promotional methods on market level.

10

10

10

10
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TS TUTaR
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Seat
No.
B.Com. (Part — 1) (Semester - II) Examination, 2014
KANNADA (New)
Modern Prose and Poetry — Il
Day and Date : Wednesday, 2-4-2014 Max. Marks : 50

Time : 11.00 a.m. to 1.00 p.m.

0. ROCIRT YVZTNTRY L0 LB : 10
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Seat
No.
B.Com. (Part — I) (Semester — Il) Examination, 2014
INSURANCE (New)
Day and Date : Thursday, 3-4-2014 Total Marks : 50

Time: 11.00 a.m. to0 1.00 p.m.
Instructions: 1) All questions arecompulsory.
2) Figures to the right indicate full marks.
1. Choose the correct alternative and rewrite the sentences : 10

1) In Fire Insurance, when a particular property is insured with two or more
insurance companies against the same risk, then it is called as

a) Principle of insurable interest b) Principle of co-operation
c) Principle of goodfaith d) Principle of contribution
2) policy is helpful to avoid the dispute between insurer and
insured in Marine Insurance.
a) Time b) Mixed c) Valued d) Unvalued
3) According to Motor Vehicles Act 1939, every motor owners has to take
insurance.
a) Vehicle b) Third party liability
c) Goods d) Accessories

4) Crop Insurance Scheme was started by the Govt. of India in the year

a) 1947 b) 1956 c) 1985 d) 2000
5) Life Insurance Corporation of India has been established in the year

a) 1951 b) 1956 c) 1960 d) 1969
6) Constructive total loss occurs in insurance.

a) Marine b) Fire c) Life d) Motor

P.T.O.
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7) First step to taking Fire Insurance is
a) Payment of insurance premium b) To fill proposal form
c) Selection of insurance company d) Survey of property

8) Burglary insurance is important type of insurance.
a) Fire b) Marine
c) Time d) Accident

9) The head office of the General Insurance Corporation of India is situated at

a) Delhi b) Mumbai
c) Hyderabad d) Bangaluru
10) Fire Insurance provides compensation for loss due to
a) Volcano b) Accident fire
c) Productive fire d) Chemical process

2. Write short notes :
a) Characteristics of Fire Insurance
b) Cattle Insurance.
3. Write short notes :
a) Procedure of taking Marine Insurance Policy.
b) Fidelity Guarantee Insurance.
4. Answer (any one) :
a) Explain the various types of Marine Insurance Policy.
b) Explain the role and performance of LIC of India.
5. Answer (any one) :
a) Explain the procedure of settlement of Fire Insurance Claim.

b) Explain the Functions of GIC of India.

10

10

10

10
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Seat
No.
B.Com. - | (Semester — II) Examination, 2014
ECONOMIC AND COMMERCIAL GEOGRAPHY (New)
Economic Geography (Paper — Il)
Day and Date : Thursday, 3-4-2014 Max. Marks : 50

Time : 11.00 a.m. to 1.00 p.m.

Instructions: 1) All questions are compulsory.
2) Neat diagrams and maps must be drawn wherever
necessary.
3) Figures to the right indicate full marks.
4) Use of stencils is allowed.

1. Rewrite the following sentence by choosing appropriate words : 10
1) The Atlantic and Pacific oceans are connected by canal.
a) Panama b) Suez c) Keel d) Nelson
2) Marketing geography is the new branch of geography.

a) Commercial b) Urban c) Human d) Agriculture
3) Agratourist destination is located in State of India.

a) UP b) MP c) Uttaranchal d) Haryana
4) Tourismis type of trade.

a) Visible b) Invisible c) Balanced d) Active
5) country is ranks first in wheat production in the world.

a) India b) USA c) Russia d) UK
6) is an artificial port in India.

a) Chennai b) Mumbai c) Cochin d) Porbandar
7) In EEC organisation permanent countries members.

a) Nine b) Ten c) Eleven d) Thirteen

P.T.O.
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8) type of transport is costlier one.
a) Rail b) Water c) Air d) Road
9) The head office of UNCTAD is located in
a) Paris b) London c) New York d) Delhi
10) The farming of rain water is called farming.
a) Dry b) Humid c) Commercial  d) Mixed
2. Write a short answer : 10

i) State the characteristics of plantation farming
i) GATT.

3. Write a short answer : 10
i) Scope of commercial geography

ii) Importance of Agra tourist destination.

4. Give an account of water transport in the world. 10
OR
Explain the various factors influencing on International trade.

5. Describe the geographical conditions for the growth and area of production of
sugarcane in India. 10

OR

Explain types of tourism and the impact of physical and economic factors on
them.
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